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«23» «ntijintidpbiph» 2014p. N 265 - U

nrncnhu
bMPEUUL LUNULK 2015 (FULUYULP P3NRREPL UUUPL

NGYwlwnybind «Gpuwu pwnwpnid nbnulwu huptwlwnwywpdwt dJwuhtu» <wjwuwnmwuh
Lwupwuwbinniejwu optuph 12-pn hnnwdh 1-pu dwuhp 16-pn Ytwnny, 54-pn hnnwdh 1-hu dwup
1-pu Yybwind, 71-pn, 72-pn, 73-pn, 74-pn, «Kwjwunwuh <wupwwbinnggjwu  pnwbnwihu
hwdwlwpgh dwuhu» Cwjwunwup Cwupwwbwnniejwu optiuph 31-pn hnnywdubipnny.

Eplwt pwnuph wwquwuphti npnpmid £,
1. <wuwnwwnby
1) Gplwu pwnwph 2015 pwywuh pjnigbu’
w) GYwdnunubph gdény’ 71,870,838.3 hwq. npwd,
p) Swluubph gény’ 72,120,838.3 hwg. npwd,
g) nbdhghunp (Wwlwunipnp) 250,000.0 hwg. npwd:

2) bplwuph 2015 pwywuh pjngbh Jupswlwu b $nunwihtu Jwubiph Glwdnunubpt' puwn
duwynpdwu wnpnipubiph’ hwdwdwju N 1 hwybwsh.

3) bpuwuh 2015 pYwlwuh pnobh Jupswywu b $nunwihtu dwubiphg hwwnlwgnidubpt' puwn
pnobinwihtu dwiuutiph gnpdwnwlwu nwuwlwpgdwu' hwdwdwju N 2 hwybwsh.

4) Gpuwuh 2015 pwywuh pnwbh upswlwu b $nunwihu dwubiphg hwwnlwgnwiubipp' puwn
pnobinwihtu dwiuutiph wunbuwghwnwlwu nwuwlwpgdwu' hwdwdwju N 3 hwytywsdh.

5) bpluwuh 2015 pywlwuh pnwbh nbbhghup (Wwlywunipnp)' hwdwdwju N 4 hwybwsh.

6) Gpuwuh 2015 pYwlywuph pnwth  nbbphghnp  (Wwlwunippnh)  huwtuwynpdwt
wnpnipubpp’ hwdwdwju N 5 hwybgwsh.

7) Gplwup 2015 pYwlwuh pjnobh Jupswywu b $nunwihu dwubphg hwwnlwgnidubpp' puwn
pnobinwihtu dwiuubph gnpdwnwlwu U nunbuwghnwywu nuuwlywpgiwt' hwdwdwiu N 6
hwyt|wdh.



8) Unyu npnodwu N 6 hwybwdny hwunmwwndwsd hwwnlwgndubph Jtpdwunup' pumn
Gplwuh Jupswlwu 2powuttipp b Gplwup pwnwpwwbwnwpwuh (wnwug Gpuwuh Jupswywu
onowuubinh)' hwdwdwju N 7 hwybJwdh:

2. Gpuwu pwnwph 2015 pYwlwuh pnwth Jupswywt dwuh wywhnwnwhht $nunhg
«Uupwywu pwulh weowlygnipjwdp hpwywuwgynn pwnwpwiht Gupwlwnnigwéputiph U
pwnwph Ywniu qupgugdwu ubpnpnudwiht dpwaph (Wwunyhpwlyywsd [hwgnpnipiniuttip)»
hpwlwluwgdwu hwdwp hwwnwgut] 3,833,107.3 hwqwp npwd pngbinwhu  dwfuubph
nunbuwghnwwu nwuwlwpgdwu «Uy dwiuubip» hnnjwony:

3. fanywwpb Gplwup pwnwpwwbnhtu uwhdwub] unyu npnadwdp hwunwnyws.

1) wnnnoniejwu wwwhnjwgpniejwu dpwgpny twhuwwnbujwd dwnwjnipniuutiph gwuyp,
owhwnniutiph npnadwt swihnpnohsubipp W hpwlwuwgdwu Ywnap,

2) pjnwbitnwihu  dwfuubph  wuwmbuwghnwlwt nwuwlwpgdwu npwdwunphubph L
untpupnhwubph hwdwp twjuwnbudwsd hnndwdubpny hwwnywgnwubph  Jbepdwunwp' puwn
unwgnn Juguwybpwnieiniuutiph:

4. Unyu npnondu nidh dbe £ dinund wwounmnuwwu hpwwwpwldwu opdwt hweonpnnn
tnwuubipnpn opp:

ereduth LUNULUMES S. uurursuu



Lwybywé 1
Gplwl punwph wywgubnt

2014 pqwywh neyunkdiptph 23-h

N 265-U npnpdwl

GPEUULP 2015 BYULULP A3NFREL YUNM2ULUL B4 SNLNUSHL UUUGNh BUUUNESLEND CUS 264UYNPUUL UNR3NENLENH
(hwquwp npwdltipny)

Snnh NN

Glwinwunbuwylbtpp

Fnnwdh
MM

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

4

5

6

1000

ouauUGELL GyuunEsueN

71,870,838.3

71,766,701.9

3,050,470.0

wyn pynLd’

1100

1. UPYGN 64 SNHPREN

7100

14,182,961.1

14,182,961.1

wyn pynid’

1110

1.1 Qnipwjhl hwpybp wbwpd gniphg

7131

4,813,050.5

4,813,050.5

wyn pynLd’

1111

Anipwhwny hwdwbpbtnh Juwpswywb tnwpwéplbnnid
gunbynn 26GpLnh L 2hbnipyntbbGph hwdwnp

4,166,684.0

4,166,684.0

1112

<£nnh hwpy hwdw)opbbph yuwnpswywl wnwpwéplbpnid
g bynn hnnh hwdwn

646,366.5

646,366.5

1120

1.2 Qnpwyhl hwnytp wyy gniyphg

7136

5,635,223.6

5,635,223.6

wyn pynid’

1121

Qnjpwhwny thnfuwnpwdiheongltph hwdwn

5,535,223.6

5,535,223.6

1130

1.3 Uwypwbplbph oquwgnpdiwb Yuy
gnpénLOGnLpjwO hpwywlwgdwa patjjuinyntpjwl
JAwnpobp

7145

3,459,687.0

3,459,687.0

wyn pynid’

1131

Sbnwywb wnnippbn

71452

3,459,687.0

3,459,687.0

wyn pynLd’

1132

w) <wiwybph tnwpwdpntd Gnp 26GptLph, 2hGnieyntbbbph
(Obpwrjwy ng hhoOwywh) 2hGwpwnnipjwb (nEnwnndwb)
pnyinynLpjwb hwdwnp

142,875.0

142,875.0

wyn pynid’

1133

wuw) <hdbwywl 2hbnegyntGbbph hwdwp

142,875.0

142,875.0

1135

p)<wiw)ph Jwpswywb tnwnwépnid p6Gptph, 2hGneyniblbnh,
pwnuwpwhbwywb wy optyinlbEph ybpwywrenigdw,
nitdbnwgiw(, yepwlwbgbiwl, wpnhwywbwgiwb
wiiuwinwbplbn (pwgwentpjwdp £<£ onkhunn.

uwhiwOywd 2hbwnwpnipjwb pnyyiny. sywhwboynn
nGwpbnh) Yuuwnwnpbine pnyny. hwdwnp

13,805.0

13,805.0

1136

q) <wiwybaph qupswywb tnwpwdépnid EGptGph,
2hGnipntbGbEnh, pwnwpwhbwywb wy opjEyuinbEph pwlndiwl
pnyinynLpjwb hwiwnp

11,100.0

11,100.0

1137

) <wiwybph nwnwépnid ngtithg fudhspatiph b (Yuwd)
Sfuwunuinh wpunwnpwbph yw&wrph, huy hwpwihb utGnh
opjyuinbtipnid’ ngtihg fudhspltinh L (Yuwd) sfuwfununh
wnuwnnwbph hpwgdwb pnypundnejwb hwdwn

360,461.0

360,461.0

1138

&) <wdwjbph nwpwdépntld pwgopjw Jwiwrp Yuwqiwytpwbint
pnyinynLpjwb hwdwnp

87,915.0

87,915.0




Snnh NN

Glwinwunbuwylbtpp

Fnnwdh
MM

LOunwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

2

1139

q) <wiwybph twpwdépnid htnniy ywebihph, ubnijwd
pOwywl Ywd henniyugdwé wypwiht qugtph dwlpwdéwfu
wrlunph yEntbpnud henniy Juetihph L (wd) ubndwé
pOwywl Ywd henniywgdwé wypwiht qugtnh b
wnbubGhywywb henniybbph Jwdwreph pnypundntgjub hwdwn

77,350.0

77,350.0

1140

k) <wiwylph tnwpwépnid welunph, hwpwihG uGGnh,
quipswaph, 2whniiny fuwntiph L yhgwywiuwntiph
Ywqguiwybpwdwb opjtyuinbbpp, pwnbhpltbpp (uwnlOwbbpp),
fuwnwuwunObpp dwdp 24.00-hg htuinn wfuwwntnt pniyuinynegjub
hwdwp

106,988.0

106,988.0

1141

p) <wiwpwnuwpwiht Yuwanbotnpht hwiwwwwnwuuwb Splwb
pwnuwph L pwnwpwiht hwdwjGpubph nwpwépnid pGunwbh
yOnwahObp wwhbnt pnypundnipjwb hwdwn

2,250.0

2,250.0

1142

R) <wdwjbph nwnwdpntd wnpunwpht gnywagn nGnwnnbint
pnyinynLpjwb hwdwnp

1,593,000.0

1,593,000.0

1143

d) <wiwjlph wpluhdyhg thwuwnwpenpbnh wwwnskotp L
Unybonhbwybbp tnpwdwnpbint hwdwn

3,272.0

3,272.0

1144

dw) <wdwjbph nnwnwdépntl (pwgwentpjwip pwnwhb
hwdw)bpbtnh) dwpnwuwn tnwpunt (pwgwentRjwdp
Gpeninwihbt tnwpuhbbph) swrewjnipintt hpwywbwgbbint
pnyinynLpjwb hwiwnp

1,390.0

1,390.0

1145

dp) Bwlywndtp tGwnwnbtphg Wwwnpwuwnywd hpbph
Jwlpwéwfu weniwdwrph pnyiunyntpjub hwdwn

52,500.0

52,500.0

1146

dq) Uuinnyuwywbwuwntnh hwdwn

920,000.0

920,000.0

1147

dn) <wdwylph nwpwdpnLd ginbynn fuwbnipbbpnLy,
Upwwybbpned inbubhywywl htnniyabph ywiwreph
pnyinynLpjwb hwdwnp

21,290.0

21,290.0

1148

dt) <wiwylph tnwpwépntd hwinwyht uGbnh Yuqiwytpwdwo
L hpwgdwl pnypuinynipjwb hwdwn

64,491.0

64,491.0

1149

dq) <wjwunwbh <wipwwbwnnipjwa hwiwaplbph
wOdJwbnuibbpp $hpdwhto waywanidbtpnid ogunnwgnpsétint
pNLjjwwnyntpjwl hwdwp

1,000.0

1,000.0

1150

1.4 UypwbOplbph dwwnwywpwpniihg b
SwrwnLpjntGGEph dwwnigniihg w)jp wwpuwnhp
JAwnpobp

7146

375,000.0

375,000.0

wyn pynd’

1151

Lwdwylph pneob y&wnynn wtunwywb innipptp

375,000.0

375,000.0

wyn pynLd’

1152

w) Rwnwpwghwywb Ywgntpjwb wywnbp gnwbdgbint, npwg
Gwuhb pwnwpwghltnphG Ynyawyh Jyuwywywoatn,
pwnwpwghwywl Yugnipjwl wywnbpnid juwnwnywé
gnpweniibbnnLd thnthnfunieyntGbtn, (pwgnibtp, nunnnedben
Jwunwntint L yepwywbgbiwb uwwygntpjwdp
Jywywywbabn vnwint hwdwn

75,000.0

75,000.0

1153

Ununwpuwnpwywb gpwukywybtph Ynndhg Gnuinwpwywl
SwrwjnLpntb06n Yuwnwntint, Gnuinwpwywb Ywpgny
Jwybpwgywé thwuwnwpenpbph Ynybhophbtwyatn wnwint, pywsé
dwndhbaOtph Yynnihg gnpéwnpibph Gwfuwgsétn L nhinuiabp
Juqut|nt, thwunwpenp. wwundko. hwabine L npwbghg
pwnywép. tnwint hwdwn

300,000.0

300,000.0
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MM

LOunwikOp

wyn pynd’
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1200

2. MUgsSnuLUYUL NruvuUzLNNLLEN

7300

22,910,127.7

22,815,991.3

94,136.4

wyn pynLd’

1250

2.5 0Gpwghy GGpphG wwunnGwywh
npwiw0nphbbp’ unwgywd Jurwywndw wy
dwywpnuwyltnhg

7331

22,815,991.3

22,815,991.3

wyn pynid’

1251

w) MEwnwywb pntebhg Phlwbuwywl hwiwhwnppebgiwl
ulygpnibpny tnnpwdwnnynn nnunnwghwlbp

12,268,897.7

12,268,897.7

1254

p) MGunwywl pniobihg tnpuwdwnnynn wyp nnunwghwtn

2,000,000.0

2,000,000.0

wyn pynd’

1256

PR) wj| nnunwghwtn

2,000,000.0

2,000,000.0

1257

) MEnwywb pintebhg tnpwiwnnynn GuwuinwywyhG
hwunyuwgniiltip (untpytlghwltn)

8,547,093.6

8,547,093.6

1260

2.6 Ywwhwwy GEpph0 ywwnGwyw
npwiwy0nphbbp’ unwgywd Jurwywndw wy
dwywpnuwyltnhg

7332

94,136.4

94,136.4

wyn pynLd’

1261

w) NEnwywh pintebhg Yuwhwwy dwiuukph
$Shlwlbuwynnpiwb Gwwwnwywiht hwwnywgnedGbn
(untpyblghwltn)

94,136.4

94,136.4

1300

3. U3L suuuntsuer

7400

34,777,749.5

34,767,749.5

2,956,333.6

wyn pynLd’

1320

3.2 twhwpwdhGlbp

7412

149,980.0

149,980.0

wyn pynLd’

1321

Pwdtbwnhpwywh pbytpnLentbbEpnLd hwdwGph
Jwulbwygntpjwb nhiwg hwdwjGph pintob Yuwnwpynn
JwuhwOnuibbp (Qwhwpwdhblbn)

149,980.0

149,980.0

1330

3.3 @nyph qundwywinipjniihg Gwdninbbp

7415

1,032,756.0

1,032,756.0

wyn pynLd’

1331

Lwiwbph ubthwywbnipntt hwiwnynn hnnbph
JwpdwyAwnlbp

597,884.0

597,884.0

1333

<wiwyOph Junswywb tnwpwépntd gunbynn weunnegjw L
hwdwjbph ubthwywbntpjwlp ywwnywbnn hnnwdwubph
Yuwrenigwwwwniwd hpwyniGph nhiwg qubéynn
JwpdwyAwnlbp

55,000.0

55,000.0

1334

W gnyph upéwlwintpintbhg dniinpkp

379,872.0

379,872.0

1340

3.4 Lwiwjbph pinebh GYwantnGbp wwpwbpotph
Gwwnwywpwpniiohg L wewnipjntGabph
dwuwnnigniiihg

7421

29,092,799.1

29,092,799.1

wyn pynLd’

1342

MGuinntpjwb Ynndhg unnbnwywb hoplwywrwywndwb
Jwnuhb06npht ywwnyhpwydwé |hwgnpneentbbtph
hpwywbwgiwb swiuutph $howbuwynpiwl hwdwnp
wtwnwywb pnipbihg uinwgynn shonglbp

28,939,799.1

28,939,799.1




Snnh NN

Glwinwunbuwylbtpp

Fnnwdh
MM

LOunwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

2

4

5

1343

OntOpny uwhdwOywé nbwpbpnid hwdwbpwhl
hhibwpybabph Ynnihg wrwig nbnwywb wnipph qubdiwl
dwunnigynn swrwjnipntGbbph uwd Yuwwnwpynn
gnpénnnipinLbbtph nhdwg unwgdnn (qwbdynn) wy J&wnGbp

153,000.0

153,000.0

1350

3.5 dwpswywb qubéniibkn

7422

3,965,514.4

3,965,514.4

wyn pynd’

1351

Stnwywb y&wnokn

3,655,514.4

3,655,514.4

1352

Lwdiwylph ywpswlwb tnwpwdépntd hpbwywd Ywenigwé
26GpEPh, 2hGnLpynLbGEph ophbwlwlwgdwb hwdwn y&wnbkn

310,000.0

310,000.0

1360

3.6 Unitwnptip wnniydtinhg, wnniquGplbphg

7431

298,900.0

298,900.0

wyn pynLd’

1361

Ywnswywl hpwywfuwiuunnidbbph hwdwp inbnuywb
hOplwywrwywndwb dwpdhabtph Ynnihg
wwwnwufuwbwwinynipjwb dhengbtnph Yhpwreniihg Gywdniuinbbn

298,900.0

298,900.0

1380

3.8 Ywwhwuwy ng Ywunnbwywb npwiwbnphbbn

7442

10,000.0

10,000.0

wyn pynd’

1381

Ldhpwuwuny,dwrwbg.hpwy.dhghy.wbé.l
Juqiwy.hwdw)bp,ytng.top.pniobuin.hhdbwpy.nbophl.wbgwd
gnijph (hhibwywb dhong wd ng Ojntpwywb wywnhy
shwlnhuwgnn) hpwg.L npwd.dhong.ywwhuwnwidwfuubph
$hlwlu.hwd.hwdwybph pntob unwgywé dniuinpbp®
wnpwdwn.wpunwphl wnpynip.

10,000.0

10,000.0

1390

3.9 Uj| GYwuinuinltip

7451

227,800.0

227,800.0

2,946,333.6

wyn pynLd’

1392

Ywpswywlb pniobih wwhniunwihG $nlnhg $nbnwihb piniob
Ywuwnwnynn hwunlwgniibtphg dninpbn

2,946,333.6

1393

OntOpny L hpwywyw wy| wynbpny uwhdwOywé™ hwdw)bph
pintetih Untuinpwgniwlb Gopwyw wy; GYwdntinbbn

227,800.0

227,800.0




{wybyws 2
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl

GNE4ULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntULENe” cUS A3NFRESU3hUL SUluUENh
anPouNnuuuL AUUUY“UNQUUL

(hwquwp npwdbtipny)

9| a wyn pynd’
%Z % I 5 Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb QlnwokGp
bt CEL E Eﬂ pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswywb pniet | $nlnwiha pintek
1 2 3|4 5 6 7 8
ouuUGELE SulueN 72,120,838.3 71,766,701.9 3,300,470.0
2100 | 01 |0 | O puaLuLnNEN pPLNE3EBh <ULNU3LL 8,600,865.3 8,080,564.5 520,300.8
ounusnt@3nruutr

wyn pynd’

2110 | 01 | 1 | 0 |Op&aunhp L gnpdwnhp dwpohGGbp, wbwnwlywa 8,181,444.6 7,876,943.8 304,500.8
Yupwywpnid, phlGwbuwluwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipiniGG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111 | 01 | 1 | 1 |OpblGunhp L gnpdwnhp dwpdhaGbn, wewnwywo 8,181,444.6 7,876,943.8 304,500.8
Ywrwdwnnid

2130 | 01 | 3 | O |Lanhwlnip plGniyph SwrwynipinGGEn 72,050.7 72,050.7 -
nphg’

2131 | 01 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 72,050.7 72,050.7 -
SwrwjnLpnLbbGn

2150 | 01 | 5 | O |Lanhwlnip plGnyph hwipuyhl SwewyntpintGGERH 215,800.0 - 215,800.0
qony hbwnwgnunwyw L Gufuwgduyhl
wpfuwnwliplbn
nphg’

2151 | 01 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnipjntGbEph gény 215,800.0 - 215,800.0
hGwnwgnunwywl L Gwuwgswh0 wpluwwnwbplbn

2160 | 01 | 6 | O |Lanhwlnip plGnyph hwlpuyghl Sweuynipint GGG 131,5670.0 131,5670.0 -
(wyy nwubpht suyuintuitnn)
nphg’

2161 | 01 | 6 | 1 |CGnhwGnip pOnyph hwOpwihb dwrwjnipnLGOGN (wy) 131,570.0 131,570.0 -
nuwubphb swywunywbnn)

2200 02|00 nucsMULNHE3NkL 37,070.0 37,070.0 -
wyn pynid’

2220 | 02 | 2 | O |RPwnuwpuwghwluwl ww)ywnwwbnipintG 17,000.0 17,000.0 -
nphg’

2221 | 02 | 2 | 1 |Pwnwpwghwywl wwunwwbntgntl 17,000.0 17,000.0 -

2250 | 02 | 5 | O |Nwpwwuwlnipnt G (wyy nuubphl swwuwnlwGnn) 20,070.0 20,070.0 -
nphg’

2251 | 02 | 5 | 1 |Mwaunwwntpntb (wy| nwubphl sywwnywbnn) 20,070.0 20,070.0 -




wyn pynd’

? = % »%L 3 Pntpbuinuhb dwiuutph gnpéwrwywl nwuwywngiwb QlnwokGp
wZ| 3 |§5& pwdhbotph, fudetiph L nwutph waywinudGtnp Jwnswywh pneet | $nlnwyhG piniet
1 2 3|4 5 6 7 8

2400 |04 |0 | O SustuuuyuuL duruesMnt@3NtuLEN 7,870,307.6 13,061,143.6 (5,190,836.0)
wyn pynLd’

2420 | 04 | 2 | O | Ynunuuwnbuwnbunipnt G, wawnweuyhl 171,453.4 - 171,453.4
wnbwnbGunipinil, d4Gnpunipnta L npunpnnipintG
nphg’

2424 | 04 | 2 | 4 |Npengnty 171,453.4 - 171,453.4

2450 | 04 | 5 | 0 | Spwhuwnpuwn 13,137,352.8 11,903,264.1 1,234,088.7
nphg’

2451 | 04 | 5| 1 |Bwlwwwnhwh0 tnpwluwnnun 6,553,853.9 5,418,157.3 1,135,696.6

2455 | 04 | 5| 5 [lunnnywywwnuwihb L wy; tnpwbuwnpun 6,583,498.9 6,485,106.8 98,392.1

2470 | 04 | 7 | O | Uy phwquywrllp 15,000.0 15,000.0 -
nphg’

2473 | 04 | 7 | 3 |2pnuwppontpintl 15,000.0 15,000.0 -

2490 | 04 | 9 | 0 | SGwnbuwlwl hwpwpbpnipin0GEn (wy nwubpha (5,453,498.6) 1,142,879.5 (6,596,378.1)
swunnljulinig)
nphg’

2491 | 04 | 9 | 1 |SGnGuwywh hwpwptnnignLGGep (wy nwubphG (5,453,498.6) 1,142,879.5 (6,596,378.1)
swwuinywlnn)

2500 |05 |0 |0 ¢cr2uUyU Uuh2udusrh aucsaULNHE3NkL 7,512,209.2 7,318,072.8 194,136.4
wyn pynid’

2510 | 05 | 1 | O |Unpwhwlnd 5,334,208.8 5,334,208.8 -
nphg’

2511 | 05 | 1 | 1 |Unpwhw(ntd 5,334,208.8 5,334,208.8 -

2530 | 05 | 3 | 0 |Cpowlw dhowduyph wnwnnundwl nbd wwypwn 38,683.0 38,683.0 -
nphg’

2531 | 05 | 3 | 1 |Onh wnuinunniwl n&S wwypwnp 38,683.0 38,683.0 -

2560 | 05 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 2,139,317.4 1,945,181.0 194,136.4
nwubphl swuwnluwbnn)
nphg’

2561 | 05 | 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 2,139,317.4 1,945,181.0 194,136.4
swwuinywlnn)

2600 | 06 | 0|0 pLUYUNULUSHU Thuururnk@3nku 64 11,870,507.1 6,733,510.2 5,136,996.9

ynunkruul cunusnt@E3ntuueN

wyn pynid’

2610 | 06 | 1 | 0 | PGwlywpwluyhl ;hGwpwpnipintG 3,635,845.6 22,5144 3,613,331.2
nphg’

2611 | 06 | 1 | 1 |ROwywpwOwihb 2hGwpwpneentb 3,635,845.6 22,514.4 3,613,331.2




wyn pynd’

? = % »%L 3 Pntpbuinuhb dwiuutph gnpéwrwywl nwuwywngiwb QlnwokGp
bt CEL E = pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswywb pniet | $nlnwiha pintek
1 2 3|4 5 6 7 8

2630 | 06 | 3 | 0 | 2pwdwwnwlwpwpmd 3,049,011.0 3,049,011.0 -
nphg’

2631 | 06 | 3 | 1 |2pwiwwnwywnwnntd 3,049,011.0 3,049,011.0 -

2640 | 06 | 4 | O |@nnngltiph (ntuwynpnid 2,170,973.0 2,123,973.0 47,000.0
nphg’

2641 | 06 | 4 | 1 |®Onnnglbph |ntuwynnpnid 2,170,973.0 2,123,973.0 47,000.0

2650 | 06 | 5 | 0 |PUwluwpwluyhl hGwpwpnipyuwl b YndniGuy 8,000.0 - 8,000.0
SwewyntpynLGGEpH gény hbunwgnunwlywa b
Gwfuwqduyhl wpfuwnwlplbn
nphg’

2651 | 06 | 5 | 1 |ROwywnwlwihb 2hbwpwpniywb L Yndntbuyg 8,000.0 - 8,000.0
SwrwjntpjntbbEph gdny hbunnwgnunwywb L Gwjuwgswihb
wfuwunwbpltn

2660 | 06 | 6 | 0 |PUwluwpwluyhl hGwpwpnipyuwl b YndniGuy 3,006,677.5 1,538,011.8 1,468,665.7
SwewynipyntGGEn (wy nwubpha swwnluwlnn)
nphg’

2661 | 06 | 6 | 1 |ROwywnwlbwihb 2hbwpwpniywb L Yndntbuwyg 3,006,677.5 1,538,011.8 1,468,665.7
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)

2700 | 07 |0 | O unnnaumunt@sntu 108,527.0 15,500.0 93,027.0
wyn pynLd’

2710 | 07 | 1 | 0 | P quwlywl wwypwlplbp, uwppbp L 71,500.0 - 71,500.0
vwppwynpnidlabp
nphg’

2711 | 07 | 1 | 1 |NGnwgnpdwlwb wwpwbplbp 71,500.0 - 71,500.0

2760 | 07 | 6 | O |Urnnowwwhnipynib (wy; nwubphl swuwinlywlng) 37,027.0 15,500.0 21,527.0
nphg’

2761 | 07 | 6 | 1 |Upnnowwwhwywb hwpwyhg dwrwjnipntGbtn L 6pwagnkp 37,027.0 15,500.0 21,527.0

2800 | 08 |0 |0 <Uuahus, utuunk3me 64 urnu 3,829,029.3 2,721,929.3 1,107,100.0
wyn pynLd’

2810 | 08 | 1 | 0 |<wlquunh L uwynpwnf SweuynipntGaGEN 844,799.9 434,799.9 410,000.0
nphg’

2811 | 08 | 1| 1 |<wlOquunh L uwnpuinh Swrwjnieintbbtn 844,799.9 434,799.9 410,000.0

2820 | 08 | 2 | O |Vpwynipuyhl dwrwynipiniGaGEn 2,922,404.4 2,225,304.4 697,100.0
nphg’

2821 | 08 | 2 | 1 |Qpwnwnwadtn 696,787.0 446,787.0 250,000.0

2822 | 08 | 2 | 2 |(Bwlqwpwbbbn L gnigwupwhGBn 365,227.7 265,227.7 100,000.0

2823 | 08 | 2 | 3 |Uwyniph inbkn, wynidpbtn, YebwnpnbGep 188,009.1 90,909.1 97,100.0




wyn pynd’

? = % »%L 3 Pntpbuinuhb dwiuutph gnpéwrwywl nwuwywngiwb QlnwokGp
bt CEL E = pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswywb pniet | $nlnwiha pintek
1 2 3|4 5 6 7 8
2824 | 08 | 2 | 4 |Uy vwynipwihb YuaqiwybpwnipyntGbbn 1,188,346.3 938,346.3 250,000.0
2825 | 08 | 2 | 5 |Updbuwn 458,334.3 458,334.3 -
2827 | 08 | 2 | 7 |<nipwpdwbGEph L dwynipwihb wndtplbph 25,700.0 25,700.0 -
ybpwywbglnid L wwhwwnid
2830 | 08 | 3 | 0 |Ntwnhn L hbpniuwnwhwnnpnntdGbph 36,000.0 36,000.0 -
hGpwndwydwa L hpwwnwpwlswlwa
SwpwynLpynLGGEN
nphg’
2831 | 08 | 3 | 1 |<Grniunnwrwnhnhwnnpnniibbn 36,000.0 36,000.0 -
2840 | 08 | 4 | 0 |YpnGwlwl L hwuwpwluwlwl wy 25,825.0 25,825.0 -
SwpwynLpynLGGEN
nphg’
2843 | 08 | 4 | 3 |UpnGwywl L hwuwnpwywywb wy SwewnipynLbabn 25,825.0 25,825.0 -
2900 |09 |0 |0 urenke3Ntu 26,590,262.4 25,158,517.5 1,431,744.9
wyn pynLd’
2910 | 09 | 1 | O | bwfuwnwpnguwlwl L tnwuppwlwa pGnhwanip 14,675,501.4 14,475,501.4 200,000.0
Uppnipyntl
nphg’
2911 | 09 | 1 | 1 |Lwuwnwpngwywl Ynpneentb 7,768,898.6 7,568,898.6 200,000.0
2912 | 09 | 1| 2 |Swppwywb pGnhwbnip Yppnipntl 6,906,602.8 6,906,602.8 -
2920 | 09 | 2 | O |Uhglwlwng pGnhwlmp Yppnipina 8,146,130.6 8,146,130.6 -
nphg’
2921 | 09 | 2 | 1 |<hdGwywl phnhwbnip Ypenee)nt 7,859,634.0 7,859,634.0 -
2922 | 09 | 2 | 2 |UhoGwYywng (iphd) pOGnhwGnip Yppnipintl 286,496.6 286,496.6 -
2950 | 09 | 5 | 0 |Luwn bwluwpnuwlGGph snwuwlwpgynn Yppnipint 3,159,576.7 2,477,831.8 681,744.9
nphg’
2951 | 09 | 5 | 1 |Upunnwnwpngwywl nwuunhwpwyntpntl 3,159,576.7 2,477,831.8 681,744.9
2960 | 09 | 6 | O |Uppnipwlp wpwdwnpynn odwlnwy 609,053.7 59,053.7 550,000.0
SwpwyntpynLGGEN
nphg’
2961 | 09 | 6 | 1 |YUppnipjwlp npwiwnnynn odwlnwy SwrwjnientGbbn 609,053.7 59,053.7 550,000.0
3000|1000 unshuLuuwuuv aucsaULNt@3NtL 1,739,444 4 1,739,444 .4 -
wyn pynid’
3070 | 10 | 7 | O |Unghwjwlwl hunnmy wpuwnnbGnipintGGE (wyy 603,781.3 603,781.3 -
nwubphl swuwnluwbnn)
nphg’
3071 | 10 | 7 | 1 |Unghwiwywl hwuwnnty wpunnGnigyntbGep (wy) nwubphG 603,781.3 603,781.3 -

swwuinywlnn)
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wyn pynd’

= = % -%L 5 Pntpbuinuhb dwiuutph gnpéwrwywl nwuwywngiwb QlnwokGp

=

bt CEL E Eﬂ pwdhGOtnh, fudptinh L nwutinh woqwonidbbpp Junswywb pniet | $nlnwiha pintek

1 2 3|4 5 6 7

3090 | 10 | 9 | O |Unghwjwluwl wuwpwnwwGnipymb (wy nwubnhla 1,135,663.1 1,135,663.1 -
swunnljulinig)
nphg’

3091 | 10 | 9 | 1 |Unghwjwywl wwawnwwbnipntl (wy nwubph 302,359.1 302,359.1 -
swwuinywlnn)

3092 | 10 | 9 | 2 |Unghwjwywl wwpwnwwbntpjwlp tnpwidwnnynn odwlnwy 833,304.0 833,304.0 -
SwrwjnLpntb06n (wy nwubphb swwunlwlnn)

3100 |11 /0|0 <hULuUy4uUuL pPUGhLLENPL 27UUYNN 3,962,616.0 6,900,949.6 8,000.0

nu<nkUsSU3hL dnuacr

wyn pynLd’

3110 | 11 | 1 | 0 | << qurewdwpmpywl b hwduyGplbph 3,962,616.0 6,900,949.6 8,000.0
wwhniuwnuyhl pnhn
nphg’

3112 | 11 | 1| 2 |£{< hwiwapObph wywhniunwihG $nln 3,962,616.0 6,900,949.6 8,000.0
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{wybywé N 3
Gplwl punwph wywgubnt

2014 pqwywh neynkdiptph 23-h

N 265-U npnpdwl

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntULENe” cUS A3NFRESU3hL SUluUENh
susStuuahsuyUuL tuvUL“UNauUuL

(hwquwn npwailtpny)

= = Pntpbuinuhb dwiuutph wnbunbuwghunwywb NN DOnwakap wyry pyntd
UEJ = nwuwywngiwb hnnywébbnh wadwbnidbbnp Jupswyw pniet | pnlnugh pniok
1 2 3 4 5 6

4000 |OULNUUGLL TDUlUGP 72,120,838.3 71,766,701.9 3,300,470.0
wyn pynLd’

4050 |U. oLBUSHY TUlUUGH X 68,828,368.3 71,766,701.9 8,000.0
wyn pynLd’

4100 |1.1 UCluUSULLh YUr2USQrNHE3NFL X 6,317,059.1 6,317,059.1 -
wyn pynid’

4110 | 2°UUNY daUurdn uchusuduraer 64 X 6,317,059.1 6,317,059.1 -
udeLudauruver
nphg’

4111 | - UzjuwunnnObph wuwwnwywnébn L hwybwygwnpatn 4111 5,558,520.6 5,558,520.6 -

4112 | - Mwpglwwnpnidbbn, npwiwywb fjupwfuniuntdGbp bW hwunney 4112 758,538.5 758,538.5 -
JAwnbbp

4200 |1.20UnusnkE@3NFLLGNh 64 UMPULRLENh X 29,949,976.7 29,949,976.7 -
QBNLAGMPNIU
wyn pynLd’

4210 | curntuuwuuwus oukluer X 7,685,637.8 7,685,637.8 -
nphg’

4212 |- tUbpgbwnhy SwewjnientGObn 4212 270,016.7 270,016.7 -

4213 |- UnintOw| SwrwjnipntbGbn 4213 6,944,465.8 6,944,465.8 -

4214 |- Ywwh Swrwjnipntbbbn 4214 200,982.2 200,982.2 -

4215 |- Uywhndwgpwlwb dwfuubn 4215 163,186.3 163,186.3 -

4216 |- Qnuyph L uwppwynpniibbph Jupdwywynipntb 4216 106,986.8 106,986.8 -

4220 | QNNPONFINFULEN P B4 ¢rRUQU3NHE3NFLLENP X 66,348.0 66,348.0 -
ouruenN
nphg’

4221 |- Ubknphl gnpéninnidbtn 4221 48.0 48.0 -

4222 | - UpinnwuwhdwOjwb gnpéninnuilbph gény dwituubn 4222 66,300.0 66,300.0 -

4230 | MU3UULUGNU3LU U3L OUNU3NHB3NFLULENh 26N X 16,428,587 .1 16,428,587 .1 -
RrEPNU
nphg’

4231 |- dwpswywl swrwjnipntbbbn 4231 3,409.9 3,409.9 -

4232 |- <wiwywpgswihb swrwynipintbbbn 4232 36,954.0 36,954.0 -

4233 | - Uzjuwunwywqih dwubwghinwywl qungugdwb 4233 10,010.0 10,010.0 -

SwrwjnLpnLbbEn
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wyn pynd’

t= Pntpbuinuhb dwiuutph wnbunbuwghunwywb
c = NN LOnwako
= nwuwywnqdwa hnnywsbtph wiywinedbenp L Juinswyw0 pnegt | $nlnwyhG pnugt
1 2 3 4 5 6
4234 | - Skntywwnywywb swrwnipntblbn 4234 61,033.1 61,033.1
4235 |- Ywrwywpswywb swrwjnipjntbbbn 4235 10,000.0 10,000.0
4237 |- LbpYwjwgnigswywb dwiuubp 4237 146,163.9 146,163.9
4238 |- LOnhwGnip paniyph wy SwewntpntbGen 4239 16,161,016.2 16,161,016.2
4240 | U3L vuuLughsSuwUuL ounu3nNHez3Ntuuerh 26Ne X 81,644.9 81,644.9
RGPV
nphg’
4241 | - Uwulbwghunwywl Swrwjnipintbbtn 4241 81,644.9 81,644.9
4250 | LULBUSHYL LNNrNANtU GU MUSTUUNIY (GwruynipintGGbn X 5,081,544.7 5,081,544.7
L Gynupln)
nphg’
4251 |- CkOpbph L Ywrnyglbbph pbpwghy Gnpngnid b wywhwwbned 4251 4,805,265.0 4,805,265.0
4252 |- UbptOwObph L uwppwynpniilbph pbpwghy Gnpngnid L 4252 276,279.7 276,279.7
wwhwwntd
4260 | L3NHBEN X 606,214.2 606,214.2
nphg’
4261 |- Qpuubljuyuwihb Ojneetn L hwgniuwn 4261 87,353.5 87,353.5
4264 |- Spwluwnpuwh Gnipbp 4264 265,021.8 265,021.8
4267 |- UtOgwnwhG L hwbpwihG uGGnh Gnipbp 4267 25,247.0 25,247.0
4268 |- <wunnty Gwywwnwywhl wy Ginuebn 4269 228,591.9 228,591.9
4400 |1.4 UntRUhNHULGN X 15,080,523.0 15,080,523.0
wyn pynid’
4410 | UNFRUPIPULEN NESULUL (KUUUSURUSHU) X 14,930,123.0 14,930,123.0
wuauuuerINHE3NFLLENrPL
nphg’
4411 | - UntpuhnhwObp ng Showluwywt wbinwywb (hwdwybpwh) 4511 14,920,403.0 14,920,403.0
Juaqiwybpwnipyntbatnhl
4412 |- Unipuhnhwlbn $hlwbuwywl wtnwywh (hwdwGpuyhh) 4512 9,720.0 9,720.0
Juaqiwybpwnipyntbatnhl
4420 | UNFRULIPULEN N2 ME6SULUL (N2 <UUU3LRUSHL) X 150,400.0 150,400.0
wuauuuerINHE3NFLLENrPL
nphg’
4421 |- UnipuhnhwGbn ng weunwywa (ng hwdwGpuwyh) ng 4521 150,400.0 150,400.0
$hlwluwywb Yugtwytnpwnipntbbbph
4500 |1.5 npuvucunrLLen X 1,420,750.1 1,420,750.1
wyn pynLd’
4530 | LUBUSHY INPUUUCTLNNLLEN N6SULUL <USHUDP U3L X 1,420,750.1 1,420,750.1
vuwuriuyuverhru
nphg’
4531 |- LOpwghy npwiwzb0nphObp wEwnwywb L hwdwjbpbeph ns 4637 23,591.0 23,591.0
wrbwnpwihbt YugiwybnwnipntGGepha
4532 |- LOpwghy npwiwp0nphlEp wEnwywl bW hwdw)Gpwihl 4638 66,781.6 66,781.6

wrbwnpwihbt YugiwybnwnipntGGepha
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wyn pynd’

t= Pntpbuinuhb dwiuutph wnbunbuwghunwywb
c = NN LOnwako
UEJ = nwuwywngiwb hnnywébbnh wadwbnidbbnp udsD Jupswyw pniet | pnlnugh pniok
1 2 3 4 5 6
4533 |- U) pbpwghy npwdwbnphbtkn 4639 1,330,377.5 1,330,377.5 -
4600 |1.6 UNShULUYUUL LMAUUSULEN 64 X 1,351,142.2 1,351,142.2 -
ysuuuBNTUYuLLN
wyn pynLd’
4630 | UNsShULULUL OQUNHZ3UU 1ruuuauy X 1,351,142.2 1,351,142.2 -
ursu<ussntesuur uMUUSLEN Lr3NtRAENS)
nphg’
4634 | - Uj Guwuwnlbip pnobihg 4729 1,351,142.2 1,351,142.2 -
4700 |1.7 U3L SuwnuGP X 14,708,917.2 17,647,250.8 8,000.0
wyn pynd’
4710 | LYPPUSYNHB3NFLULEN N2 LUNUYUNPULUL X 1,037,869.3 1,037,869.3 -
uuuruLwuauy) wuUUYENrINHE3NFLLENPLU
nphg’
4712 |- LyhpwunynipntGbbn wy) whnyp shGunwwbnnn, 4819 1,037,869.3 1,037,869.3 -
Juaqiwybpwnipyntbtnhl
4720 | <UryEr, MUNSUNhN dauruver 64 SNk3d6r, NrNue X 113,736.9 113,736.9 -
LunuduNruuu surrer vuwurtuyuerph uNaur8
uhPuNdnNru 6L ULU3ULS LUUSUUUR
nphg’
4723 |- Mwpunwnhp y&wnatnp 4823 113,736.9 113,736.9 -
4760 | U3L oUlbUEN X 9,594,695.0 9,594,695.0 -
nphg’
4761 |- Uy dwfuubip 4861 9,594,695.0 9,594,695.0 -
4770 | MULKNFUSUSHU UPRNSLEN X 3,962,616.0 6,900,949.6 8,000.0
nphg’
4771 |- Mwhniuinwihb dhonglbn 4891 3,962,616.0 3,954,616.0 8,000.0
4772 | wyn pyntd” hwiwjbph pintobh Junswywb dwuh wwhniuwnwihb X - 2,946,333.6 -
$nlnhg $nlnuwyht dwu Yuwunwpynn hwwnywgnidbbpp
5000 |R. N2 dhuULUUYUL UUShYLENPh QONY X 9,899,848.1 - 9,899,848.1
ounuen
wyn pynLd’
5100 |1.1 <hULUYUUL Uh2N8LEN X 9,759,848.1 - 9,759,848.1
wyn pynLd’
5110 | CEUREN 64 ChUNHB3NFLLEN X 8,682,865.0 - 8,682,865.0
nphg’
5111 |- GLGpbph L 2hGnipntbbEph dGrppbpnLd 5111 3,534,750.0 - 3,534,750.0
5112 |- CLlOpLph L 2hGnepyntGbEnph Yurenigned 5112 1,269,684.6 - 1,269,684.6
5113 |- CLlOpbph L 2hGnepjntGbEph Yuwwhwnwy yepwbnpngnid 5113 3,878,430.4 - 3,878,430.4
5120 | UGRELULEN 64 uUureudNrnruLeN X 853,183.1 - 853,183.1
nphg’
5121 |- Spwluwnpunwiht uwppwynpniibbn 5121 9,000.0 - 9,000.0
5122 |- dwpswlwb uwppwynnpniibbn 5122 138,911.0 - 138,911.0
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wyn pynd’

£l
D% % r}puJJnuLL%ZLLZL:g:)?u%u;]hr::ﬁrﬂ]éhnbun?%gquhETOHULEEQ NN Clnwatlp Jwpswyw pnuot | $nbnuwihb pniek
1 2 3 4 5 6

5123 |- W ubpbGwObp L uwppwynpniibbp 5129 705,272.1 - 705,272.1

5130 | U3l <hULULUL UPRNSLEN X 223,800.0 - 223,800.0
nphg’

5134 | - LwjuwgéwhbGwnwgnunwywb dwiuubn 5134 223,800.0 - 223,800.0

5200 |1.2 mUTUNruvGQ X 140,000.0 - 140,000.0
wyn pynLd’

5221 |- Unipbp L wwpwaquwlbn 5221 140,000.0 - 140,000.0

6000 | 4. N2 dhuULUUYUL UYShYLENh PPUSNIUNS X (6,607,378.1) - (6,607,378.1)
unkseer
wyn pynLd’

6100 |<pUlLUUUUL Uh2N8ULGNrh hPUSNIUNS UNtSeLN X (1,300,000.0) - (1,300,000.0)
wyn pynLd’

6110 | ULcUrd Qnt3Lrh hrusnNrUh8 UNtSLREN 8111 (1,300,000.0) - (1,300,000.0)

6400 |2UPSUNMPYUTD U4ShYLGNh hPUSNIUNS X (5,307,378.1) - (5,307,378.1)
Unkseer
wyn pynd’

6410 | <N1h PPUSNIHULS UNFSREN 8411 (5,307,378.1) - (5,307,378.1)
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GNGYULh 2015 @YUUULP A3NFREBN NEDN8HSL (MULUUNENAL)

{wybyws N 4

Gplwl pwnwph wywqubnt

2014 pdwlwbh nbYwntdptnh 23-h
N 265-U npndw

(hwquwn npwabtpny)

Snnh AOnwEhG wyn pyncd”
NN Lot Junswlwb pniok | $nlnwhl pniok
1 2 3 4 5
8000 | LLNUUGLBULL <UYGLNENPNL YUU NEdHNh8hSO (250,000.0) - (250,000.0)

(MUUUUNENAQ)
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{wybyws N 5
Gplwl punwph wywgubnt

2014 pqwywh neyunkdiptph 23-h

N 265-U npnpdwl

GNPG4ULN 2015 @EYUYULP RP3NFRGH NEDN8NSHh (MULUUNENTR) DhuULUUYNNUUL UNR3NENLENL

(hwquwn npwadltpny)

Snnh Pntobuinuhb dwiuutph wnbunbuwghunwywb NN DOnwakap wyry pUnLd
NN nwuwywngiwd hnnyweéltph wiywiniitbnp dunswlwl pnigt | $nGnwhl pinigt
1 2 3 4 5 6

8010 puuusLe” 250,000.0 - 250,000.0
wyn pynLd’

8100 u. u6Nehu UNR3NHNPLEN 250,000.0 - 250,000.0
wyn pynLd’

8160 |2 $ShLULUULUL UYShYLEN 250,000.0 - 250,000.0
wyn pynLd’

8161 |2.1. Pwdltwnndubp L Yuwwhuwintd wy| dwubwygnipntl (150,000.0) - (150,000.0)
wyn pynLd’

8164 | Pwdbwnndubnh Gy Guwpunwnid wy dwuGwlgnipul d6rp papnid 6213 (150,000.0) - (150,000.0)

8190 |2.3. {wdwylhph pjnigkih dhonglkph wrwnbuyqph 400,000.0 - 400,000.0
wqwuw dbwgnnpnp’
wyn pynid’

8191 |2.3.1. <wdwjbph pyniobh Jupswywb dwuh dhongltinh 9320 100,000.0 100,000.0 -
wnuwnbuygph wqwuwn dhwgnpn
nphg’

8192 | - Glpwlw t ninndwl hwdwylph pnipbh Junswlwl dwuhg Guwfunpn - - -
wnwpnid phbwbuwynpdwl Glpwlw, uwluyl shhGwbuwynpywo wrlw
wwpuwynpnipintGaEph uwnwnpdwln

8193 |- Glpwlhw F ninndwl hwdwylph piniobh dnlnuyhl dwu 100,000.0 100,000.0 -

8194 | 2.3.2. <wiwjlph pintobh $nlnuyhb dwuh dhonglbph 9330 400,000.0 - 400,000.0
nwntiuygph dbwgnpn
nphg’

8195 |- wrwlg Juipswlwl dwup dhonglbph wwpbuljgph wquin dbwgnpnhg 300,000.0 - 300,000.0
Pnlnuyhl dwu dniinpuwgndwl Gapwlw gnidwnph

8196 |- wnswhwl dwuh dhongltinh twpbulqreh wquin dhwgnpnhg pnlnuyhlb 100,000.0 - 100,000.0

Jwu dnuinpwgndwl Glpwlw gnidwnp
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{wybyws 6
Gplwl punwph wywgubnt
2014 pqwywh neywnkdiptph 23-h
N 265-U npnpdwl

GNE4ULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntULENe” cUS A3NFRESU3hUL SUluUENh
anPounuuuL b4y sustuuahsuuuL YUUULWUNQUUL

(hwquwp npwdbtipny)

al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhalbnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9
oLNUUBLE SUUBN 72,120,838.3 71,766,701.9 3,300,470.0
2100{01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 8,600,865.3 8,080,564.5 520,300.8
ounusnt@3NFLLEN

wyn pynLd’

2110|101 | 1 | 0 |OpbGunpp L gnpdwnhp dwpdhGabp, 8,181,444.6 7,876,943.8 304,500.8
wbwnwlhwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgbuwnuyhl hwpwpbpnipini GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111(01| 1 | 1 |OptOunhp L gnpéwnhn dwpdhOGtp, wsnwywl 8,181,444.6 7,876,943.8 304,500.8
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 8,032,946.1 7,876,943.8 156,002.3
- U2uwuinnnGbph w2fuwwnwywndbn L 4111 5,207,165.9 5,207,165.9 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 758,538.5 758,538.5 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 261,819.4 261,819.4 -
- UndntGwy SwrwjnipntbbBn 4213 16,304.6 16,304.6 -
- Yuwh SwrwynLpnLbaLN 4214 197,827.1 197,827.1 -
- Uywhnwgnwywb dwfuutin 4215 5,314.3 5,314.3 -
- Qnyph L uwppwynpnidbbph yupdwywintpinta 4216 90,720.0 90,720.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwiuutin 4222 66,300.0 66,300.0 -
- Ywnswywl swewjnipyntbbbn 4231 3,404.9 3,404.9 -
- {wiwywngswihb dwrewjnipynLalbn 4232 36,954.0 36,954.0 -
- Uluwwnwywqih dwubwghunwywb qupgugiwl 4233 10,010.0 10,010.0 -
SwrwjnLpnLbbGn
- SbnGYwuinywywh swewjnipyntGbbn 4234 39,423.1 39,423.1 -
- Ywrwywnswywb swewjnientbGbbn 4235 10,000.0 10,000.0 -
- Lbpyuwywgnigswlywb dwiuubp 4237 146,163.9 146,163.9 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 300,103.0 300,103.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 10,604.9 10,604.9 -
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = OGnwskG

] =pE] Guwjh( Swiuubph nGunbuwghinwywl = n o 1 b anwihG

w = 3 &= pinL9 J n q e Jwpswywa pnie Snlnwjh pjnLok

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- UbpbOwlbph L uwppwydnpnidbbph pbpwghy 4252 275,144.9 275,144.9 -
Gnpngntd b wwhwwOnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 80,417.4 80,417.4 -
- Spwluwnpuwihb Gjnipkn 4264 262,391.2 262,391.2 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojnebn 4267 24,7117 24,7117 -
- <wwnnty GwwuinwywihG wyp inptn 4269 5,850.0 5,850.0 -
- W Gwwiuinbbp pyinuobihg 4729 41,150.0 41,150.0 -
- Mwpuwnhp y&wnobn 4823 3,125.0 3,125.0 -
- Uj) Swiuutbn 4861 23,500.0 23,500.0 -
- Spwluwnpuwihb uwppwynnpniibbn 5121 9,000.0 - 9,000.0
- Jwpswywb uwppwynnpniibbn 5122 138,911.0 - 138,911.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 8,091.3 - 8,091.3
2. dwpswluwl opiyuinGlinh hhdGwGnpngnid 148,498.5 - 148,498.5
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 148,498.5 - 148,498.5

2130|101 | 3 | 0 |LanhwGnip pGnyph éwrwynipniGGEN 72,050.7 72,050.7 -
nphg’

213101 3 | 1 |Ufuwwnwlwqdh /Yunnpbph/ gény pnhwbnip pGnyeh 72,050.7 72,050.7 -
SwrwjnLpntblGn
wyn pynLd’
1. Pwnwpwghwlwl ugnipiulb wliwnbnph 72,050.7 72,050.7 -
qpuiGguwl Gwpuyni pjwl gnpdnt Ghniprul
Juwquwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- UpuwwinnnGbph w2fuwwnwywndbn L 4111 63,505.2 63,505.2 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 3,472.3 3,472.3 -
- UndntGwy SwrwjnipntbbBn 4213 126.5 126.5 -
- Ywwh SwrwjnipnLbGbn 4214 1,057.6 1,057.6 -
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 1,228.8 1,228.8 -
- Ywnswywl Swewjnipyntbbbn 4231 5.0 5.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 254.0 254.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 2,089.5 2,089.5 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 229.9 229.9 -
- Mwpuwnhp y&wnobn 4823 81.9 81.9 -

2150|101 | 5 | 0 |LanhwhGnip pGnuyph hwapuyht 215,800.0 - 215,800.0

SweuwyntpynLGGEpH gény hbunwgnunwlw b
Owfuwqduyhl wpfuwinwGplbn

nphg’

19




al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

215101 1 |CanhwGnip pGnyph hwipwihb dwrwjnienLtGGEnh 215,800.0 - 215,800.0
qony hGuinwgnuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynd’
1. Lwfuwqduyhl wipfuwnwlplbn 182,800.0 - 182,800.0
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 182,800.0 - 182,800.0
2. 6plwl pwnuwph gjfuwiydnp huwwnwlwaqdh 6,000.0 - 6,000.0
hnwlwlwgdwl Yapniénipint
- LwjuwgswhbGunwgnunwywb dwfuutin 5134 6,000.0 - 6,000.0
3. Gnunhwynpdwl L Yuenguwwndwl 27,000.0 - 27,000.0
Ouifuwqdtiph dpwlynid
- LwjuwgswhbGunwgnunwywb dwiuukin 5134 27,000.0 - 27,000.0

2160|01| 6 | O | LanhwhGnip pGnuyph hwapuyhl 131,570.0 131,570.0 -
SwewyntpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|01| 6 | 1 |COnhwbnip paniyph hwbpwiht SwrwnipyntbOGn (w)) 131,570.0 131,570.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnidGbp, huwygunhdnidlbp, nuinwpwlGh 40,500.0 40,500.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpGyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 40,500.0 40,500.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 91,070.0 91,070.0 -
qpuibguwl, quwhwwndwl b
wnbntyuwnynipiul tnpuwdwnpdwl hbw
Yuwwywé JawpmdGbp
- Uwubwghunwywb swrwjnipjntbbbn 4241 23,040.0 23,040.0 -
- Mwpuwnhp y&wnobn 4823 68,030.0 68,030.0 -

2200102/ 0|0 nuUSSMULNEHB3NFL 37,070.0 37,070.0 -
wyn pynid’

2220|02 | 2 | 0 | Pwnuwpwghwlwl wuwpwnwwlnipintl 17,000.0 17,000.0 -
nphg’

222102 | 2 | 1 |Pwnwpwghwywb wwunwwbntpntb 17,000.0 17,000.0 -
wyn pynid’
1. Puwnwpwghwlwl wuwpwnwwan pjuwala 17,000.0 17,000.0 -
wowlgnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 1,000.0 1,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 15,000.0 15,000.0 -
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

g - % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2250| 02 0 | Quipunwuwlbnipint G (wyy nuubphl swwwnlwGnn) 20,070.0 20,070.0 -
nphg’

2251102 | 5 | 1 |Mwunwwbntpintb (w)p nwubphb swwwnywhnn) 20,070.0 20,070.0 -
wyn pynLd’
1. 2npuwlnsh Guqlwlybpudwil wowlygnipiniG 20,070.0 20,070.0 -
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 2,000.0 2,000.0 -
- Spwluwnpuwihb Gjnipkn 4264 1,070.0 1,070.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 17,000.0 17,000.0 -

2400(04|/0 | O SuStuuuUL <UNPurEMPNHE@3NFLLEN 7,870,307.6 13,061,143.6 (5,190,836.0)
wyn pynLd’

2420|04 | 2 | 0 | nupuwnGunbunipyni b, whnweuyhla 171,453.4 - 171,453.4
wnbwnbunipinia, d4aGnpunipinil L
npunpnnigynLl
nphg’

242404 | 2 | 4 |NengnLd 171,453.4 - 171,453.4
wyn pynLd’
1. Nenquwl guilgh Ywenignid L 171,453.4 - 171,453.4
yYbpwlnpngnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 163,103.4 - 163,103.4
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 8,350.0 - 8,350.0

2450104 | 5 | 0 | Spwhuwnpuwn 13,137,352.8 11,903,264.1 1,234,088.7
nphg’

245104 | 5 | 1 |Bwlwwwphwihb wpwOuwnpun 6,553,853.9 5,418,157.3 1,135,696.6
wyn pynLd’
1. Uuduyin-pinnlyw Swidyh Jbpwlnpngnid b 3,932,636.7 3,932,636.7 -
wwhuwwbn d
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 3,932,636.7 3,932,636.7 -
wwhwwntd
2. Uupuwywn-pbuinnlyu swéyh hhdGulnpngnid 150,000.0 - 150,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 150,000.0 - 150,000.0
3. Gqnwpwnbph YGpwlnpngnid 32,960.4 17,960.4 15,000.0
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 17,960.4 17,960.4 -
wwhwwntd
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 15,000.0 - 15,000.0
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

o523 E ,:3 pintetinwihb Swuutinh nnbuwghwnwywa = Junswywb pnigt | $nlnuyhl pyniet

= nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

4. <Ghwwunnbph JGpuwGnpngnid 90,352.6 10,000.0 80,352.6
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhunwy yepwbnpngnid 5113 80,352.6 - 80,352.6
5. <twnhnuinl wilGgm dGbph uenignid L 411,344.0 1,000.0 410,344.0
YGpwlnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 1,000.0 1,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 405,000.0 - 405,000.0
- GLlpbnh L 2hOnepyniGbEnph Yuwwhunwy yepwbnpngnid 5113 5,344.0 - 5,344.0
6. Ywinouyhl Yuwrm gywéplbph 90,000.0 90,000.0 -
Yepwluwlglm d b wwhwwlmy
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
7. <pwiqnuil Yphpsh pupblywngmd 2,000.0 2,000.0 -
- UndntGwy SwrwynipntbbBn 4213 2,000.0 2,000.0 -
8. Uuypninhlbph bk thnnnglbnh 200,000.0 - 200,000.0
YGpwlwenignid L hhdGwGnpngnid
- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid 5113 200,000.0 - 200,000.0
9. ®nnnglbiph wwhwwGnid by ;whwgnpénid 60,000.0 60,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwntd
- Uy pbpwghy npwiw0Gnphbtn 4639 40,000.0 40,000.0 -
10. UdwinnyuywGunntnh Yuquwlbnwdwl 700,000.0 700,000.0 -
Swpwyntpint o
- Uj) Swiuubn 4861 700,000.0 700,000.0 -
11. BapwhwppwlGbph Yuenignid 40,000.0 - 40,000.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 40,000.0 - 40,000.0
12. UdwnnpniuGbipnid pbhpwhwppwllbnph 30,000.0 - 30,000.0
wwwhnynid
- Wy dbpbOwobn L uwppwynpniibbp 5129 30,000.0 - 30,000.0
13. @nnnglbiph, hpwwwpwllbph L uyghlblph 240,000.0 30,000.0 210,000.0
Yuhwynpnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
- Wy dbpbOwobn L uwppwynpniibbp 5129 170,000.0 - 170,000.0
- Ujnepbp L wwpwqwlep 5221 40,000.0 - 40,000.0
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Snnh
Kl
Pwdhi
hunuip

"

Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwywb

nuuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywirh
MM

7

8

14. Uuhwiluib pwllh wouwlygnipjudp
hnwluwbwgynn punwpuwihl

bOpwlwen gywdéplbiph b pwnwiph Yuyni o
quinquigiwl GapnpniduyhG spwgph hpwgdwa
UhongwenidGbn

574,560.2

574,560.2

- W Gwwuinbbp pinuobihg

4729

574,560.2

574,560.2

2455

04

funnnywywwpwh0 b wy; bwpwbuwnpun

6,583,498.9

6,485,106.8

98,392.1

wyn pynLd’

1. YGpGjwlbGph hhdGwlnpngnid

98,392.1

98,392.1

- Wy dbpbOwobn L uwppwynpniibtbp

5129

98,392.1

98,392.1

2. GplwlGh dawnpnuynhunbiGh wofuwnwlplbnh
Yuquwlybpwm d (wuwndhpuwlduws
[hwqnpnipni GGER)

2,761,183.5

2,761,183.5

- Untpuhnhwtp ng $hOwbuwywl wtnwywl
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

2,761,183.5

2,761,183.5

3. dbpqtiwnlyw bEunpwnpwiuwnpunny
nupbnpunhnfuwnpdwl Gwewynipint

576,360.5

576,360.5

- Untpuhnhwbp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

576,360.5

576,360.5

4. dGpwlwenigdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp

bpwlwGwgagynn Eplwih dEwnpnuwnhinbah
YGpwlwem gdwl Gpypnpn spughp
(wuwwnyhpwldwd huwgnpnipintGabn)

922,127.2

922,127.2

- W 6wfuubin

4861

922,127.2

922,127.2

5. GYpnuwluil Ghpnpntduyghl pwllyh
wowlygni pruid], wlwawgynn Gplwd
dbwnpnuwnpinbGh Jepwluwenigdwa Eplypnpn
Spwaghp (Wundhpwldwdo (hwgnpnipint GGGn)

879,631.8

879,631.8

- W 6wfuubin

4861

879,531.8

879,531.8

6. GynnwuwlywG dhnipjwl hwpbwbni ppul
GGpnpnduyhl Spugph wowlgnipjwdp
bpwlwGwgagynn Eplwih dEwnpnuwnhinbah
Ybpwlwen gdwl Epypnpn npwdwGnphughl
Spwaghp (wundhpwldwo (hwgnpnipintGGGn)

1,345,903.8

1,345,903.8

- W 6wfuubin

4861

1,345,903.8

1,345,903.8

2470

04

Uy phwqudwinGbp

15,000.0

15,000.0

nphg’

2473

04

Qpnuwpontpintl

15,000.0

15,000.0

wyn pynid’

1. 2pnuwippgnipjul qupquigntd

15,000.0

15,000.0

- U pGpwghy npuwidwzGnphltn

4639

15,000.0

15,000.0

2490

04

Stwnbuwlwh hwpwpbpnipin 606 (wyy
nwubphl swuwnluwbnn)

(5,453,498.6)

1,142,879.5

(6,596,378.1)

nphg’
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2491 | 04 1 | SOnBuwywb hwpwpbnnigntGObp (wy) nwubphG (5,453,498.6) 1,142,879.5 (6,596,378.1)
swwuinywlnn)
wyn pynid’
1. QpnpG6ph wbnwnpnid 57,000.0 57,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 57,000.0 57,000.0 -
2. Upwilygnipini O hwdwylipuyhla 23,691.0 23,691.0 -
Ywqdwlbpuwnipin GGERHG
hninwnpyuwynpnipini GGGpH hbwn uwwwds
whyAwp Sweuwyntpin GGbph dwwnnigdwl b
qliptquwliuwwnbtiph wwhwwldwa hwdwn
- LOpwghy npwdwbnphbbp wewnwywb L 4637 23,591.0 23,591.0 -
hwdwyGpltbph ng wrbnpwihG
Juaqiwybpwnipyntbtnhl
3. Ywrpwdwpdwl L wnGnEyunywlwia 134,657.1 134,657.1 -
wbfulnnghwlbph qupquignid
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 134,657.1 134,657.1 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
4. Upwiygnipini O hwdwylpuyhl L ng 252,000.0 252,000.0 -
hwiwyGpuyhl uqdwlbpwnipim Gabph
dpwanbph
- Uyl pbpwghy npwiw0Gnphbtn 4639 200,000.0 200,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 52,000.0 52,000.0 -
Juaqiwybpwnipyntbtnhl
5. N5 phGwluwluwl whywnhdbbph ownnwpnidhg (6,607,378.1) - (6,607,378.1)
dnuunpbin
uucunNg ant3eh hPUSNHUhS UNESLEN 8111 (1,300,000.0) - (1,300,000.0)
<N1h hPUSNHUNS UNESLEN 8411 (5,307,378.1) - (5,307,378.1)
6. SnGwlywl dLhwynpm 40,000.0 40,000.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 40,000.0 40,000.0 -
Juaqiwybpwnipyntbtphl
7. <wugbwynpdwl wpfuwnwGplbn 135,000.0 135,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 135,000.0 135,000.0 -
8. Lbpnpniduyhl spwgnbph hppwwlwgnid 128,200.0 128,200.0 -
- SknGYwuinywywh swewjnipyntGlbn 4234 8,200.0 8,200.0 -
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 120,000.0 120,000.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
9. Nwpuwnwnhp YXwplbph quaddwl 360,711.4 360,711.4 -
Swpwyntpn GGG
- SbnGYwuinywywh swewjnipyntGlbn 4234 13,410.0 13,410.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 206,737.1 206,737.1 -
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 140,564.3 140,564.3 -

Juaqiwybpwnipyntbtphl
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

10. Upwldbwhwnn i wuydwGGEph Yuphp 13,000.0 2,000.0 11,000.0
niLGbgnn wGdwlg hwdwn dunsbhnipjwl
wwwhnynid
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -
- Wy dbpbOwobn L uwppwynpniibtbp 5129 11,000.0 - 11,000.0
11. Uyplwnpwlpuyhl wpfuwanwlpuyhl 9,720.0 9,720.0 -
Swipuynipyuil hppuwilyuiGuigni o
- UntpuhnhwOtbp $howbuwyuwb wbunwywh 4512 9,720.0 9,720.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

25001050 | 0 cNRUYU UhudusNrh mucsmuunt@3ntu 7,512,209.2 7,318,072.8 194,136.4
wyn pynd’

2510|105 | 1 | O |UnpwhwGmd 5,334,208.8 5,334,208.8 -
nphg’

2511{05| 1 | 1 |Unpwhwlnid 5,334,208.8 5,334,208.8 -
wyn pynLd’
1. Unpwhwlmpint G L uwlhunwpwluwl 5,070,106.4 5,070,106.4 -
duwppnid
- UndntGwy SwrwjnipntbbBn 4213 5,070,106.4 5,070,106.4 -
2. Unpwininbiph uywuwnpldwa b 264,102.4 264,102.4 -
2hbuwpwpuwlywl wnph wnbnuhnfudwl
Swpwyntpn GGG
- UndntGwy SwrwjnipntbbBn 4213 264,102.4 264,102.4 -

2530|105 | 3 | 0 | Cpowlw vhowduyph wnunnundwl nbo wwypwn 38,683.0 38,683.0 -
nphg’

2531(05| 3 | 1 |Onh wnunundw nbd wwjpwn 38,683.0 38,683.0 -
wyn pynLd’
1. QGwnbiph hniG6ph dwppnid 38,683.0 38,683.0 -
- UndntGwy SwrwynipntbbBn 4213 38,683.0 38,683.0 -

2560|105 | 6 | 0 |Cpowlw vhowduwyph wwpwnwwanipintl (wyy 2,139,317.4 1,945,181.0 194,136.4
nwubphl swuwnluwbnn)
nphg’

2561|05| 6 | 1 |Cpowyw thowywinh wwwwwbnipntlt (wy; nwukphl 2,139,317.4 1,945,181.0 194,136.4
swwuinywlnn)
wyn pynid’
1. Ywlws tnwpwdplbph hhoGnid L 1,663,636.4 1,569,500.0 94,136.4
wwhuwwbni g
- UndntGwy SwrwjnipntbbBn 4213 1,509,500.0 1,509,500.0 -
- <wwnnty GwwuinwlwihG wyp neptn 4269 20,000.0 20,000.0 -
- LOpwghy npwdwbnphbbp wewnwywb L 4638 40,000.0 40,000.0 -
hwdiwjopwht wrluinpwiht YuwqdwytpwneentGbsph
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl =3 = o0

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngnid 5113 94,136.4 - 94,136.4
2. UfunnwhwGoiwG b dhpwwnwgbpddwl 41,051.0 41,051.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwynipntblOBn 4213 41,051.0 41,051.0 -
3. <wuwnpwuwlwl gniquipwbGbph 2,430.0 2,430.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynLpntblOBn 4213 2,430.0 2,430.0 -
4. Uhquiwpgbiph utnbinénid L dwnyuwwwiuinnitd 312,200.0 212,200.0 100,000.0
- <wwnnty GwwuinwywihG wyp ineptn 4269 20,300.0 20,300.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 191,900.0 191,900.0 -
Juaqiwybpwnipyntbtnhl
- Ujnepbp L wwpwqwlep 5221 100,000.0 - 100,000.0
5. Bunhwenn YGlGnwahGbph JGwuwqbndnid 120,000.0 120,000.0 -
- Uj) Swiuubn 4861 120,000.0 120,000.0 -

2600106 0 | O pLULUNULUSHL ChuururnH@3NFL G4 11,870,507.1 6,733,510.2 5,136,996.9

ynUNFLUL dunusnNt@3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | PGwlwpwluyhl ;hGwpwpnipinta 3,635,845.6 22,514.4 3,613,331.2
nphg’

261106 | 1 | 1 |ROwywpwlwihb 2hGwpwnnignLl 3,635,845.6 22,514.4 3,613,331.2
wyn pynLd’
1. hapGwlwd uenyglbph pwannid 22,614.4 22,614.4 -
- Wy Swiuutn 4861 22,514.4 22,514.4 -
2. 9nppnpn wuwnhAwlh Jpwpuyhb 26Gpbph 3,613,331.2 - 3,613,331.2
pwlindwl htwnbwlpny
plwlunwipnuwiéni pim GGEphg gplyws
plwlhsa6ph thnfuhwwnnigdwl hwown
plwlupwaG6ph dGrppbpnid
- Gtlpbnh L 2hbnpyntGbbnh dGrppEnnLd 5111 3,534,750.0 - 3,534,750.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 78,581.2 - 78,581.2

2630|106 | 3 | 0 | 2nwiwwnwluwpwpny 3,049,011.0 3,049,011.0 -
nphg’

263106 | 3 | 1 |2pwiwwnwywpwpnid 3,049,011.0 3,049,011.0 -
wyn pynid’
1. Spwlbupuyh <wlpwwbinnppuwl 1,911,095.7 1,911,095.7 -

Yupwdwpn piul wowlgni prudp
bpwlhwawgynn Eplwih gpuwdwinwlwpnwndwl
L gpwhbrwguiwl épwagphl wnpwdwnpynn
wnbfuihywlwl wowlgnipjuwl spwighn
(wuinyhpuwlydwd hwgnpnipiniGG6n)
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Snnh
[l
Puwdhi
hunuip

"

Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwywb

nuuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywirh
MM

7

8

- W 6wfuubin

4861

1,911,095.7

1,911,095.7

2. Ybpwlhwpenigdwl L qupquigdwl
Gypnuuwluwlb pwlyh wowlygnipywdp
bpwlwawgynn Eplwih gpuwdwinwlwpwndwl
puwpbjwydwl dpwghp (wuwwndhpuwlyyws
[hwqnpnipni GGER)

712,672.5

712,672.5

- W 6wfuubin

4861

712,672.5

712,672.5

3. GYpnwuwlywiG dhnipjwl hwpbwbni ppul
GGpnpniduyhl Spugph wowlgnipjwdp
hpwywbwgynn Eplwih gpwdunwywpwnpdwl
pwnbywddwl npuwdwGnphuyhl Spwghn
(wuinyhpuwlydwd hwgnpnipiniGG6n)

154,222.5

154,222.5

- W 6wfuubin

4861

154,222.5

154,222.5

4. Gypnuwuwiywl GEpnpntduyghl puGyh
wowlygni pruid], wlwawgynn Gplwl
gnwiwwnwwpwpiwl puwpbywydwl Spughn
(wuinyhpuwydwd hwgnpnipiniGG6n)

154,222.5

154,222.5

- W 6wfuubin

4861

154,222.5

154,222.5

5. 6Ypnuwlyui Gepnpntduyghl pwlyh
wowlygni pjwid) whwawgynn Gplwig,
onwdwinwluwpuwpdwl pwnpbywddwl
ppwdwGnphuyhl spwghp (wwindhpwlydws
[hwqnpnipni GGEp)

116,797.8

116,797.8

- W 6wfuubin

4861

116,797.8

116,797.8

2640

06

®nnnghtiph ntuwynpnid

2,170,973.0

2,123,973.0

47,000.0

nphg’

2641

06

®nnnglbph |ntuwynnpnid

2,170,973.0

2,123,973.0

47,000.0

wyn pynid’

1. Uninwiphl jnruwdnpnipuwl gulgh

hhdGwaGnpngnid

40,000.0

40,000.0

- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid

5113

40,000.0

40,000.0

2. Upwnwphl nruwdnpnipuwl gulgh
Jwhwaqnpodwl L wwhwwGdwa

wpfuunnuwliplbin

2,121,973.0

2,121,973.0

- W 6wfuubin

4861

2,121,973.0

2,121,973.0

3. Chlptinh gbnwnybuwnwlwl jmuwynpnid

9,000.0

2,000.0

7,000.0

- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b
wwhwwntd

4251

2,000.0

2,000.0

- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid

5113

7,000.0

7,000.0

2650

06

PhUwuwnwluyhl ;hbwpwpnipjwa b YndniGuy
SweuwyntpynLGGEpH gény hbunwgnunwlw b
Owfuwqduyhl wpfuwinwGplbn

8,000.0

8,000.0

nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

] £l 3 v 0 swiuubph nGnEuwghnwywl = fruattn 1 b anwihG

w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2651 | 06 1 |ROwywnwlwihb zhbwpwpnipiwb L Yyndntbuwyg 8,000.0 - 8,000.0
SwrwjnLpntbbEph gény hunnwgnunwyw L
Owfuwgbwihb wpfuwwnwbpltbn
wyn pynd’
1. Chhaptiph L 2hGnipintGGaph hEunnwgnundwG 8,000.0 - 8,000.0
wpfuunnuwliplbin
- LwjuwgswhbGunwgnunwywb dwfuutin 5134 8,000.0 - 8,000.0

2660|06 | 6 | 0 | PGwlwnwluyhl ;hGwpwpnipjwl L YndniGuy 3,006,677.5 1,538,011.8 1,468,665.7
SwewynipyntGGEn (wy nwubpha swwnlyuwlnn)
nphg’

266106 | 6 | 1 |ROwywpwlwih( 2hGwpwnnipjwb L YyndntGuwy 3,006,677.5 1,538,011.8 1,468,665.7
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 239,807.2 239,807.2 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 239,807.2 239,807.2 -
wwhwwlntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 216,417.0 48,000.0 168,417.0
wnwbhplbbiph YGpwblnpngnid
- <wwnnty GwwuinwywihG wyp ineptn 4269 48,000.0 48,000.0 -
- GLlpbnh L 2hOnepyntGOBnph Yuwwhunwy yepwbnpngnid 5113 168,417.0 - 168,417.0
3. Pwluyhl tnwipwdplbinh b 1,489,523.7 336,275.0 1,153,248.7
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 94,975.0 94,975.0 -
wwhwwntd
- <wwnnty GwwuinwlwihG wyp neptn 4269 31,300.0 31,300.0 -
- Untpuhnhwbp ng wGwnwywh (ng hwdwbpuwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 200,000.0 200,000.0 -
Juaqiwybpwnipyntbtnhl
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 187,000.0 - 187,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 919,960.0 - 919,960.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 46,288.7 - 46,288.7
4. Puqdwpluwlupwl p6Gpbnh pwnpbliwnqdwl 557,148.0 507,148.0 50,000.0
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 357,383.0 357,383.0 -
wwhwwntd
- <wwnnty GwwuinwlwihG wyp neptn 4269 11,765.0 11,765.0 -
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpuwihb) ns 4521 138,000.0 138,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 50,000.0 - 50,000.0
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w 2 3 2 pInLetnwy n g £ = Junswywl pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

5. 2pnuyhl Yueniyglbinh whwagnpdnid L 320,000.0 320,000.0 -
wwhuwwbni g
- Uj) Swiuutbn 4861 320,000.0 320,000.0 -
6. Ywpuwyunnlbph wwhwwinid 26,781.6 26,781.6 -
- LOpwghy npwdwbnphbbp wewnwywb L 4638 26,781.6 26,781.6 -
hwdiwjopwht wrluinpwiht YuwqdwytpwnientGbsph
7. QudwpwgnidGliph b wyy 2hGnipiniGaGph 60,000.0 60,000.0 -
Ybpwanpngnid L gniGwqupnnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 60,000.0 60,000.0 -
wwhwwntd
8. Ypwnuyhl wuwnyquidpabph Gnpngnid 70,000.0 - 70,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 70,000.0 - 70,000.0
9. Ynyninwigdbiph Yuenignid L Ybpwlnpngnid 27,000.0 - 27,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 27,000.0 - 27,000.0

2700|070 | 0 unnaaunu<nt@3Ntu 108,527.0 15,500.0 93,027.0
wyn pynLd’

2710|07 | 1 | 0 | Adohuwlwl wuypwlplbp, uwppbp L 71,500.0 - 71,500.0
vwppwynpnidlabp
nphg’

2711107 | 1 | 1 |Ynwgnpéwywl wwpwbplbn 71,500.0 - 71,500.0
wyn pynid’
1. Upnnowwwhwlwl JuquwlybnwnipiniGGGph 71,500.0 - 71,500.0
hwiwn pd>Yuwlul uwppwynpmdabph
dbrppbpnid
- Wy dbpbOwobn L uwppwynpniibbp 5129 71,500.0 - 71,500.0

2760|107 | 6 | 0 | UrnnowwwhnipintG (wy nuubphG 37,027.0 15,500.0 21,527.0
swunnljulinig)
nphg’

276107 | 6 | 1 |Urnnowwwhwywl hwpwyhg dwrwnipntbbbp L 37,027.0 15,500.0 21,527.0
Spwgntin
wyn pynLd’
1. Upnnowwwhwlwl opllunGlph 25,027.0 3,500.0 21,627.0
hhdGwaGnpngnid
- Uyl pbpwghy npwiw0Gnphbtn 4639 3,500.0 3,500.0 -
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 21,527.0 - 21,527.0
2. Ndywnwidunsbih hbirnwgnunnipiniGG6ph 12,000.0 12,000.0 -
hpwlwbuwgnid
- Uwubwghunwyw swrwjnipjntbbbn 4241 12,000.0 12,000.0 -
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£, 2 5 o LIRS T 12 e
=5 8in 2 pINtebIWIhG Swiuubnh thnbuwGhiWyYWa Z Z| Dlnuwdblp quinswywo pigl | Sninuiht pnigt
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2800 | 08 0 <UuLahus, ucuuntsme by urnu 3,829,029.3 2,721,929.3 1,107,100.0
wyn pynLd’

2810|108 | 1 | 0 |<wdhquwnh L uwnpuinp SwrwynipinLGGEN 844,799.9 434,799.9 410,000.0
nphg’

281108 | 1 | 1 |<wlOguwnh L uwynpunh SwrwjntnLtbbEn 844,799.9 434,799.9 410,000.0
wyn pynLd’
1. Uynpunughl dhongwrnt dGEph 136,799.9 136,799.9 -
Juquwlbpwni g
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 8,937.4 8,937.4 -
- Uy pbpwghy npwiw0Gnphbtn 4639 127,862.5 127,862.5 -
2. <wlquwnp gninplbiph L gpnuuwyghlbph 660,000.0 250,000.0 410,000.0
Juipnigmid m wwhuwjuwGnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
- Uy pbpwghy npwiw0Gnphbtn 4639 40,000.0 40,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 200,000.0 200,000.0 -
Juaqiwybpwnipyntbtnhl
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 396,000.0 - 396,000.0
- GLlpbnh L 2hOnepyntGOBnph Yuwwhunwy yepwbnpngnid 5113 14,000.0 - 14,000.0
3. <Géwhdwhpuwwwpwlh whwanpénid 48,000.0 48,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtGOEn 4239 48,000.0 48,000.0 -

2820|108 | 2 | O |Upwlynipuyhl SwruynipiniGGEn 2,922,404.4 2,225,304.4 697,100.0
nphg’

282108 | 2 | 1 |Qpwnwnwadtn 696,787.0 446,787.0 250,000.0
wyn pynid’
1. Qpuinwpwluyhl swewynipintGG6n 446,787.0 446,787.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 446,787.0 446,787.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. QpuinwpnwlGbph hhdGuwlnpngmnid 250,000.0 - 250,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 250,000.0 - 250,000.0

282208 | 2 | 2 |Bwlqwnwlbbp L gnigwunwh(bp 365,227.7 265,227.7 100,000.0
wyn pynid’
1. Bwlqupwluyhl swrwynipintGGbn L 265,227.7 265,227.7 -
gnigwhwlnbulbp
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 265,227.7 265,227.7 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2. BwlqupwlGbph Gnpngnid 100,000.0 - 100,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 100,000.0 - 100,000.0

2823|08 | 2 | 3 |Uwynyph wnlbp, wyniipbtp, YsGunpnbbsn 188,009.1 90,909.1 97,100.0
wyn pynLd’
1. <wduylpuyhl drwlynyph b wquwn dwdwlbgh 90,909.1 90,909.1 -
Yuqiwlbpwni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 90,909.1 90,909.1 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Vowlynyph wnlbph hhdGwnpngnid L 97,100.0 - 97,100.0
YGpwlnpngnid
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 97,100.0 - 97,100.0

282408 | 2 | 4 |Ujy Gywynipwiht ywglwybnwnipntbGbp 1,188,346.3 938,346.3 250,000.0
wyn pynLd’
1. Vpwiynipuyhl dhonguenidabph 688,407.8 688,407.8 -
hpwlwbwgnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 4,400.0 4,400.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 48,358.7 48,358.7 -
- Uy pbpwghy npwiw0Gnphbtn 4639 635,649.1 635,649.1 -
2. YGhnwlwpwlwlwl wignt 249,938.5 249,938.5 -
gnigunpnipnt GGGp
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 249,938.5 249,938.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. Ybanwlwpwlwlwh wignt hhoGulnpngnid 250,000.0 - 250,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngnid 5113 250,000.0 - 250,000.0

2825/08 | 2 | 5 |Unpybuwn 458,334.3 458,334.3 -
wyn pynid’
1. Gpnuwdrwnwnybuwnp L wwpwpdbuwnh 98,991.7 98,991.7 -
hwdbpqlbp
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 98,991.7 98,991.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Bunnbpwlwl Gapyuywgnidabn 359,342.6 359,342.6 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 359,342.6 359,342.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

282708 | 2 | 7 |<niwndwlbbnh L Gowynipwiht wpdbplbph 25,700.0 25,700.0 -

ybpwywbglnid L wwhwwnid

wyn pynid’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl =3 = o0

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| 2 nwuwyungiwb hnnqwébbph  wadwaniiabnp =
1 12 |3 |4 5 6 7 8 9

1. <nipwpdwlGbph Ybpwlnpngnid L 25,700.0 25,700.0 -
wwhuwwbni g
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 12,700.0 12,700.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 13,000.0 13,000.0 -
wwhwwntd

2830|108 | 3 | 0 |Nwnhn L hGentutnwhwnnpnndGEph 36,000.0 36,000.0 -
hGpwndwydwa L hpwwnwpwlswlwa
SwpwyntpynLGGEN
nphg’

2831|08 | 3 | 1 |<Grniunnwrwnhnhwnnpnniibbn 36,000.0 36,000.0 -
wyn pynd’
1. Puwnwpwwbunwpwih wofuwnwlplbbpnh 36,000.0 36,000.0 -
[nLuwipwln g
- Uwubwghunwywb swrwjnipjntbbn 4241 36,000.0 36,000.0 -

2840|08 | 4 | 0 | Ypnbwlwl L hwuwpwlwlwl wy 25,825.0 25,825.0 -
SwpwyntpynLGGEN
nphg’

2843|108 | 4 | 3 |UpnGwywl L hwuwpwywywb wy SwrwjnipnLtbbGn 25,825.0 25,825.0 -
wyn pynLd’
1. UGnwdwlygnm pyulb YKwnlbp 25,825.0 25,825.0 -
- LuhpwwnynipntbGbp wy whniyp shGunwwGnnn 4819 25,825.0 25,825.0 -
Juaqiwybpwnipyntbtphl

29001090 | O urPENH33NHL 26,590,262.4 25,158,517.5 1,431,744.9
wyn pynid’

2910|109 | 1 | 0 | Lwfuwnupngwluwl L tnwppwlwl pGnhwanip 14,675,501.4 14,475,501.4 200,000.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwjuwnwpngwywh Yppnipintd 7,768,898.6 7,568,898.6 200,000.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 7,566,404.3 7,566,404.3 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 7,566,404.3 7,566,404.3 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Lwfuw ngquilywil ntuntgdwl 200,000.0 - 200,000.0
Yuwquowybpuwdwl hwdwn wihpwdbwn gniyph
dbpp pbpnid
- Wy dbpbOwobn L uwppwynpniibbp 5129 200,000.0 - 200,000.0
3. Lwfuw ngquiljwl nLpInLl 2,494.3 2,494.3 -
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 24943 24943 -
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

g - % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

291209 | 1 | 2 |Swppwywb plnhwnip Ynpnepintb 6,906,602.8 6,906,602.8 -
wyn pynLd’
1. <wlpwyppwlwl niunignid 6,201,182.2 6,201,182.2 -
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 6,201,182.2 6,201,182.2 -
2. <unnniy Yppnipint G 176,818.3 176,818.3 -
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 176,818.3 176,818.3 -
3. Ubpwepwlwl Yppnipint G 528,602.3 528,602.3 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 528,602.3 528,602.3 -

2920109 | 2 | 0 |\Uhotwlwng panhwbnin 4ppnipinG 8,146,130.6 8,146,130.6 -
nphg’

2921109 | 2 | 1 |<hdGwlywh pGnhwbnip Yneneeintb 7,859,634.0 7,859,634.0 -
wyn pynLd’
1. <wlpwyppwlwl niunignid 7,155,032.2 7,165,032.2 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 7,155,032.2 7,155,032.2 -
2. <unnniy Yppnipint G 197,064.7 197,064.7 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 197,064.7 197,064.7 -
3. Ubpwpwlwl Yppnipint G 499,508.7 499,508.7 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 499,508.7 499,508.7 -
4. Gpbynywb Yppnipnt G 8,028.4 8,028.4 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtGOEn 4239 8,028.4 8,028.4 -

292209 | 2 | 2 |\UhoGwlywng (1nhd) pGnhwbnip Yppenipntd 286,496.6 286,496.6 -
wyn pynid’
1. <wlpwyppwlwa niunignid 244,755.6 244,755.6 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 244,755.6 244,755.6 -
2. <unnniy Yppnipint G 33,743.9 33,743.9 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 33,743.9 33,743.9 -
3. Ubpwewlwa Yppnipint 204.9 204.9 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 204.9 204.9 -
4. Gpbymw Yppnipint G 7,792.2 7,792.2 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 7,792.2 7,792.2 -

2950(09 | 5 | 0 | Luwn dwlwpnwlGbph snwuwluwpgdnn 3,159,576.7 2,477,831.8 681,744.9
Uppnipyntl
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b { {

w = 3 &= pinL9 J n q e Jwpswywa pnie Snlnwjh pjnLok

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2951 |09 1 [Upunwnwpngwywb nwuunhwpwynipntl 3,159,576.7 2,477,831.8 681,744.9
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 2,307,142.6 2,307,142.6 -
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 56,541.6 56,541.6 -
- Untpuhnhwlbp ng $hOwbuwywl wenwywb 4511 2,250,601.0 2,250,601.0 -
(hwiwybpwih0) Yuwgiwytnpwnipntbbbph
2. Upwnw nquiywl Juqdwlbpwnipini GGG, 611,744.9 - 611,744.9
hhdGwaGnpngmd L YGpwanpngnid
- GLlpbnh L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 611,744.9 - 611,744.9
3. «<wiynp Ynomuwily Yppwhwduihn MNUY- 7,980.2 7,980.2 -
nLd wpunw nquilul nuwuwnhwpwlyni pjulb
Juwquwlybpynid (wundhpwlduwé
[hwqnpnipni GGEp)
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 7,980.2 7,980.2 -
4. Gpwdrwnwlywl L wpdbuwnh nupnglbpnid 162,709.0 162,709.0 -
wqquyhl jwpuyhl L thnnuyhl Gduwquipwbbabnh
qony munmgmd
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 162,709.0 162,709.0 -
5. Upunuw ngwlwl uwqdwlbpwnipint GGG, 70,000.0 - 70,000.0
hwiwp wahpwdtiynn gniph daep pbpnid
- Wy dbpbawobn L uwppwynpniibbp 5129 70,000.0 - 70,000.0

2960|09 | 6 | 0 | YUnpnipywlp wnpwdwnpdnn odwlnwy 609,053.7 59,053.7 550,000.0
SwpwyntpynLGGEN
nphg’

296109 | 6 | 1 |UppnLpjwlp wpwdwnpynn odwlnwy dwrwjnipjnLtbbGn 609,053.7 59,053.7 550,000.0
wyjn pyntd’
1. Lwfuwi nquiljuwil hwuwnuwiinni pint GGG 566,502.7 16,502.7 550,000.0
hhdGwaGnpngmid L YGpwanpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 16,502.7 16,502.7 -
wwhwwntd
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 550,000.0 - 550,000.0
2. wypnguluwiGlGbph ojhdwhwnwlbph b wyy 16,310.0 16,310.0 -
Uhongwpem dG&ph Yuquiwlbpwni o
- Uyl pbpwghy npwiw0Gnphbtn 4639 16,310.0 16,310.0 -
3. Unghuwywwybu wiwwwhny wpwlbnunGbnhG 26,241.0 26,241.0 -
wiyAwn nuuwgppbpny wwwhnynid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Uy pbpwghy npwiw0Gnphbtn 4639 26,241.0 26,241.0 -

3000(10| 0|0 unshuLuyuu nucSMULNH33NFL 1,739,444 4 1,739,444 4 -
wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

=_| £ g 3 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3

=28 2 3 = = QOnwakap

o 2 2 _5 = pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

= nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

3070| 10 0 | Unghwjwlwl hunny wpuwnnGnipiniGGE (wyy 603,781.3 603,781.3
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwjwywb hwuwnnty wpunnOnipintGbbn (wy 603,781.3 603,781.3
nuwubphb swywunywbnn)
wyn pynd’
1. Unghuwywwbu wawwwhny pGunwhplbnh 6,598.0 6,598.0
bGp6luwlbbiph hwaguwnh Yuqdwybpwnid
- Qnyph L uwppwynpnidbbph yupdwywintpinta 4216 3,068.0 3,068.0
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,180.0 2,180.0
- Uy pbpwghy npwiw0Gnphbtn 4639 1,350.0 1,350.0
2. <wpuwquin snLabgnn wGdwag b 30,065.5 30,065.5
unghwywuwbu wiwwwhny plunuGhplbnh
hwdwp hninwpyuwynpnipywl yuwqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 30,065.5 30,065.5
3. Unghuwywuwbu wlwwwhny pGunwGhplbphG 371,192.8 371,192.8
wnGuwlwb L hhpwwwlh opbphl wowlgnipini o
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 2,500.0 2,500.0
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 4,676.0 4,676.0
- <wwnnty GwwuinwywihG wyp ineptn 4269 89,551.9 89,551.9
- Uy pbpwghy npwiw0Gnphbtn 4639 182,864.9 182,864.9
- W Gwwuinbbp pinuobihg 4729 25,000.0 25,000.0
- LuhpwwnynipntbGbp wy whniyp shGunwwGnnn 4819 66,600.0 66,600.0
Juaqiwybpwnipyntbtphl
4. Unghwyuwwbu wiwwwhny wGdwlg 168,125.0 168,125.0
wowlgnipint G
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 4,320.0 4,320.0
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 21,800.0 21,800.0
- <wwnnty GwwuinwywihG wyp nepkn 4269 1,825.0 1,825.0
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpuwihb) ns 4521 2,400.0 2,400.0
$hlwluwywb Yugiwytnpwnipntbbbph
- Uyl pbpwghy npwiw0Gnphbtn 4639 9,600.0 9,600.0
- W Gwwuinbbp pinuobihg 4729 35,000.0 35,000.0
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 93,180.0 93,180.0
Juaqiwybpwnipyntbtphl
5. <wuwnpwluwlwl Yuqdwlybpwnipini GGGphG 27,800.0 27,800.0
wowlgnipint G
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 27,800.0 27,800.0

Juaqiwybpwnipyntbtphl
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c |al o ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

] £l 3 Guwjh( Swiuubph nGunbuwghinwywl = fruattn 1 b anwihG b

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

3090| 10 0 | Unghwjwluwl wuwpwnwwGnipini b (wy 1,135,663.1 1,135,663.1 -
nwubphl swuwnluwbnn)
nphg’

309110 | 9 | 1 |Unghwjwywl wwpunwwbnipntb (wy; nwubnhl 302,359.1 302,359.1 -
swwuinywlnn)
wyn pynd’
1. Unghuwywlwl oqlnipjuwl dwewynipintGGGph 302,359.1 302,359.1 -
qnpontGGnpjwl Yuqdwybpwnmd
(wuwwny hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 287,849.5 287,849.5 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGep 4212 4,725.0 4,725.0 -
- UndntGwy SwrwynipntbbBn 4213 161.9 161.9 -
- Ywuwh SwrwjnipnLbGbn 4214 2,097.5 2,097.5 -
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 750.0 750.0 -
- LkipphG gnpéninniibbn 4221 48.0 48.0 -
- UbpbOwlbph L uwppwydnpnidbbph pbpwghy 4252 880.8 880.8 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 3,846.6 3,846.6 -
- Spwluwnpuwihb Gnipkn 4264 1,560.6 1,560.6 -
- Ushgwnuwihb L hwbpwhG ubbnh Ojneebn 4267 305.4 305.4 -
- Uj) Swiuutbn 4861 133.8 133.8 -

309210 | 9 | 2 |Unghwjwywl wwpwunwwbntpjubp tnpwdwnnynn 833,304.0 833,304.0 -
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwuinywlnn)
wyn pynid’
1. MGwnwlwl hhdGwplGbph L 675,432.0 675,432.0 -
Ywquiwlybpuwnipint6G6pH wfuwnnnlbnh
unghwjwywl thupbpny wwwhnynid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- W Gwwuinbbp pinuobihg 4729 675,432.0 675,432.0 -
2. Upnnontpjul wwwhnywapnipint 167,872.0 1567,872.0 -
- Uywhnwgnwywb dwfuutin 4215 157,872.0 157,872.0 -

3100(11/0 | 0O <hUluyuvu AUIhLLGNPL 2NUUYNN 3,962,616.0 6,900,949.6 8,000.0

nuULNFUSU3hL dNuIeN

wyn pynid’

311011 | 1 | 0 | << qurwdwpnipjwi L hwduwylGplbph 3,962,616.0 6,900,949.6 8,000.0
wwhniuwnuyhl pnhn
nphg’
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Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub

i
= E = =
E % E E ; pintobitnwihb wfuubph inbwnbuwghwnwywb % % Chnwathp Jwpswywl pniet | dnlnuwyhb pjniok
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7
1 <4< hwiwybpbtnph wwhniunwhl $nln 3,962,616.0 8,000.0
wyn pynLd’
4891 3,962,616.0 8,000.0

- Mwhniuwnwyhb dhongbbn

-{winyuwgntd wwheuinwihG $nlnhg $nbnwihb piniob
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 1

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

GrGJduLh RUNULRUMGSUNULP (UNUULS GREYULh YUN2UUUL cNRULLENP) UUuunNy

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 46,705,386.8 47,934,144 1 1,717,576.3
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 3,549,470.3 3,227,958.8 321,511.5
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 3,268,430.3 3,129,918.8 138,511.5
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

211101 | 1 | 1 |OpGGunhp L gnpéwnhp dwpdhbGGep, wEwnwywb 3,268,430.3 3,129,918.8 138,511.5
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 3,217,910.1 3,129,918.8 87,991.3
- U2uwuinnnGbph wfuwwnwywndbp L 4111 1,543,372.9 1,543,372.9 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 428,853.6 428,853.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 77,808.7 77,808.7 -
- UndntGwy SwrwjnipntbbBn 4213 5,676.9 5,676.9 -
- Ywwh SwrwjnipnLbGbn 4214 75,695.5 75,695.5 -
- Uywhnjwgnwywb dwfuutin 4215 1,706.3 1,706.3 -
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 90,720.0 90,720.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 45,000.0 45,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 1,275.0 1,275.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 33,864.0 33,864.0 -
- Uluwwnwywqih dwubwghunwywb qupgwgiwl 4233 10,010.0 10,010.0 -
SwrwjnLpnLbbEn
- SbnGYwuinywywh swewjnipyntGlbn 4234 28,476.9 28,476.9 -
- Ywrwywnswywb swewjnipntbGbbn 4235 10,000.0 10,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 118,600.0 118,600.0 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 290,003.0 290,003.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 2,000.0 2,000.0 -
- UbpbOwlbph L uwppwydnpnidbbph pbpwghy 4252 209,000.0 209,000.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 29,000.0 29,000.0 -
- Spwluwnpuwihb Gjnipkn 4264 70,998.0 70,998.0 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojnebn 4267 5,550.0 5,550.0 -
- <wwnnty GwwuinwywihG wyp inptn 4269 5,400.0 5,400.0 -
- W Gwwiuinbbp pyinuobihg 4729 40,950.0 40,950.0 -
- Mwpuwnhp y&wnobn 4823 958.0 958.0 -
- Uj) Swiuubn 4861 5,000.0 5,000.0 -
- Spwluwnpuwihb uwppwynnpniibbn 5121 9,000.0 - 9,000.0
- Jwpswywb uwppwynnpniibbn 5122 70,900.0 - 70,900.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 8,091.3 - 8,091.3
2. dwpswluwlb opyiyinGlinh hhdGwanpngnid 50,620.2 - 50,520.2
- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid 5113 50,520.2 - 50,520.2

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhG 183,000.0 - 183,000.0
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjniintGbEnph 183,000.0 - 183,000.0
qony hGuinwgnunwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynid’
1. Lwfuwqduyhl wipfuwnwlplbn 150,000.0 - 150,000.0
- LwjuwgswhbGunwgnunwywb dwiuukin 5134 150,000.0 - 150,000.0
2. 6plwl pwnuwph gjfuwiydnp huwwnwlwaqdh 6,000.0 - 6,000.0
hnwlwlwgdwl Yapniénipint
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 6,000.0 - 6,000.0
3. Gnunhwynpdwl L Yuenguwwndwl 27,000.0 - 27,000.0
Ouifuwqdtiph dpwlynid
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 27,000.0 - 27,000.0

216001 | 6 | 0 | 2anhwGnip pGnyph hwapuyhl 98,040.0 98,040.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 98,040.0 98,040.0 -
nuwubphb swywunywbnn)
wyn pynLd’

39




al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. DhdnidGbp, huwygunhdnidlbp, nuinwpwiGh 25,000.0 25,000.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 25,000.0 25,000.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 73,040.0 73,040.0 -
qpuiGguwl, quwhwwndwl b
wnbnbyunynipiul tnpuwdwnpdwl hbun
Yuwdwo Jawpmoabn
- Uwubwghunwyw swrwjnipjntbbn 4241 23,040.0 23,040.0 -
- Mwpuwnhp y&wnobn 4823 50,000.0 50,000.0 -

2200/02|/0 | 0 nuUCSMULNEHB3NFL 15,000.0 15,000.0 -
wyn pynLd’

2220|102 | 2 | 0 | Pwnuwpuwghwluwl ww)ywnwwbnipintG 156,000.0 156,000.0 -
nphg’

2221|102 | 2 | 1 |Pwnwpwghwywl wwunwwbnigntl 15,000.0 15,000.0 -
wyn pynLd’
1. Puwnwpwghwlwl wuwpwnwwan pjwala 15,000.0 15,000.0 -
wowlgnipint G
- Uyl pbpwghy npwiw0Gnphbtn 4639 15,000.0 15,000.0 -

2400(04|0 | 0 SuStUUYUL <UPurRGMPNH@3NFLLEN 7,027,970.4 12,341,245.1 (5,313,274.7)
wyn pynid’

2420|104 | 2 | O | Ynunuuwnbwnbunipnt G, whwnweuyhl 163,103.4 - 163,103.4
wnbwnbunipinia, d4aGnpunipinil L
npunpnnip/nLG
nphg’

2424|104 | 2 | 4 |NrngnLd 163,103.4 - 163,103.4
wyn pynLd’
1. Nenquwl gulgh Yuwenignid L 163,103.4 - 163,103.4
YGpwlnpngnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 163,103.4 - 163,103.4

2450104 | 5 | 0 | Spwluwnpuwn 12,653,667.0 11,533,667.0 1,120,000.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwluwnpun 6,168,560.2 5,048,560.2 1,120,000.0
wyn pynid’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 3,684,000.0 3,584,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 3,584,000.0 3,584,000.0 -

wwhwwntd
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

o523 E ,:3 pintetinwihb Swuutinh nnbuwghwnwywa = Junswywb pnigt | $nlnuyhl pyniet

= nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2. Uupuwyn-pbuinnlyw swdélyh hhoGulnpngnid 150,000.0 - 150,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 150,000.0 - 150,000.0
3. Gqnuwpwptipnh YGpwanpngnid 15,000.0 - 15,000.0
- GLlpbnh L 2hOnepyntGOEnph Yuwwhunwy yepwbnpngnid 5113 15,000.0 - 15,000.0
4. <Ghwwunnbph JGpuwGnpngnid 80,000.0 10,000.0 70,000.0
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhunwy yepwbnpngnid 5113 70,000.0 - 70,000.0
5. <GwnhnuinG wlgm dGbph Yuemgnid L 405,000.0 - 405,000.0
YGpwlnpngnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 405,000.0 - 405,000.0
6. Ywinouyhl Yuwrm gywéplbph 90,000.0 90,000.0 -
Yepwluwlglm d L wwhwwlmy
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
8. Uuypninhlbph bk thnnnglbnh 200,000.0 - 200,000.0
YGpwlwenignid L hhdGuwGnpngnid
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 200,000.0 - 200,000.0
9. ®nnnglbiph wwhwwanid by ;whwgnpdnid 60,000.0 60,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwntd
- Uy pbpwghy npwiw0Gnphbtn 4639 40,000.0 40,000.0 -
10. UdwnnbyuywGunntnh Yuquiwlbnwdwl 700,000.0 700,000.0 -
Swpwyntpint
- Uj) Swiuubn 4861 700,000.0 700,000.0 -
11. BapwhwppwlGbph Yuenignid 40,000.0 - 40,000.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 40,000.0 - 40,000.0
12. UdwnnpniuGbipnid pbhpwhwppwllbnph 30,000.0 - 30,000.0
wwwhnynid
- Wy dbpbawobn L uwppwynpniibbp 5129 30,000.0 - 30,000.0
13. ®nnnglbiph, hpwwwpwlbbph L uyghlblph 240,000.0 30,000.0 210,000.0
Yuhwynpnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
- Wy dbpbOwobn L uwppwynpniibbp 5129 170,000.0 - 170,000.0
- Ujnepbp L wwpwqwlep 5221 40,000.0 - 40,000.0
14. Uuhwluwl pwlyh wowlygnippudp 574,560.2 574,560.2 -

hpwlwiwgynn pwnwpuyhl
Glpwlwengdwdpllinh L pwnwph Yuygnio
quinquiguw GapnpniduyhG spwgph hpwgdwia
UhongwenidGbn
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG
s c| 3 b O wuubph tnGwnbuwghnwwit = nudthn 1 b [ {
w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
- W Gwwuinbbp pinuobihg 4729 574,560.2 574,560.2 -
245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnpun 6,485,106.8 6,485,106.8 -
wyn pynd’
2. GplwlGh dawnpnuynhunbiGh wofuwnwlplbnh 2,761,183.56 2,761,183.5 -
Juquwlybpynid (wundhpwlduwds
[hwqnpnipgni GGER)
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 2,761,183.5 2,761,183.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. Ybpqbwnlyw FGunpuwnpwGuwnpunny 576,360.5 576,360.5 -
nupbnpunhnfuwnpdwl Gwewinipint
- UntpupnhwGtp ng $howbuwyub wEwnwywb 4511 576,360.5 576,360.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
4. dbpwlwengdwl L qupqugdwl 922,127.2 922,127.2 -
Gypnuwilyuil pwlyh wowlygnipjudp
hpwywGwgynn Eplwih dEwnpnwnhuinboh
Ybpwwenigdwl Gpypnpn spwghp
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Wy 6wluutp 4861 922,127.2 922,127.2 -
5. GYypnuwiyuil Gapnpnidughl pwlyh 879,531.8 879,531.8 -
wowlygni pjuid] wlwawgynn Gplwl
UGwnpnwn punbah JEpwlwemgdwa Epnypnpn
Spwghp (wunnd hpwldwo (hwqnpnipini GG6n)
- Uj) Swiuutbn 4861 879,531.8 879,531.8 -
6. Gypnuwlyuwl shnippwl hwplwlnipjwl 1,345,903.8 1,345,903.8 -
GGpnpnduyhl Spugph wowlgnipwdp
hpwywGwgynn Eplwih dEwnpnwnhuinboh
Ybpwlwen gdwl Epypnpn npwdwGnphughl
Spwaghp (wunnd hpwldwo (hwqnpnipini GG6n)
- Uj) Swiuubn 4861 1,345,903.8 1,345,903.8 -
2470104 | 7 | 0 | Uy plwqudwnrGbp 15,000.0 15,000.0 -
nphg’
2473|04 | 7 | 3 |2pnuwppontpintl 15,000.0 15,000.0 -
wyn pynid’
1. 2pnuwippgnipjul qupquigntd 15,000.0 15,000.0 -
- Uyl pbpwghy npwiw0Gnphbtn 4639 15,000.0 15,000.0 -
2490104 | 9 | 0 | SGwnbuwlwl hwpwpbpnipinGabp (wy (5,803,800.0) 792,578.1 (6,596,378.1)
nwubphl swuwnluwbnn)
nphg’
2491/04 | 9 | 1 |SGnBuwywl hwpwptnnignLbGbp (wy) nwubphG (5,803,800.0) 792,578.1 (6,596,378.1)
swwuinywlnn)
wyn pynid’
1. QpnyG6ph wnbnwnpnid 54,000.0 54,000.0 -
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

o523 E ,:3 pintetinwihb Swuutinh nnbuwghwnwywa = Junswywb pnigt | $nlnuyhl pyniet

= nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 54,000.0 54,000.0 -
2. Upwilygnipini O hwdwylipuyhla 23,691.0 23,691.0 -
Ywqdwlbpuwnipin GGERHG
hninwnpyuwynpnipini GGGpH hbwn uwwds
whyAwp Sweuwyntpin GGbph dwwnnigdwl b
qliptquwluwwnbtiph wwhwwldwa hwdwn
- LOpwghy npwdwbnphbbp wewnwywb L 4637 23,591.0 23,591.0 -
hwdwyGpltbph ng wrlnpwihG
Juaqiwybpwnipyntbtnhl
3. Ywrpwdwpdwl L wnGnEyunywlwa 134,657.1 134,657.1 -
wbfulnnghwlbph qupquignid
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 134,657.1 134,657.1 -
(hwiwybpwih0) Yuwgiwytnpwnipyntbbbph
4. Upwiygnipini O hwdwylpuyhl L ng 252,000.0 252,000.0 -
hwiwyGpuyhl uqdwlbpwnipim Gabph
opwanbph
- Uy pbpwghy npwiw0Gnphbtn 4639 200,000.0 200,000.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 52,000.0 52,000.0 -
Juaqiwybpwnipyntbtnhl
5. N5 phGwluwluwl whywnhdbbph ownnwpnidhg (6,607,378.1) - (6,607,378.1)
dnuunpbin
uucunNg ant3eh hPUSNHUhS UNESLEN 8111 (1,300,000.0) - (1,300,000.0)
<N1h hPUSNHUKS UNESLEN 8411 (5,307,378.1) - (5,307,378.1)
6. SnGwlywl dbwynpmd 40,000.0 40,000.0 -
- LuhpwwnynipntbGbp wy whniyp shGunwwGnnn 4819 40,000.0 40,000.0 -
Juaqiwybpwnipyntbtphl
7. <wugbwynpdwl wpfuwnwGplbn 135,000.0 135,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 135,000.0 135,000.0 -
8. Lbpnpniduyhl spwgnbph hpwywlwgnid 128,200.0 128,200.0 -
- SEnGYwuinywywh swewjnipyntGbbn 4234 8,200.0 8,200.0 -
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 120,000.0 120,000.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
9. Nwpuwnwnhp YXwplbph quaddwl 13,410.0 13,410.0 -
Swpwyntpn GGG
- SknGYwuinywywh swewjnipyntGlbn 4234 13,410.0 13,410.0 -
10. Upwldbwhwnn i wuydwGlEph Yuphp 13,000.0 2,000.0 11,000.0
nLGbgnn wGdwlg hwdwn dunsbhnipjwl
wwwhnynid
- Mwpuwnhp y&wnobn 4823 2,000.0 2,000.0 -
- Wy dbpbOwobn L uwppwynpniibbp 5129 11,000.0 - 11,000.0
11. Uyplwnpwlpuyhl wpluwanwlpuyhl 9,720.0 9,720.0 -

Swipwynt pywl hpwluwlwgnid
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w 2 3 2 pInLetnwy n g £ = Junswywl pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Untpuhnhwlbp $howbuwlyub wbinwywh 4512 9,720.0 9,720.0 -
(hwiwybpwih0) Yuwgiwytnpwnipntbbbph

2500(05|0 | 0 cNRUYU Uhudu3Nh mucsmuuNnt@3Ntu 919,121.8 724,985.4 194,136.4
wyn pynLd’

2510/05| 1 | 0 |Unpwhwlnid 264,102.4 264,102.4 -
nphg’

2511{05| 1 | 1 |UnpwhwOntd 264,102.4 264,102.4 -
wyn pynLd’
2. Unpwininbiph uywuwnpldwa b 264,102.4 264,102.4 -
2hGuwpwpuwlywl wnph wnbnuhnfudwl
Swpwyntpn GGG
- UndntGwy SwrwynipntbbBn 4213 264,102.4 264,102.4 -

2530|105 | 3 | 0 |Cpowlw dhowduyph wnunnundwa nbd wwypwn 38,683.0 38,683.0 -
nphg’

2531(05| 3 | 1 |Onh wnununiwl nbd wwypwnp 38,683.0 38,683.0 -
wyn pynid’
1. QGwnbiph hniG6ph dwppmid 38,683.0 38,683.0 -
- UndntGwy SwrwjnipntbbBn 4213 38,683.0 38,683.0 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 616,336.4 422,200.0 194,136.4
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 616,336.4 422,200.0 194,136.4
swwuinywlnn)
wyn pynid’
1. Ywlws tnwpwdplbph hhoGnid L 184,136.4 90,000.0 94,136.4
wwhuwwbni g
- UndntGwy SwrwjnipntbbBn 4213 30,000.0 30,000.0 -
- <wwnnty GwwuinwywihG wyp nepkn 4269 20,000.0 20,000.0 -
- LOpwghy npwdwbnphbbp wewnwywb L 4638 40,000.0 40,000.0 -
hwdwjopwht wrluinpwiht YuwqdwytpwneentGbsph
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 94,136.4 - 94,136.4
4. Uhquiwpgbiph utnbinénid L dwnyuwwwiuinnid 312,200.0 212,200.0 100,000.0
- <wwnnty GwwuinwywihG wyp nepkn 4269 20,300.0 20,300.0 -
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 191,900.0 191,900.0 -
Juaqiwybpwnipyntbtphl
- Ujnepbp L wwpwqwlep 5221 100,000.0 - 100,000.0
5. Bunhwenn Y&lGnwahGbph JGwuwqbndnid 120,000.0 120,000.0 -
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Snnh
Kl
Pwdhi
hunuip

"

Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwywb

nuuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywirh
MM

7

8

- W 6wfuubin

4861

120,000.0

120,000.0

2600

06

pLULUNULUSPL ChLUuNuNNEHB3NFL G4
unuUNFLUL dunu3nke@3NtuLEN

9,758,096.8

5,822,765.6

3,935,331.2

wyn pynLd’

2610

06

PhUwhwnwluyhl ;hlGwpwpnipim G

3,618,331.2

5,000.0

3,613,331.2

nphg’

2611

06

ROwywpwlwihb 2hGwpwnninLl

3,618,331.2

5,000.0

3,613,331.2

wyn pynLd’

1. hapGuwlwd Yuwrnyglbnh pwlnnid

5,000.0

5,000.0

- W 6wfuubin

4861

5,000.0

5,000.0

2. 9nppnpn wuwnhAwlh Jpwpuyhl 26Gpkph
pwlindwl htwnbwlpny

pawlywnwpwdént pin GGbphg gpyywé
pawlhsGEph thnfuhwwnnigdwl hwdwn
phwlwnwGGbph d6rppbpmd

3,613,331.2

3,613,331.2

- Gtlpbnh L 2hbnpyniGbbnh dGrppEnnLd

5111

3,534,750.0

3,534,750.0

- GLlpbnh L 2hOneyntGbEnph Yurenigned

5112

78,5681.2

78,681.2

2630

06

Bnwdwwnwluwpwpntd

3,049,011.0

3,049,011.0

nphg’

2631

06

Snwdwinwywpwpned

3,049,011.0

3,049,011.0

wyn pynid’

1. dpwlupuyh <wlpwwbnnipiuwla
Yupwdwpn piul wowlgni prudp
hpwlwGwgynn GplwGh
opwdwwnwywpwnpdwl L gnwhbrwgdwl
Spwaphl wnpwdwnpydnn wnbfubhyuwlwa
wowlgnipjwl épwaghp (wuwwnydhpwlyyuwos
[hwqnpnipni GGER)

1,911,095.7

1,911,095.7

- W 6wfuubin

4861

1,911,095.7

1,911,095.7

2. Ybpwlhwenigdwl L qupquigdwl
Gypnwuwlwl puwlyh wowlgnipjudp
hpwlwGwgynn GplwGh
gnwiwwnwlwpwpiwl puwpbywydwl Spughn
(wuinyhpuwydwd hwgnpnipiniGG6n)

712,672.5

712,672.5

- W 6wfuubin

4861

712,672.5

712,672.5

3. GYpnwuwlywiG dhnipjwl hwpbwbni ppul
GGpnpnduyhl Spugph wowlgnipwdp
hpwlwGwgynn GplwGh
onwdwinwluwpuwpdwl pwnpbywddwl
ppwdwGnphuyhl spwghp (wwindhpwlydws
[hwqnpnipni GGEp)

154,222.5

154,222.5

- W 6wfuubin

4861

154,222.5

154,222.5

4. Gypnuwuwiywl GEpnpntduyghl puGyh
wowlygni pruid], wlwawgynn Gplwd
gnwiwwnwlwpwpiwl puwpbywydwl Spughn
(wuinyhpuwlydwd hwgnpnipiniGG6n)

154,222.5

154,222.5
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MM
Puwdhl

Snnh
hunuip

"

Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwywb

nuuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywirh
MM

7

8

- W 6wfuubin

4861

154,222.5

154,222.5

5. GYpnuwluil Ghpnpntduyghl pwllyh
wowlygni pjwid) whwawgynn Gplwg,
onwdwinwluwpuwpdwl pwnbywddwl
ppwdwGnphuyhl spwghp (wuwindhpwlydwés
[hwqnpnipni GGER)

116,797.8

116,797.8

- W 6wfuubin

4861

116,797.8

116,797.8

2640

06

®nnnghtiph ntuwynpnid

2,161,973.0

2,121,973.0

40,000.0

nphg’

2641

06

®nnnglbph |nLuwynpnid

2,161,973.0

2,121,973.0

40,000.0

wyn pynd’

1. UninwphlG jnruwdnpnipiuwl gulgh

hhdGwaGnpngnd

40,000.0

40,000.0

- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid

5113

40,000.0

40,000.0

2. Upwnwphl nruwdnpnipuwl gulgh
Jwhwaqnpodwl L wwhwwGdwa

wpfuunnuwliplbin

2,121,973.0

2,121,973.0

- W 6wfuubin

4861

2,121,973.0

2,121,973.0

2650

06

PhUwuwnwluyhl ;hbwpwpnipjwa b YndniGuy
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn

8,000.0

8,000.0

nphg’

2651

06

POwywpwbwhb 2hbwpwnnipjwb L YyndntGuwy
SwrwjnLpntbbEph gény hunwgnunwyw L
Owfuwgbwihb wpfuwwnwbpltbn

8,000.0

8,000.0

wyn pynid’

1. CGaptinh L phGnipnt GGGph hGwnwgnundwl
wpfuunnuwliplbin

8,000.0

8,000.0

- LwjuwgswhbGunwgnunwywb dwiuutin

5134

8,000.0

8,000.0

2660

06

PhUwuwnwluyhl ;hbwpwpnipjwa b YndniGuy
SwewynipyntGGEn (wy nwubpha swwunluwlnn)

920,781.6

646,781.6

274,000.0

nphg’

2661

06

POwywpwlwihb hGwpwnnipjwb L YyndntGuwy
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

920,781.6

646,781.6

274,000.0

wyn pynid’

3. Buwluyhl wnwpwéplbiph L
[uwnwhpwwwpwlyGbph hhdGwanpngnid ni
wwhuwwbni g

362,000.0

230,000.0

132,000.0

- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b
wwhwwntd

4251

30,000.0

30,000.0

- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn
Juaqiwybpwnipyntbtphl

4819

200,000.0

200,000.0
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w 2 3 2 pInLetnwy n g £ = Junswywl pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 132,000.0 - 132,000.0
4. Puqidwplwlupwl p6Gpbnh pwnbliwnqdwl 60,000.0 10,000.0 50,000.0
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngnid 5113 50,000.0 - 50,000.0
5. 2pnuyhl Yueniyglbinh whwagnpdénid L 320,000.0 320,000.0 -
wwhuwwbni g
- Uj) Swiuubn 4861 320,000.0 320,000.0 -
6. Ywpuwyunnlbph wwhwwinid 26,781.6 26,781.6 -
- LOpwghy npwdwbnphbbp wewnwywb L 4638 26,781.6 26,781.6 -
hwdwjopwht wrluinpwiht YuwqdwytpwneentGbsph
7. QudwpwgnidGliph b wyy 2hGnipiniGaGph 60,000.0 60,000.0 -
Ybpwanpngnid L gniGwqupnnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 60,000.0 60,000.0 -
wwhwwntd
8. Ypwnuyhl wuwnyquidpabph Gnpngnid 70,000.0 - 70,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 70,000.0 - 70,000.0
9. Ynyninuwigdbiph Yurnignid L Ypwlnpngnid 22,000.0 - 22,000.0
- GLlpbnh L 2hOnepyntGOBnph Yuwwhunwy yepwbnpngnid 5113 22,000.0 - 22,000.0

2700070 | O unnaaunu<nt@3Ntu 108,527.0 15,500.0 93,027.0
wyn pynLd’

2710|107 | 1 | 0 | Ayl wypwlplbp, uwppbp b 71,500.0 - 71,500.0
vwppwynpnidlabp
nphg’

271107 | 1 | 1 |Ybnwgnpswywl wwnpwbplbn 71,500.0 - 71,500.0
wyn pynLd’
1. Upnnowwwhwlwl JuquwlybnwnipiniGGGnph 71,500.0 - 71,500.0
hwiwn pd>Yuwlul uwppwynpmdabph
dbrppbpnid
- Wy dbpbawobn L uwppwynpniibbp 5129 71,500.0 - 71,500.0

2760|107 | 6 | 0 | Urnnowuwwhnigynil (wy nwubphG 37,027.0 15,500.0 21,527.0
swunnljulinig)
nphg’

2761|07 | 6 | 1 |Urnnowwwhwywb hwpwyhg dwrwjnipntbltn L 37,027.0 15,500.0 21,527.0
Spwgntin
wyn pynid’
1. Upnnowwwhwlwl oplblunGlph 25,027.0 3,500.0 21,627.0
hhdGwaGnpngnid
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222 | e 15 T
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb ES- et Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9
- Uy pbpwghy npwiwz0Gnphbtn 4639 3,500.0 3,500.0 -
- GLlpbnh L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 21,527.0 - 21,527.0
2. Ndyuwpnwidunsbrh hburnwgnunnipiniGG6ph 12,000.0 12,000.0 -
hpwluwlwgnid
- Uwubwghunwyw swrwjnipjntbbbn 4241 12,000.0 12,000.0 -
2800/08| 0 | O <UuLahus, ucuuntsme by urnu 3,101,800.4 2,054,700.4 1,047,100.0
wyn pynid’
2810/ 08 | 1 | 0 |<wlquuwnh L uynpuwnh GwrwynipiniGaGn 722,000.0 372,000.0 350,000.0
nphg’
281108 | 1 | 1 |<wOquunh L uwynpunh SwrewnipntbGbp 722,000.0 372,000.0 350,000.0
wyn pynid’
1. Uynpunughl dhongwrnt dGEph 84,000.0 84,000.0 -
Juquwlbpwnid
- Uy pbpwghy npwiw0Gnphbtn 4639 84,000.0 84,000.0 -
2. <wlquwnp gnunplbiph L gpnuuwyghlGbph 590,000.0 240,000.0 350,000.0
Juipnigmid m wwhujwGnig
- Uyl pbpwghy npwiw0Gnphbtn 4639 40,000.0 40,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 200,000.0 200,000.0 -
Juaqiwybpwnipyntbtnhl
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 350,000.0 - 350,000.0
3. <Géwhdwhpuwwwpwlh whwanpénid 48,000.0 48,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtGOEn 4239 48,000.0 48,000.0 -
2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipinGGbp 2,317,975.4 1,620,875.4 697,100.0
nphg’
2821/ 08| 2 | 1 |Qpwnwpwbbn 433,837.6 183,837.6 250,000.0
wyn pynid’
1. Qpuinwpwluyhl swewynipintGG6n 183,837.6 183,837.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 183,837.6 183,837.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. QpuinwpnwlGbph hhdGwlnpngmnid 250,000.0 - 250,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 250,000.0 - 250,000.0
2822|108 | 2 | 2 |BwlOgwpw(Gtn L gniguwupwhObn 365,227.7 265,227.7 100,000.0
wyn pynid’
1. Bwlqupwluyhl swrwynipintGGbn L 265,227.7 265,227.7 -
gnigwhwlnbulbp
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 265,227.7 265,227.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2. BwlqupwlGbph Gnpngnid 100,000.0 - 100,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 100,000.0 - 100,000.0

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnbGenp 97,100.0 - 97,100.0
wyn pynLd’
2. Vowlynyph wnlbph hhdGwnpngnid L 97,100.0 - 97,100.0
YGpwlnpngnid
- GLlpbnh L 2hOnepyniGbEnph Yuwwhunwy yepwbnpngnid 5113 97,100.0 - 97,100.0

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieyniGbbn 963,438.5 713,438.5 250,000.0
wyn pynid’
1. Vpwiynipuyhl dhonguenidabph 463,500.0 463,500.0 -
hpwlwbwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 463,500.0 463,500.0 -
2. YGhnwlwpwlwlwl wignt 249,938.5 249,938.5 -
gnigunpnipnt GGGp
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 249,938.5 249,938.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. Ybanwlwpwlwlwh wignt hhoGulnpngnid 250,000.0 - 250,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 250,000.0 - 250,000.0

2825/08 | 2 | 5 |UpyLuwn 448,371.6 448,371.6 -
wyn pynLd’
1. Gpnuwdrwnwnybuwnp L wwpwpdbuwnh 89,029.0 89,029.0 -
hwdbpqlbp
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 89,029.0 89,029.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Bunnbpwlwl Gapyuywgnidabn 359,342.6 359,342.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 359,342.6 359,342.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2827|108 | 2 | 7 |<nipwupdwbbEph L dwynipwihb wndtpltbph 10,000.0 10,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynid’
1. <nipwipdwlGbph Jbpwlnpngnid L 10,000.0 10,000.0 -
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd

2830|108 | 3 | 0 |Nwnhn b hbeniuwnwhwnnpnnidGeph 36,000.0 36,000.0 -
hGpwpdwydwa L hpwwnwpwlswlwa
SwpwyntpynLGGEN
nphg’

2831|108 | 3 | 1 |<GrniunwrwnhnhwnnpnnidGbp 36,000.0 36,000.0 -

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. Puwnwpwwbunwpwih wofuwnwlplbbpnh 36,000.0 36,000.0 -
[nLuwipwln g
- Uwubwghunwyw swrwjnipjntbbbn 4241 36,000.0 36,000.0 -

2840|108 | 4 | 0 | YpnbGwlw b hwuwpwluwlwl wyy 25,825.0 25,825.0 -
SwpwyntpynLGGEN
nphg’

2843|08 | 4 | 3 |UpnOwywl L hwuwpwywywb wy SwewntpnLtbabn 25,825.0 25,825.0 -
wyn pynd’
1. UGnwdwlygnm pyulb YKwnlbp 25,825.0 25,825.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 25,825.0 25,825.0 -
Juaqiwybpwnipyntbtnhl

2900(09|0 | O urPENH33NHL 17,274,340.1 15,842,595.2 1,431,744.9
wyn pynLd’

2910109 | 1 | 0 | bwfuwnuwpngwlwa L wtnuppwlwa pGnhwnin 7,243,903.1 7,043,903.1 200,000.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppneentd 337,300.3 137,300.3 200,000.0
wyn pynLd’
1. Lwfuwi nquljwii niunignid 134,806.0 134,806.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 134,806.0 134,806.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Lwfuw ngquilywil ntuntgdwl 200,000.0 - 200,000.0
Yuwquowybpuwdwl hwdwn wihpwdbwn gniyph
dbpp pbpnid
- Wy dbpbOwobn L uwppwynpniibbp 5129 200,000.0 - 200,000.0
3. Lwfuw ngquiljwl nLpInLl 2,494.3 2,494.3 -
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 24943 24943 -

2912|109 | 1 | 2 |Swppwywb pGnhwbnip Yppnipntl 6,906,602.8 6,906,602.8 -
wyn pynid’
1. <wlpwyppwlwl niunignid 6,201,182.2 6,201,182.2 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 6,201,182.2 6,201,182.2 -
2. <unnniy Yppnipint G 176,818.3 176,818.3 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 176,818.3 176,818.3 -
3. Ubpwewlwl Yppnipint 528,602.3 528,602.3 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 528,602.3 528,602.3 -

2920|109 | 2 | 0 |Uholwlwng paGnhwGnip Yppnipini 8,146,130.6 8,146,130.6 -
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2921| 09 1 [<hdbwywl panhwbnep Yppnipintl 7,859,634.0 7,859,634.0 -
wyn pynLd’
1. <wlpwyppwlwl niunignid 7,155,032.2 7,165,032.2 -
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 7,155,032.2 7,155,032.2 -
2. <unnniy Yppnipint G 197,064.7 197,064.7 -
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 197,064.7 197,064.7 -
3. Ubpwewlwl Yppnipint 499,508.7 499,508.7 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 499,508.7 499,508.7 -
4. Gpbymw Yppnipint G 8,028.4 8,028.4 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 8,028.4 8,028.4 -

2922|109 | 2 | 2 |UhoGwywng (\phd) pGnhwGnip Yppnipintl 286,496.6 286,496.6 -
wyn pynLd’
1. <wlpwyppwlwa niunignid 244,755.6 244,755.6 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 244,755.6 244,755.6 -
2. <unnniy Yppnipint G 33,743.9 33,743.9 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 33,743.9 33,743.9 -
3. Ubpwewlwa Yppnipint 204.9 204.9 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 204.9 204.9 -
4. Gpbymw Yppnipint G 7,792.2 7,792.2 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtGOEn 4239 7,792.2 7,792.2 -

2950|109 | 5 | 0 | Luwn bwluwpnuwlGGph snwuwlwpgynn 1,291,755.4 610,010.5 681,744.9
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 1,291,755.4 610,010.5 681,744.9
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 439,321.3 439,321.3 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 56,541.6 56,541.6 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 382,779.7 382,779.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Upnunnwnuwpnguilul 611,744.9 - 611,744.9
YwquiwlbpuwnipiniGGEpH hhoGuwlnpngnid L
YGpwlnpngnid
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 611,744.9 - 611,744.9
3. «<wiynp Ynomwily Yppwhwdughn MNUY- 7,980.2 7,980.2 -
nLd wpunw nquiluwl nuwuwnhwpwlyni pjuwlb
Juquwlybpynid (wuwndhpwlduws
[hwqnpnipni GGER)
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b { {

w = 3 &= pinL9 J n q e Jwpswywa pnie Snlnwjh pjnLok

a| 2 nwuwyungiwb hnnqwébbph  wadwaniiabnp =
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 7,980.2 7,980.2 -
4. Gpuwdruwnwlwl L wpybunp nupnglbpnid 162,709.0 162,709.0 -
wqquyhl jwpuyhl L thnnuyhl Gduwquipwbabnh
qony munmgmd
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 162,709.0 162,709.0 -
5. Ununwnwpnguilul 70,000.0 - 70,000.0
Yuwqdwlbpunipint GG6EpH hwdwp wihpwdtzwn
qniph dbep papnid
- Wy dbpbOwobp L uwppwynpniibbp 5129 70,000.0 - 70,000.0

2960|109 | 6 | 0 | Yppnipywlp wpwdwnpynn odwlnwy 592,551.0 42,551.0 550,000.0
SwpwyntpynLGGEN
nphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy dwrwjnientbGbbn 592,551.0 42,551.0 550,000.0
wyn pynLd’
1. Lwfuwi nquiljuwil hwuwnuwiinni pint GGG 550,000.0 - 550,000.0
hhdGwGnpngnid L JpwGnpngnid
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 550,000.0 - 550,000.0
2. wypnguluwiGlGbph ojhdwhwnwlbph b wyy 16,310.0 16,310.0 -
Uhongwpem dG&ph Yuquiwlbpwni o
- Uyl pbpwghy npwiw0Gnphbtn 4639 16,310.0 16,310.0 -
3. Unghuywwybu wiwwwhny wpwlbnunGbnhG 26,241.0 26,241.0 -
wiyAwn nuuwgppbpnd wwwhnynid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Uy pbpwghy npwiw0Gnphbtn 4639 26,241.0 26,241.0 -

3000{10| 0 | O unshuLuyuu nucsSMULNH33NFL 988,444.0 988,444.0 -
wyn pynid’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipintGGEn (wyy 246,400.0 246,400.0 -
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 246,400.0 246,400.0 -
nuwubphb swywunywbnn)
wyn pynLd’
3. Unghuwywuwbu wlwwwhny pGunwGhplbphG 166,400.0 166,400.0 -
wnnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp nepkn 4269 78,400.0 78,400.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 12,400.0 12,400.0 -
- W Gwwuinbbp pinuobihg 4729 10,600.0 10,600.0 -
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 65,000.0 65,000.0 -

Juaqiwybpwnipyntbtphl
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

s c| 3 b O wuubph tnGwnbuwghnwwit = nudthn 1 b [ {

w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

4. Unghuwywiwbu wliwwwhny wadwlg 65,000.0 65,000.0 -
wowlgnipint G
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 20,000.0 20,000.0 -
- W Gwwuinbbp pinuobihg 4729 15,000.0 15,000.0 -
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 30,000.0 30,000.0 -
Juaqiwybpwnipyntbtnhl
5. <wuwnpwluwlwl Yuqdwlybpwnipini GGGphG 15,000.0 15,000.0 -
wowlgnipint G
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 15,000.0 15,000.0 -
Juaqiwybpwnipyntbtnhl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 742,044.0 742,044.0 -
nwubphl swuwnluwbnn)
nphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 742,044.0 742,044.0 -
odwlnwy dwrwnipintbbtn (wy; nwutnhl
swwuinywlnn)
wyn pynd’
1. MGwnwlwl hhdGwplGbph L 675,432.0 675,432.0 -
Ywquiwlybpuwnipint6G6pH wfuwnnnlbnh
unghwjwywl thupbpny wwwhnynid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- W Gwwuinbbp pinuobihg 4729 675,432.0 675,432.0 -
2. Upnnontpjul wwwhnywapnipint 66,612.0 66,612.0 -
- Uywhnjwgnwywb dwfuutin 4215 66,612.0 66,612.0 -

3100/11|0 | O <hULuyuvu AUGhLLGNPL 2NUUYNN 3,962,616.0 6,900,949.6 8,000.0

nULNFUSU3hL dNuIeN

wyn pynid’

3110111 | 1 | 0 | << Yuwrwdwpnipywa L hwdwylGpGbph 3,962,616.0 6,900,949.6 8,000.0
wwhniuwnuyhl pnhn
nphg’

3112111 | 1 | 2 | << hwiw)aplbph wwhniunwihG $nln 3,962,616.0 6,900,949.6 8,000.0
wyn pynid’
- MwhntuwnwihG dhengGbn 4891 3,962,616.0 3,954,616.0 8,000.0
-{wunyuwgned wwhrunwhb $nlnhg $nlnuwhb pjniok X - 2,946,333.6 -
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 2

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

uauou3uy JduNr2uuuu crRULh yuund

(hwaquwip npwabenny)

c |al o ANLobnwhG dwiuubnh gnpéwewywl nwuwlywngiwl | = wyn pynd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwkap

-:.% Z 3| E Eﬂ pintobinwihl swiuutinh inbwnbuwghnwywh o= Jwnswyw pniet | $nlnwhb pniob

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9
LLNUUBLL SUUBN 2,488,483.3 2,302,983.3 185,500.0
2100{01|0 | O oun<ULNEN ALNE3RBH <ULNU3LL 438,614.2 429,114.2 9,500.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 422,974.3 417,474.3 5,500.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 422,974.3 417,474.3 5,500.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 422,974.3 417,474.3 5,500.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 336,655.0 336,655.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 30,292.5 30,292.5 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 9,000.0 9,000.0 -
- UndntGwy SwrwjnipntbbBn 4213 200.0 200.0 -
- Ywwh SwrwjnipnLbGbn 4214 9,300.0 9,300.0 -
- Uywhnjwgnwywb dwfuutin 4215 150.0 150.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 300.0 300.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 820.0 820.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,500.0 1,500.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 600.0 600.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 5,000.0 5,000.0 -

Gnpngntd b wwhwwGnid
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 4,200.0 4,200.0 -
- Spwluwnpuwihb Gnipkn 4264 14,266.8 14,266.8 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojnubn 4267 1,000.0 1,000.0 -
- Mwpuwnhp y&wnobn 4823 120.0 120.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,500.0 - 5,500.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 8,639.9 8,639.9 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 8,639.9 8,639.9 -
SwrwjnLpntblGn
wyn pynid’
1. Puwnwpwghwlwl Gugnipjwl wiwnbph 8,639.9 8,639.9 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wuwndhpwlduws
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 7,394.1 7,394.1 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 323.2 323.2 -
- Ywwh SwrwjnipnLbGbn 4214 196.2 196.2 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 200.0 200.0 -
Gnpngntd b wwhwwGnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 417.3 417.3 -
- Ushgwnuwihb L hwbpwhG ubbnh OjneeGn 4267 100.0 100.0 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhl 4,000.0 - 4,000.0
SwewyntpynLGGEpH gény hbunwgnunwlwa b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGnip pGnyph hwOpwihb dwrwjnientGbEnh 4,000.0 - 4,000.0
qony hbuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynid’
1. Lwfuwqduyhl wipfuwnwlplbn 4,000.0 - 4,000.0
- LwjuwgéwhbGunwgnunwywb dwiuubin 5134 4,000.0 - 4,000.0

216001 | 6 | 0 | 2anhwGnip pGnyph hwapuyhl 3,000.0 3,000.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 3,000.0 3,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= pinL9 J n q e Jwpswywa pnie dnlnuwih pjncy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. MhdnidGbp, huwygunhdnidlabp, nuwnwpwih 1,000.0 1,000.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 1,000.0 1,000.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 2,000.0 2,000.0 -
qpuiGguwl, quwhwwndwl b
wnbnbyunynipiul tnpuwdwnpdwl hbun
Yuwdwo Jawpmoabn
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -

2200/02|/0 | 0 MUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuubphl swwuinlwGnn) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 2,000.0 2,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 2,000.0 2,000.0 -

2400/04|0 | O SLSGUULUUL <UNPurtMPNt@3NFLLEN 65,360.0 50,360.0 15,000.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 40,000.0 25,000.0 15,000.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 nnpwluwnpun 25,000.0 25,000.0 -
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 25,000.0 25,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 25,000.0 25,000.0 -
wwhwwntd

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 15,000.0 - 15,000.0
wyn pynid’
1. dbpbjuwyGph hhvGwlnpngnid 15,000.0 - 15,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 25,360.0 25,360.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwpwptnnignLbGbp (wy) nwubphG 25,360.0 25,360.0 -

swwuinywlnn)

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

9. Nwpuwnwnhp YXwplbph quaddwl 25,360.0 25,360.0 -
Swpwyntpn GGG
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 5,010.0 5,010.0 -
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 20,350.0 20,350.0 -
Juaqiwybpwnipyntbtnhl

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 415,564.5 415,564.5 -
wyn pynLd’

2510/05| 1 | 0 |Unpwhwlnid 293,564.5 293,564.5 -
nphg’

2511105| 1 | 1 [UnpwhwOntd 293,564.5 293,564.5 -
wyn pynLd’
1. Unpwhwlmpint G L uwlhunwpwluwl 293,664.5 293,664.5 -
duwppnid
- UndntGwy SwrwynipntbbBn 4213 293,564.5 293,564.5 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 122,000.0 122,000.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 122,000.0 122,000.0 -
swwuinywlnn)
wyn pynid’
1. Ywlws wnwpwdéplbph hhulGnid L 120,000.0 120,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbOGn 4213 120,000.0 120,000.0 -
2. UjuwnwhwOdwl L dhpwanwgbipnédwla 2,000.0 2,000.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwynipntbbBn 4213 2,000.0 2,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuururnHe3NFL B4 260,500.0 99,500.0 161,000.0

unUNHLUL Sunu3NtE3NFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 2,000.0 2,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 2,000.0 2,000.0 -
wyn pynid’
1. hapGwlwd uenyglbph pwannid 2,000.0 2,000.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 258,500.0 97,500.0 161,000.0

SwewynipynGGEn (wy nwubpha swwunlyuwlnn)

nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2661| 06 1 |ROwywnwlwihb zhbwpwpnipiwb L Yyndntbuwyg 258,500.0 97,500.0 161,000.0
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 20,000.0 20,000.0 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwlntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 26,000.0 10,000.0 16,000.0
wnwbhplbbiph YGpwblnpngnid
- <wwnnty GwwuinwywihG wyp ineptn 4269 10,000.0 10,000.0 -
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngnid 5113 16,000.0 - 16,000.0
3. Pwluyhl tnwipwdplbinh b 165,000.0 20,000.0 145,000.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwlni g
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwntd
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 140,000.0 - 140,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 5,000.0 - 5,000.0
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpqdwl 47,500.0 47,500.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 37,500.0 37,500.0 -
wwhwwntd
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpuwihb) ns 4521 10,000.0 10,000.0 -
$hlwluwywb Yugiwytnpwnipntbbbph

2800/08| 0 | O <UuLahus, ucuuntsme by urnu 89,280.7 89,280.7 -
wyn pynLd’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh GwrwynipiniGabn 5,000.0 5,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 5,000.0 5,000.0 -
wyn pynid’
1. Uynpunuyhl dhongwenidGbph 5,000.0 5,000.0 -
Yuqiwlbpwni d
- Uyl pbpwghy npwiw0Gnphbtn 4639 5,000.0 5,000.0 -

2820108 | 2 | 0 |Vpwlnipuyhl dwruwynipinGGLp 84,280.7 84,280.7 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 54,318.0 54,318.0 -
wyn pynid’
1. Qpunwpwluyhl SwewynipintGaLn 54,318.0 54,318.0 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b { {

w = 3 &= pinL9 J n q e Jwpswywa pnie Snlnwjh pjnLok

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Untpuhnhwlbp ng $hOwbuwywl wenwywb 4511 54,318.0 54,318.0
(hwiwybpwih0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy dawynipwihb YuqiwybpwnieyniGbbn 20,000.0 20,000.0
wyn pynLd’
1. Vpwiynipuyhl dhonguenidabph 20,000.0 20,000.0
hpwlwbwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 20,000.0 20,000.0

2825/08| 2 | 5 |UpyLuwn 9,962.7 9,962.7
wyn pynLd’
1. Gpnuwdrwnnwnybuwnp L wwpwpdbuwnh 9,962.7 9,962.7
hwdbpqlbp
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 9,962.7 9,962.7
(hwiwybpwih0) Yuwgiwytnpwnipyntbbbph

2900(09|0 | O urPENH33NHL 1,133,969.2 1,133,969.2
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 931,128.0 931,128.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepnta 931,128.0 931,128.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 931,128.0 931,128.0
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 931,128.0 931,128.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwluwpnuwlGGph snwuwlwpgynn 202,841.2 202,841.2
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 202,841.2 202,841.2
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 202,841.2 202,841.2
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 202,841.2 202,841.2
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 83,194.7 83,194.7
wyn pynid’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 44,100.0 44,100.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 44,100.0 44,100.0

nuwubphb swywunywbnn)

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2. <wpuwquin sniabgnn wadwag b 4,500.0 4,500.0
unghwjwwbu wawuwwhny plunwlhplbnh
hwdwp hninwipyuwynpnipywl uqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 4,500.0 4,500.0
3. Unghuwywuwbu wlwwwhny pGunwGhplbphG 27,280.0 27,280.0
wnlwlul b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp inptn 4269 680.0 680.0
- Uy pbpwghy npwiw0Gnphbtn 4639 26,600.0 26,600.0
4. Unghuwywiwbu wliwwwhny wadwlg 9,820.0 9,820.0
wowlgnipint G
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 4,320.0 4,320.0
- W Gwwuinbbp pinuobihg 4729 2,500.0 2,500.0
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 3,000.0 3,000.0
Juaqiwybpwnipyntbtnhl
5. <wuwnpwluwlwl Yuqdwlybpwnipini GGGphG 2,600.0 2,500.0
wowlgnipint G
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 2,500.0 2,500.0
Juaqiwybpwnipyntbtphl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 39,094.7 39,094.7
nwubphl swuwnluwbnn)
nphg’

3091/10| 9 | 1 |Unghwjwywl wwawwwbnipntl (wy nwubph 29,214.7 29,214.7
swwuinywlnn)
wyn pynid’
1. UnghuwywlwG oqlnipjuwl dweuwynipintGGGph 29,214.7 29,214.7
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 28,493.7 28,493.7
hwyblwydwnbbp
- Ywwh SwrwjnipnLbGbn 4214 350.0 350.0
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 321.0 321.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 50.0 50.0

3092/ 10| 9 | 2 |Unghwjwywl wwwnwwbntpjwbp tnpwdwnpynn 9,880.0 9,880.0
odwlnwy dwrwnipintbbtn (wy nwukphl
swwuinywlnn)
wyn pynid’
2. Uennonipjuwl wwwhnywagpnipint 9,880.0 9,880.0
- Uywhnwgnwywb dwfuutin 4215 9,880.0 9,880.0
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 3

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

udyudu Jyunruuuu crauuh vuund

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 1,502,147.2 1,476,847.2 25,300.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 350,218.0 346,218.0 4,000.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 342,332.3 339,332.3 3,000.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 342,332.3 339,332.3 3,000.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 342,332.3 339,332.3 3,000.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 256,767.0 256,767.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 23,102.8 23,102.8 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 14,226.8 14,226.8 -
- UndntGwy SwrwjnipntbbBn 4213 1,000.0 1,000.0 -
- Ywwh SwrwjnipnLbGbn 4214 9,000.0 9,000.0 -
- Uywhnjwgnwywb dwfuutin 4215 310.0 310.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 2,000.0 2,000.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 500.0 500.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 2,200.0 2,200.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 5,000.0 5,000.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 4,000.0 4,000.0 -
- Spwluwnpuwihb Gnipkn 4264 16,405.7 16,405.7 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwhG ubbnh Ojneebn 4267 1,500.0 1,500.0 -
- Mwpuwnhp y&wnobn 4823 250.0 250.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 3,000.0 - 3,000.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 5,785.7 5,785.7 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbnh/ génd pGnhwbnip pbnyeh 5,785.7 5,785.7 -
SwrwjnLpntblGn
wyn pynid’
1. Pwnwpwghwlwl ugnipiulb wliwnbnph 5,785.7 5,785.7 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wuwndhpwlduws
[hwqnpnipgni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 4,954.8 4,954.8 -
hwyblwydwnbbp
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 821.8 821.8 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhG 1,000.0 - 1,000.0
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn
nphg’

2151/ 01| 5 | 1 [2GnhwGnip pGnyph hwOpwihb dwrwjnientGbEnph 1,000.0 - 1,000.0
qony hGuinwgnunwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynid’
1. Lwfuwqduyhl wipfuwnwlplbn 1,000.0 - 1,000.0
- LwjuwgswhbGunwgnunwywb dwiuukin 5134 1,000.0 - 1,000.0

216001 | 6 | 0 | 2anhwanip pGnyph hwapuyhl 1,100.0 1,100.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pOnyph hwOpwihb swrwnipnLtGOGn (wy 1,100.0 1,100.0 -
nuwubphb swywunywbnn)
wyn pynid’
1. DhdnidGbp, huwygunhdnidlbp, nuinwpwiGh 500.0 500.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YAwpnidabp
- Mwpuwnhp y&wnobn 4823 500.0 500.0 -
2. Qnyph Gyundwdp hpwyniGplabph 600.0 600.0 -

qnulguwl, qhGwhwwndwl L
wbn&yunynipiwl inpuwdwnpdwl hbwn
Juwdwo JAwpnidabn
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222 | e 15 T
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb ES- et Jwpswyw pniot | $nlnuwyhb pneet
a| 2 nwuwyungiwb hnnqwébbph  wadwaniiabnp =
1 12 |3 |4 5 6 7 8 9

- Mwpunwnhp y&wnobn 4823 600.0 600.0 -

2200(02|0 |0 nUCSTULNHB3NFL 2,500.0 2,500.0 -
wyn pynd’

2220|102 | 2 | 0 | Pwnuwpuwghwluwl ww)wnwwbnipint 1,000.0 1,000.0 -
nphg’

2221|102 | 2 | 1 |Pwnwpwghwywl wwunwwbnigntl 1,000.0 1,000.0 -
wyn pynd’
1. Puwnwpwghwlwl wuwpwnwwan pjuwala 1,000.0 1,000.0 -
wowlygnipint G
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 1,000.0 1,000.0 -

2250|102 | 5 | O | Nwpwwuwlnipnt G (wyy nuubphl swwuwnlwGnn) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 1,500.0 1,500.0 -
- Uyl pbpwghy npwiw0Gnphbtn 4639 1,500.0 1,500.0 -

2400|040 | O SULSGUUUUL <UPurtMPNH@3NFLLEN 65,800.0 57,800.0 8,000.0
wyn pynid’

2450|104 | 5 | 0 | Spwhuwynpwn 53,000.0 45,000.0 8,000.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwluwnpun 45,000.0 45,000.0 -
wyn pynid’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 45,000.0 45,000.0 -
L wwhwwlng
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 45,000.0 45,000.0 -
wwhwwntd

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 8,000.0 - 8,000.0
wyn pynLd’
1. Ybpbjwllbph hhoGwanpngnid 8,000.0 - 8,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 8,000.0 - 8,000.0

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 12,800.0 12,800.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwpwptnnignLbGbp (wy) nwubphG 12,800.0 12,800.0 -

swwuinywlnn)

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

9. Nwpuwnwnhp YXwplbph quaddwl 12,800.0 12,800.0 -
Swpwyntpn GGG
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 3,677.6 3,677.6 -
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 9,122.4 9,122.4 -
Juaqiwybpwnipyntbtnhl

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 377,152.3 377,152.3 -
wyn pynLd’

2510/05| 1 | 0 |Unpwhwlnid 262,152.3 262,152.3 -
nphg’

2511{05| 1 | 1 |UnpwhwOntd 262,152.3 262,152.3 -
wyn pynLd’
1. Unpwhwlmpint G L uwlhunwpwluwl 262,152.3 262,152.3 -
duwppnid
- UndntGwy SwrwynipntbbBn 4213 262,152.3 262,152.3 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 115,000.0 115,000.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 115,000.0 115,000.0 -
swwuinywlnn)
wyn pynid’
1. Ywlws wnwpwdéplbph hhulGnid L 115,000.0 115,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbOGn 4213 115,000.0 115,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuUuruQrnHe3NHL B4 163,600.0 150,300.0 13,300.0

unUNHLUL Sunu3NtE3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 1,000.0 1,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 1,000.0 1,000.0 -
wyn pynLd’
1. hapGwlwd uenyglbph pwannid 1,000.0 1,000.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 162,600.0 149,300.0 13,300.0
SwewynipynGGEn (wy nwubpha swwunlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywnwlwihb zhGwpwpniywb L Yndntbuwyg 162,600.0 149,300.0 13,300.0

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. Pwquiwpbwluwpwl p6Gpbph hwpp 16,000.0 16,000.0 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 16,000.0 16,000.0 -
wwhwwlntd
2. Pwquiuwpbwluwpwl p6Gpbph pbip 13,300.0 - 13,300.0
wnwbhplbbiph YGpwblnpngnid
- GLlpbph L 2hOnepyntGbbnph Yuwwhunwy yepwbnpngnid 5113 13,300.0 - 13,300.0
3. Pwluyhl tnwipwdpllinh b 36,300.0 36,300.0 -
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- <wwnnty GwwuinwywihG wyp neptn 4269 26,300.0 26,300.0 -
- Untpuhnhwbp ng wewnwywb (ng hwdwOpuwihb) ns 4521 10,000.0 10,000.0 -
$hlwluwywb Yugiwytnpwnipntbbbph
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpqdwl 97,000.0 97,000.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 97,000.0 97,000.0 -
wwhwwntd

2800(08| 0 | 0 <UuLahus, ucuunt3me b4 urnu 66,823.2 66,823.2 -
wyn pynLd’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh 6wrwynipiniGabn 3,000.0 3,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpunh SwrwjnipnttGbp 3,000.0 3,000.0 -
wyn pynLd’
1. UynpunuyhG dhongurnidabph 3,000.0 3,000.0 -
Yuqiwlbpwni d
- Uy pbpwghy npwiw0Gnphbtn 4639 3,000.0 3,000.0 -

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipinGGbp 63,823.2 63,823.2 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 8,944.5 8,944.5 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGLn 8,944.5 8,944.5 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 8,944.5 8,944.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 [Uwyniph inbkn, wynidpbtn, YebwnpnbGenp 13,378.7 13,378.7 -
wyn pynid’
1. <wduylpuyhl drwlynyph b wquwn dwdwlgh 13,378.7 13,378.7 -
Yuqiwlbpwni d
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 13,378.7 13,378.7 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

] £l 3 Guwjh( Swiuubph nGunbuwghinwywl = fruattn 1 b anwihG

w = 3 &= pinL9 J n q e Jwpswywa pnie Snlnwjh pjnLok

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2824| 08 4 Uy dwynipwihb YuwaqdwytpwnieyniGbbn 41,500.0 41,500.0
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 41,500.0 41,500.0
hpwlwbwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 41,500.0 41,500.0

2900(09|0 | O urPENH33NHL 414,222 .3 414,222 .3
wyn pynid’

2910|109 | 1 | 0 | bwfuwnuwpnguwlwl b tnwppwluwl pGnhwGnip 327,042.0 327,042.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepntd 327,042.0 327,042.0
wyn pynd’
1. Lwfuwi nquljwii niunignid 327,042.0 327,042.0
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 327,042.0 327,042.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwlwpnuwlGGph snwuwlwpgynn 87,180.3 87,180.3
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 87,180.3 87,180.3
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 87,180.3 87,180.3
- Untpuhnhwlbp ng $hOwbuwywl wtnwywl 4511 87,180.3 87,180.3
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 61,831.4 61,831.4
wyn pynLd’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipintGGEn (wyy 43,496.0 43,496.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 43,496.0 43,496.0
nuwubphb swywunywbnn)
wyn pynid’
2. <wpuwquin sniabgnn wGdwag b 1,000.0 1,000.0
unghwywuwbu wiwwwhny plunuGhplbnh
hwdwp hninwipyuwynpnipywl uqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0
3. Unghuwywuwbu wlwwwhny pGunwGhplbphG 15,996.0 15,996.0
wnGuwlwb L hhpwwwlh opbphl wowlgnipini o
- <wwnnty GwwuinwlwihG wyp neptn 4269 1,496.0 1,496.0
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

- Uy pbpwghy npwiwz0Gnphbtn 4639 14,500.0 14,500.0
4. Unghwyuwwbu wiwwwhny wGdwlg 26,500.0 26,500.0
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 2,500.0 2,500.0
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 24,000.0 24,000.0
Juaqiwybpwnipyntbtnhl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 18,335.4 18,335.4
nwubphl swuwnluwbnn)
nphg’

3091/10| 9 | 1 |Unghwjwywl wwawnwwbntpntl (wy nwubph 12,771.4 12,771.4
swwinywlnn)
wyn pynLd’
1. Unghuwywlwl oqlnipjuwl dwrwynipintGGGph 12,771.4 12,771.4
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 12,407.1 12,407.1
hwyblwygwnbbp
- Ywwh SwrwjnipnLbGbn 4214 58.3 58.3
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 306.0 306.0

3092/ 10| 9 | 2 |Unghwjwywl wwwnwwbntpjwbp tnpwdwnpynn 5,564.0 5,564.0
odwlnwy dwrwnipintbbtn (wy| nwuknhl
swwuinywlnn)
wyn pynid’
2. Upnnonipyul wwwhnywaqpnipint G 5,5664.0 5,564.0
- Uywhnwgnwywb dwfuutin 4215 5,564.0 5,564.0
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 4

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

urupypp JuNr2uuuu crRULh vuund

(hwaquwip npwabenny)

e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

= 3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 2,857,274 1 2,626,719.1 230,555.0
2100{01|0 | O puULNEN PLNESEBH <ULNPU3hL 608,407.3 597,442.3 10,965.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 587,767.4 582,802.4 4,965.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 587,767.4 582,802.4 4,965.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 587,767.4 582,802.4 4,965.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 446,332.0 446,332.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 40,162.6 40,162.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 31,019.3 31,019.3 -
- UndntGwy SwrwjnipntbbBn 4213 400.0 400.0 -
- Ywwh SwrwjnipnLbGbn 4214 12,770.0 12,770.0 -
- Uywhnjwgnwywb dwfuutin 4215 254.0 254.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 3,000.0 3,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 300.0 300.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 774.2 774.2 -
- Lbpyuwywgnigswlwb dwiuubp 4237 5,000.0 5,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 1,578.7 1,578.7 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 8,600.0 8,600.0 -

Gnpngntd b wwhwwGnid
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 4,243.0 4,243.0 -
- Spwluwnpuwihb Gnipkn 4264 23,680.8 23,680.8 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojnubn 4267 1,477.8 1,477.8 -
- Mwpuwnhp y&wnobn 4823 140.0 140.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 4,965.0 - 4,965.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 8,639.9 8,639.9 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 8,639.9 8,639.9 -
SwrwjnLpntblGn
wyn pynid’
1. Puwnwpwghwlwl Gugnipjwl wiwnbph 8,639.9 8,639.9 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wuwndhpwlduws
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 7,909.9 7,909.9 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 456.0 456.0 -
- UndntGwy SwrwjnipntbbBn 4213 4.7 4.7 -
- Ywwh SwrwjnipnLbGbn 4214 177.6 177.6 -
- Ywnswywl swewjnipyntbbbn 4231 5.0 5.0 -
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 57.4 57.4 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 20.2 20.2 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhl 6,000.0 - 6,000.0
SweuwyntpynLGGEpH gény hbunwgnunwlw b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjniintGbEnh 6,000.0 - 6,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynid’
1. Lwfuwqduyhl wipfuwnwlplbn 6,000.0 - 6,000.0
- LwjuwgéwhbGunwgnunwywb dwiuubin 5134 6,000.0 - 6,000.0

216001 | 6 | 0 | 2anhwanip pGnyph hwapuyhG 6,000.0 6,000.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 6,000.0 6,000.0 -
nuwubphb swywunywbnn)
wyn pynid’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 |3 |4 5 6 7 8

1. MhdnidGbp, huwygunhdnidlabp, nuwnwpwih 4,000.0 4,000.0 -
npnpnLdGbph L YAhraGbph nbd Yapwplahs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 4,000.0 4,000.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 2,000.0 2,000.0 -
qpuiGguwl, quwhwwndwl b
wnbnbyunynipiul tnpuwdwnpdwl hbun
Yuwdwo Jawpmoabn
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -

2200/02|/0 | 0 nuUcSMULNEB@3NFL 2,000.0 2,000.0 -
wyn pynd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuubphl swwuinlwGnn) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 2,000.0 2,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 2,000.0 2,000.0 -

2400/04|0 | O SLSGUULUUL <UNPurtMPNt@3NFLLEN 107,000.0 92,000.0 15,000.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 61,000.0 46,000.0 15,000.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 nnpwluwnpun 46,000.0 46,000.0 -
wyjn pyntd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 40,000.0 40,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 40,000.0 40,000.0 -
wwhwwntd
3. Gqnuwpwptinh YGpwanpngnid 4,000.0 4,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwntd
7. <pwiqnuil Yphpsh pupblywngmd 2,000.0 2,000.0 -
- UndntGwy SwrwjnipntbbBn 4213 2,000.0 2,000.0 -

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 15,000.0 - 15,000.0
wyn pynid’
1. dbpbjuwyGph hhvGwlnpngnid 15,000.0 - 15,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2490| 04 0 | SGwnbuwlwl hwpwpbpnpiniGGan (wy 46,000.0 46,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwpwptnnignLbGbp (wy nwubphG 46,000.0 46,000.0 -
swwuinywlnn)
wyn pynd’
1. Innpbbiph wnbnuwnpnid 3,000.0 3,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLnLtGbEn 4239 3,000.0 3,000.0 -
9. Nwpwwnhp YXwplbph quaddwl 43,000.0 43,000.0 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 43,000.0 43,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nh mucsmuuNnt@3Ntu 857,936.1 857,936.1 -
wyn pynLd’

2510/05| 1 | 0 |Unpwhwlnid 695,056.1 695,056.1 -
nphg’

2511105| 1 | 1 [UnpwhwOntd 695,056.1 695,056.1 -
wyn pynid’
1. Unpwhwlnmpint G L uwlhunwpwluwl 695,056.1 695,056.1 -
duwppnid
- UndntGwy SwrwynipntblOGn 4213 695,056.1 695,056.1 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 162,880.0 162,880.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 162,880.0 162,880.0 -
swwuinywlnn)
wyn pynid’
1. Ywlws tnwpwdplbph hhoGnid L 160,000.0 160,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbBn 4213 160,000.0 160,000.0 -
2. UjuwnwhwOdwl L dhpwanwgbipnédwla 2,880.0 2,880.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwjnipntbbBn 4213 2,880.0 2,880.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnH@3NFL G4 327,090.0 122,500.0 204,590.0

unUNHLUL Sunu3NtE3NFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 2,000.0 2,000.0 -

nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 2,000.0 2,000.0 -
wyn pynLd’
1. hapGwlwd uenyglbph pwannid 2,000.0 2,000.0 -
- Uj) Swiuutbn 4861 2,000.0 2,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipuwl b YndniGuy 325,090.0 120,500.0 204,590.0
SwewynipyntGGEn (wy nwubpha swwunluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywnwlwihb zhGwpwpniiwb L Yndntbug 325,090.0 120,500.0 204,590.0
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 40,000.0 40,000.0 -
wnwbhplbiph YGpwbnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 40,000.0 40,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 39,700.0 5,000.0 34,700.0
wnwbhplbbiph YGpwblnpngnid
- <wwnnty GwwuinwywihG wyp nepkn 4269 5,000.0 5,000.0 -
- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid 5113 34,700.0 - 34,700.0
3. Pwluyhl tnwpwdpllinh b 169,890.0 5,000.0 164,890.0
fuwnwhpwwwpuwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngnid 5113 160,000.0 - 160,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 4,890.0 - 4,890.0
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpqdwl 70,500.0 70,500.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 70,500.0 70,500.0 -
wwhwwntd
9. Ynyninwigdbiph Yuenignid L ypwlnpngnid 5,000.0 - 5,000.0
- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid 5113 5,000.0 - 5,000.0

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 46,404.2 46,404.2 -
wyn pynid’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh GwrwynipiniGabn 11,088.8 11,088.8 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGep 11,088.8 11,088.8 -
wyn pynid’
1. UynpunuyhG dhongurnidabph 11,088.8 11,088.8 -

Yuqiwlbpwni d

72




al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
=
1 12 |3 |4 5 6 7 8 9

- Uy pbpwghy npwiwz0Gnphbtn 4639 11,088.8 11,088.8

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipintGGLn 35,315.4 35,315.4
nphg’

2821108 | 2 | 1 |Qpwnwpwdbn 15,315.4 15,315.4
wyn pynd’
1. Qpunwpwluyhl SwewyntpintGGLn 16,315.4 15,315.4
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 15,315.4 15,315.4
(hwiwybpwih0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy dawynipwihb YuqiwybpwnipniGbbn 20,000.0 20,000.0
wyn pynLd’
1. Vpwiynipuyhl dhonguenidabph 20,000.0 20,000.0
hpwlwbwgnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 2,000.0 2,000.0
- Uy pbpwghy npwiw0Gnphbtn 4639 18,000.0 18,000.0

2900(09|0 | O urPENH33NHL 834,951.5 834,951.5
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 609,468.0 609,468.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepntd 609,468.0 609,468.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 609,468.0 609,468.0
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 609,468.0 609,468.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwlwpnuwlGGph snwuwlwpgynn 225,483.5 225,483.5
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 225,483.5 225,483.5
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 225,483.5 225,483.5
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 225,483.5 225,483.5
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsSMULNH33NFL 73,485.0 73,485.0
wyn pynid’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 26,162.3 26,162.3
nwubphl swuwnluwbnn)
nphg’
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = =g = nwaklp

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 26,162.3 26,162.3
nuwubphb swywunywbnn)
wyn pynid’
1. Unghuywwbu wawwwhny pGunwhplbnh 1,718.0 1,718.0
bGp6luwlbbiph hwaguwnh Yuqdwybpwnid
- Qnyph L uwppwydnpnidbbph yupdwywintpinta 4216 868.0 868.0
- Uy pbpwghy npwiw0Gnphbtn 4639 850.0 850.0
2. <wpuwquin sniabgnn wadwag b 1,490.0 1,490.0
unghwjwwbu wawuwwhny paunwlhplbnh
hwdwp hninwipyuwynpnipywl uqdwlbnwnid
- Canhwlntp pGnyph w)| SwrwjnLpnLtbbEn 4239 1,490.0 1,490.0
3. Unghuywwybu whwwwhny pGunwlhplbnha 15,954.3 15,954.3
wnnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp neptn 4269 544.0 544.0
- Uyl pbpwghy npwiw0Gnphbtn 4639 15,410.3 15,410.3
4. Unghwywwbu wiwwwhny wGdwlg 6,400.0 6,400.0
wowlgnipint G
- Untpuhnhwbp ng wewnwywb (ng hwdwbpuwihb) ns 4521 2,400.0 2,400.0
$hlwluwywb Yugtwytnpwnipntbbbph
- W Gwwuinbbp pinuobihg 4729 2,000.0 2,000.0
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 2,000.0 2,000.0
Juaqiwybpwnipyntbtnhl
5. <wuwpwluwywl Yuqdwlbnwnpint G6GGphG 600.0 600.0
wowlgnipint G
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 600.0 600.0
Juaqiwybpwnipyntbtphl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 47,322.7 47,322.7
nwubphl swuwnluwbnn)
nphg’

3091/10| 9 | 1 |Unghwjwywl wwwwwbntpntl (wy nwubph 37,026.7 37,026.7
swwuinywlnn)
wyn pynid’
1. UnghuwywlwG oqlnipjuwl dweuwynipintGGGph 37,026.7 37,026.7
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- UpuwuinnnGbph w2fuwwnwywndbp L 4111 35,021.1 35,021.1
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 625.4 625.4
- UndntGwy SwrwjnipntbbBn 4213 1.7 11.7
- Ywwh SwrwjnipnLbGbn 4214 256.8 256.8
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
=_| £ g 3 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3
=< ' Z3 == LOnwikOp
w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
- UbpbOwlbph L uwppwydnpnidbbph pbpwghy 4252 180.0 180.0
Gnpngntd b wwhwwOnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 574.5 574.5
- Spwluwnpuwihb Gjnipkn 4264 198.0 198.0
- Ushgwnuwihb L hwbpwihG ubbnh Ojnebn 4267 254 254
- Uj) Swiuubn 4861 133.8 133.8
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpwdwnpynn 10,296.0 10,296.0
odwlnwy dwrwnipintbbtn (wy; nwuknhl
swwinywlnn)
wyn pynid’
2. Upnnonipyul wuwwhnywaqpnipint G 10,296.0 10,296.0
- Uywhnwgnwywb dwfuutin 4215 10,296.0 10,296.0
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 5

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

AUYPUTEL 4uNUuUL crRULh UuunNd

(hwaquwip npwabenny)
=) al ANLobnwhG dwiuubnh gnpéwewywl nwuwlywngiwl | = wyn pynd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 1,163,667.7 1,088,147.7 75,520.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 257,993.1 252,433.1 5,560.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 254,493.1 250,933.1 3,560.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 254,493.1 250,933.1 3,560.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 254,493.1 250,933.1 3,560.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 193,037.0 193,037.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 17,373.3 17,373.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 9,600.0 9,600.0 -
- UndntGwy SwrwjnipntbbBn 4213 960.5 960.5 -
- Ywwh SwrwjnipnLbGbn 4214 9,061.0 9,061.0 -
- Uywhnjwgnwywb dwfuutin 4215 80.0 80.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 620.0 620.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 78.2 78.2 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 4,000.0 4,000.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 1,500.7 1,500.7 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 |3 |4 5 6 7 8

- Spwluwnpuwihb Gnipkn 4264 8,118.3 8,118.3 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 904.1 904.1 -
- <wwnnty GwwuinwywihG wyp neptn 4269 450.0 450.0 -
- Mwpuwnhp y&wnobn 4823 80.0 80.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 3,560.0 - 3,560.0

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhl 2,000.0 - 2,000.0
SwewyntpynLGGEpH gény hbunwgnunwlywa b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 |2GnhwGntp pGnyph hwOpwihb dwrwjnientGbEnph 2,000.0 - 2,000.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbplbn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 2,000.0 - 2,000.0
- LwjuwgswhbGunwgnunwywb dwiuukin 5134 2,000.0 - 2,000.0

2160|101 | 6 | 0 | 2Gnhwlnip plGnyph hwipughl 1,500.0 1,500.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pOnyph hwOpwihb swrwnipnLtGOGn (wy 1,500.0 1,500.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. MhdnidGbp, huwygunhdnidlbp, nuwnwpwih 1,000.0 1,000.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpGyuwywglbihu
uwhdwlywd YAwpnidabp
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -
2. Qnyph Gyuindwdp hpwyniGplabph 500.0 500.0 -
qpuibguwl, quwhwwndwl b
wnbnbyunynipiul tnpuwdwnpdwl hbun
Yuwdwo Jawpmoabn
- Mwpuwnhp y&wnobn 4823 500.0 500.0 -

2200/02|/0 | 0 nuUSSMULNEHB3NFL 1,000.0 1,000.0 -
wyn pynid’

2250|102 | 5 | O | Nwpwwuwlnipint G (wyy nuubphl swwuinlwGnn) 1,000.0 1,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pynid’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 1,000.0 1,000.0 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

== = 3 = nwaklp

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Uy pbpwghy npwiwz0Gnphbtn 4639 1,000.0 1,000.0 -

2400(04| 0 | O SuStuuuUL <UNPuREMPNHE@3NFLLEN 34,000.0 29,000.0 5,000.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpuwn 23,000.0 18,000.0 5,000.0
nphg’

245104 | 5 | 1 |SwlwwwphwhO npwbuwnpun 18,000.0 18,000.0 -
wyn pynd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 15,000.0 15,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwntd
3. Gqnuwpwptipnh YGpwanpngnid 3,000.0 3,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwntd

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 5,000.0 - 5,000.0
wyn pynid’
1. dbpbjuwyGph hhvGwlnpngnid 5,000.0 - 5,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 5,000.0 - 5,000.0

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 11,000.0 11,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwpwptnnignLtbGbp (wy) nwubphG 11,000.0 11,000.0 -
swwuinywlnn)
wyn pynid’
9. Nwpwwnhp YXwplbph quaddwl 11,000.0 11,000.0 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 11,000.0 11,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuuNt@3Ntu 224,311.2 224,311.2 -
wyn pynid’

2510105 | 1 | 0 |Unpwhwlmu 152,811.2 152,811.2 -
nphg’

2511{05| 1 | 1 |Unpwhw0ntd 152,811.2 152,811.2 -
wyn pynid’
1. Unpwhwlnmpint G L uwlhunwpwluwl 162,811.2 162,811.2 -
duwpnpnid
- UndntGwy SwrwjnipntbbBn 4213 152,811.2 152,811.2 -
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = =g = nwaklp

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2560| 05 0 | Cpowlw vhowduwyph wwpwnwwGnipinta (wyy 71,500.0 71,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipyntb (wy nwubph 71,500.0 71,500.0 -
swwuinywlnn)
wyn pynd’
1. Ywlws tnwpwdplbph hhoGnid L 70,000.0 70,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntblOBn 4213 70,000.0 70,000.0 -
2. UfunnwhwGdwG L dhpwwnwqbnddwl 1,500.0 1,500.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwynipntbbBn 4213 1,500.0 1,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnH@3NFL G4 138,460.0 73,500.0 64,960.0

UnUNFLUL dunusnNt@3NtFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 1,000.0 1,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 1,000.0 1,000.0 -
wyn pynid’
1. hapGwlwd uenyglbph pwannid 1,000.0 1,000.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 137,460.0 72,500.0 64,960.0
SwewynipyntGGEn (wy nwubpha swwunluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 137,460.0 72,500.0 64,960.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 30,000.0 30,000.0 -
wnwbhplbiph YGpwbnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
3. Pwluyhl tnwpwdpllinh b 67,960.0 3,000.0 64,960.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwntd
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 60,960.0 - 60,960.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 4,000.0 - 4,000.0
4. Puwqiwplwluwpwl ;6Gpbph pupbywnpgdwl 39,500.0 39,500.0 -

wyy wipfuunnuwliplbn
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 33,000.0 33,000.0
wwhwwlntd
- Untpuhnhwbp ng wewnwywh (ng hwdwbpwihb) ns 4521 6,500.0 6,500.0
$hlwluwywb Yugtwytnpwnipntbbbph

2800(08| 0 | 0 <UuLahus, ucuunt3me b4 urnu 31,277.3 31,277.3
wyn pynd’

281008 | 1 | 0 |<whquwnh L uwynpuwnh SwewynipinGGGn 13,000.0 13,000.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGbp 13,000.0 13,000.0
wyn pynd’
1. UynpunuyhG dhongurnidabph 3,000.0 3,000.0
Yuqiwlbpwni d
- Uy pbpwghy npwiw0Gnphbtn 4639 3,000.0 3,000.0
2. L<wlquinh gnunplbph L gpnuuwyghlGbph 10,000.0 10,000.0
Ywenignid m wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0
wwhwwntd

2820108 | 2 | 0 |Vpwlnipuyhl dwruwynipinGGLp 18,277.3 18,277.3
nphg’

2821/08| 2 | 1 |QpwnwpwbObn 10,927.3 10,927.3
wyn pynid’
1. Qpunwpwluyhl SwewynipintGaLn 10,927.3 10,927.3
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 10,927.3 10,927.3
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy dawynipwihb YuqiwybpwnipniGbbn 7,350.0 7,350.0
wyn pynid’
1. Vpwiynipuyhl dhongwenidabph 7,350.0 7,350.0
hpwlwbwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 7,350.0 7,350.0

2900(09|0 | O urPENH33NHL 438,728.8 438,728.8
wyn pynid’

2910|109 | 1 | 0 | bwfuwnupnguwlwl b tnwppwluwl pGnhwGnip 363,921.0 363,921.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepntd 363,921.0 363,921.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 363,921.0 363,921.0
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

s c| 3 b O wuubph tnGwnbuwghnwwit = nudthn 1 b [ {

w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Untpuhnhwlbp ng $hOwbuwywl wenwywb 4511 363,921.0 363,921.0
(hwiwybpwih0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwluwpnuwlGGph snwuwlwpgynn 66,993.0 66,993.0
Yppnipnt G
nphg’

295109 | 5 | 1 |Upunnwnwpngwywb nwuunhwpwyntpntl 66,993.0 66,993.0
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 66,993.0 66,993.0
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 66,993.0 66,993.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2960|109 | 6 | 0 | Yppnigywlp wpwdwnpynn odwlnwy 7,814.8 7,814.8
SwpwyntpynLGGEN
nphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy dwrwjnipntGbbn 7,814.8 7,814.8
wyn pynLd’
1. Lwfuwi nquiljuwil hwuwnuwiinni pint GGG 7,814.8 7,814.8
hhdGwanpngnid L JpwGnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 7,814.8 7,814.8
wwhwwntd

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 37,897.3 37,897.3
wyn pynLd’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipintGGEn (wyy 18,005.0 18,005.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 18,005.0 18,005.0
nuwubphb swywunywbnn)
wyn pynid’
1. Unghuwywwbu wawwwhny pGunwlhplabnh 500.0 500.0
bp6luwlbbph hwaguwnh Yuqdwlybpnwnid
- Uy pbpwghy npwiw0Gnphbtn 4639 500.0 500.0
2. <wpuwquin sniabgnn wGdwag b 1,500.0 1,500.0
unghwjwwbu wawuwwhny plunwlhplbnh
hwdwp hninwipyuwynpnipywl uqdwlbnwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 1,500.0 1,500.0
3. Unghuwywuwbu wlwwwhny pGunwGhplbphG 11,005.0 11,005.0
wnnlwlul b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwlwihG wyp neptn 4269 255.0 255.0
- Uy pbpwghy npwiw0Gnphbtn 4639 9,150.0 9,150.0
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 1,600.0 1,600.0
Juaqiwybpwnipyntbtphl
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl =3 = o0

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

4. Unghwywwbu wiwwwhny wGdwlg 5,000.0 5,000.0
wowlgnipint G
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 5,000.0 5,000.0
Juaqiwybpwnipyntbtnhl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 19,892.3 19,892.3
nwubphl swuwnluwbnn)
nphg’

3091/10| 9 | 1 |Unghwjwywl wwawnwwbntpntl (wy nwubph 15,420.3 15,420.3
swwinywlnn)
wyn pynLd’
1. Unghuwywlwl oqlnipjuwl dwrwynipintGGGph 16,420.3 15,420.3
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwunnnGbph w2fuwwnwywndbp L 4111 14,999.9 14,999.9
hwyblwygwnbbp
- Ywwh SwrwjnipnLbGbn 4214 90.0 90.0
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 80.4 80.4
- Spwluwnpuwihb Gnipkn 4264 250.0 250.0

3092/ 10| 9 | 2 |Unghwjwywl wwwnwwbntpjwbp tnpwdwnpynn 4,472.0 4,472.0
odwlnwy dwrwnipintbbtn (wy| nwuknhl
swwuinywlnn)
wyn pynid’
2. Upnnonipyul wwwhnywaqpnipint G 4,472.0 4,472.0
- Uywhnwgnwywb dwfuutin 4215 4,472.0 4,472.0

82




{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 6

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

trGeAkLh YuN2UuUUL cNRULh UuuUny

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 2,287,953.6 2,043,509.3 244,444 .3
2100{01|0 | O oun<ULNEN ALNE3RBH <ULNU3LL 497,848.1 407,820.8 90,027.3
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 483,708.2 396,680.9 87,027.3
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 483,708.2 396,680.9 87,027.3
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 411,229.9 396,680.9 14,549.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 308,175.0 308,175.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 27,732.5 27,732.5 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 17,930.0 17,930.0 -
- UndntGwy SwrwjnipntbbBn 4213 2,253.0 2,253.0 -
- Ywwh SwrwjnipnLbGbn 4214 10,883.0 10,883.0 -
- Uywhnjwgnwywb dwfuutin 4215 485.0 485.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 496.0 496.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,400.0 1,400.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 1,880.0 1,880.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 2,900.0 2,900.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 4,100.0 4,100.0 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

- Spwluwnpuwihb Gnipkn 4264 12,215.4 12,215.4 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 2,000.0 2,000.0 -
- Mwpunwnhp y&wnobn 4823 161.0 161.0 -
- Uj) Swiuutbn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 14,549.0 - 14,549.0
2. dwpswluwlb opyiyinGlinh hhdGwanpngnid 72,478.3 - 72,478.3
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngnid 5113 72,478.3 - 72,478.3

2130|101 | 3 | 0 | Lanhwanip plGnyph Sweuwynipint GGG 8,639.9 8,639.9 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwbnip pbnyeh 8,639.9 8,639.9 -
SwrwjnLpnLbbEn
wyn pynLd’
1. Puwnwpwghwlwl Yugnipjwl wiwnbph 8,639.9 8,639.9 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wundhpwlduwds
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 7,519.3 7,519.3 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 746.7 746.7 -
- Ywwh SwrwjnipnLbGbn 4214 181.2 181.2 -
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 183.6 183.6 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhG 3,000.0 - 3,000.0
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjniintGbEnh 3,000.0 - 3,000.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 3,000.0 - 3,000.0
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 3,000.0 - 3,000.0

2160|101 | 6 | O | LGnhwlnip plGnyph hwipughl 2,500.0 2,500.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 2,500.0 2,500.0 -

nuwubphb swywunywbnn)

wyn pynid’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

] £l 3 Guwjh( Swiuubph nGunbuwghinwywl = fruattn 1 b anwihG b

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
=
1 1213 |4 5 6 7 8 9

1. DhdnidGbp, huwygunhdnidlbp, nuinwpwiGh 1,000.0 1,000.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 1,000.0 1,000.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 1,500.0 1,500.0 -
qpuiGguwl, quwhwwndwl b
wnbntyuwnynipiul tnpuwdwnpdwl hbwn
Yuwwywé JawpmidGlp
- Mwpunwnhp y&wnobn 4823 1,500.0 1,500.0 -

2200/02|/0 | 0 MUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuubphl swwuinlwGnn) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SuStUuuUUL <UPurEMPNHE@3NFLLEN 71,530.0 51,530.0 20,000.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 40,000.0 20,000.0 20,000.0
nphg’

245104 | 5 | 1 |BwlwwwphwhO npwbuwnpun 20,000.0 20,000.0 -
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 20,000.0 20,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwntd

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 20,000.0 - 20,000.0
wyn pynid’
1. dbpbjuwyGph hhvGwlnpngnid 20,000.0 - 20,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 20,000.0 - 20,000.0

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 31,530.0 31,530.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwpwptnnignLbGbp (wy) nwubphG 31,530.0 31,530.0 -

swwuinywlnn)

wyn pynLd’
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

9. Nwpuwnwnhp YXwplbph quaddwl 31,530.0 31,530.0 -
SwipuynipintGaGp
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 4,788.1 4,788.1 -
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 26,741.9 26,741.9 -
Juaqiwybpwnipyntbtnhl

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 642,597.2 642,597.2 -
wyn pynLd’

2510105 | 1 | 0 |Unpwhwlmu 539,097.2 539,097.2 -
nphg’

2511105| 1 | 1 [UnpwhwOntd 539,097.2 539,097.2 -
wyn pynLd’
1. Unpwhwlmpint G L uwlhunwpwluwl 539,097.2 539,097.2 -
Jwppm d
- UndntGwy SwrwynipntbbBn 4213 539,097.2 539,097.2 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 103,500.0 103,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 103,500.0 103,500.0 -
swwuinywlnn)
wyn pynid’
1. Ywlws wnwpwdéplbph hhulGnid L 100,000.0 100,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbOGn 4213 100,000.0 100,000.0 -
2. UjuwnwhwOdwl L dhpwanwgbipnédwla 3,500.0 3,500.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwynipntbbBn 4213 3,500.0 3,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuururnHe3NFL B4 203,300.0 68,883.0 134,417.0

unUNHLUL Sunu3NtE3NFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 2,000.0 2,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 2,000.0 2,000.0 -
wyn pynid’
1. hapGwlwd uenyglbph pwannid 2,000.0 2,000.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 201,300.0 66,883.0 134,417.0

SwewynipynGGEn (wy nwubpha swwunlyuwlnn)

nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

] £l 3 Guwjh( Swiuubph nGunbuwghinwywl = fruattn 1 b anwihG b

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2661| 06 1 |ROwywnwlwihb zhbwpwpnipiwb L Yyndntbuwyg 201,300.0 66,883.0 134,417.0
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 20,000.0 20,000.0 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwlntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 14,417.0 - 14,417.0
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 14,417.0 - 14,417.0
3. Pwluyhl tnwipwdpllinh b 135,000.0 15,000.0 120,000.0
fuwnwhpwwwpuwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
- <wwnnty GwwuinwywihG wyp neptn 4269 5,000.0 5,000.0 -
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 120,000.0 - 120,000.0
4. Puqdwpluwlupwl p6Gpbnh pwnpbliwnqdwl 31,883.0 31,883.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 21,883.0 21,883.0 -
wwhwwntd
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpuwihb) ns 4521 10,000.0 10,000.0 -
$hlwluwywb Yugiwytnpwnipntbbbph

2800(08| 0 | 0 <UuLahus, ucuuntsme by urnu 59,762.5 59,762.5 -
wyn pynLd’

2810/ 08 | 1 | 0 |<waquuwnh L uynpunh GwrwynipiniGabn 4,500.0 4,500.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 4,500.0 4,500.0 -
wyn pynid’
1. Uynpunuyhl dhongwenidGbph 4,500.0 4,500.0 -
Yuqiwlbpwni d
- Uy pbpwghy npwiw0Gnphbtn 4639 4,500.0 4,500.0 -

2820108 | 2 | 0 |Vpwlnipuyhl dwruwynipinGGLp 55,262.5 55,262.5 -
nphg’

2821/08| 2 | 1 |QpwnwpwbObn 32,262.5 32,262.5 -
wyn pynid’
1. Qpunwpwluyhl SwewynipintGaLn 32,262.5 32,262.5 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 32,262.5 32,262.5 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2824| 08 4 Uy dwynipwihb YuwaqdwytpwnieyniGbbn 20,000.0 20,000.0
wyn pynLd’
1. Vpwiynipuyhl dhonguenidabph 20,000.0 20,000.0
hpwlwbwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 20,000.0 20,000.0

2827|08 | 2 | 7 |<nipupdwbGEph L dwynipwihb wndtplbph 3,000.0 3,000.0
ybpwywbglnid L wwhwwnid
wyn pynd’
1. <nipwipdwlGbph Jbpwlnpngnid L 3,000.0 3,000.0
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 3,000.0 3,000.0
wwhwwntd

2900(09|0 | O uPENH33NHL 758,801.0 758,801.0
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 608,136.0 608,136.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepnta 608,136.0 608,136.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 608,136.0 608,136.0
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 608,136.0 608,136.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 148,665.0 148,665.0
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 148,665.0 148,665.0
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 148,665.0 148,665.0
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 148,665.0 148,665.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2960|109 | 6 | 0 | Yppnipjwlp wpwdwnpynn odwlnwy 2,000.0 2,000.0
SwpwyntpynLGGEN
nphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy dwrwjnipntbGbbn 2,000.0 2,000.0
wyn pynid’
1. Lwfuwi nquiljuwil hwuwnuwiinni pint GGG 2,000.0 2,000.0
hhdGwanpngnid L JpwGnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 2,000.0 2,000.0

wwhwwntd
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG
s c| 3 b O wuubph tnGwnbuwghnwwit = nudthn 1 b [ {
w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
300010 0 unshuLuyuu nucSMULNH33NFL 52,114.8 52,114.8
wyjn pyntd’
3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipini GGG (wyy 14,522.0 14,522.0
nwubphl swuwnluwbnn)
nphg’
307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbObn (wy 14,522.0 14,522.0
nuwubphb swywunywbnn)
wyn pynd’
2. <wpuwquin sniabgnn wGdwag b 3,000.0 3,000.0
unghwjwwbu wawuwwhny paunwlhplbnh
hwdwp hninwpyuwynpnipywl uwqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,000.0 3,000.0
3. Unghuwyuwwybu wiwwwhny pGunwlhplbnha 7,442.0 7,442.0
wnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp neptn 4269 442.0 442.0
- Uy pbpwghy npwiw0Gnphbtn 4639 7,000.0 7,000.0
4. Unghuwywwbu wiwwwhny wadwlg 4,080.0 4,080.0
wowlgni pjni b
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 4,080.0 4,080.0
Juaqiwybpwnipyntbtphl
3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 37,592.8 37,592.8
nwubphl swuwnluwbnn)
nphg’
309110 | 9 | 1 |Unghwjwywl wwwwwbntpntl (wy nwubph 29,064.8 29,064.8
swwuinywlnn)
wyn pynid’
1. Unghuwywlw oqlnipjuwl dwrwynipintGGGph 29,064.8 29,064.8
qnpontGGnpjwl Yuqdwybpwnmd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 27,316.2 27,316.2
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 765.6 765.6
- Ywwh SwrwjnipnLbGbn 4214 159.4 159.4
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 750.0 750.0
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 73.6 73.6
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 8,528.0 8,528.0
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwuinywlnn)
wyjn pyntd’
2. Upnnonipjuwl wwwhnywapnipint 8,528.0 8,628.0
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwkap
l:."CJ Z 3| E Eﬂ pintebnwihb dwiuubph tnbwnbuwghunwywb == Jwpswyw pneot | $nbnuwyhb pyniot
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
4215 8,528.0 8,528.0

- Uywhnwgnwywb dwfuutin
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 7

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

yGuLsSNPNL YuNULUUUL cNrRULHL UUUNY

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 3,708,905.2 3,580,905.2 128,000.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 684,986.3 672,986.3 12,000.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 667,346.4 658,346.4 9,000.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 667,346.4 658,346.4 9,000.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 667,346.4 658,346.4 9,000.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 486,304.0 486,304.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 43,760.3 43,760.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 23,520.0 23,520.0 -
- UndntGwy SwrwjnipntbbBn 4213 1,000.0 1,000.0 -
- Yuwh SwrwynLpnLbaLN 4214 18,772.7 18,772.7 -
- Uywhnjwgnwywb dwfuutin 4215 1,060.0 1,060.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 6,000.0 6,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 500.0 500.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 1,970.0 1,970.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 798.9 798.9 -
- Lbpyuwywgnigswlwb dwiuubp 4237 5,000.0 5,000.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 1,460.0 1,460.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 16,550.0 16,550.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 10,000.0 10,000.0 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b { {

w = 3 &= pinL9 J n q e Jwpswywa pnie Snlnwjh pjnLok

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

- Spwluwnpuwihb Gnipkn 4264 32,098.5 32,098.5 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 4,000.0 4,000.0 -
- W Gwwuinbbp pinuobihg 4729 200.0 200.0 -
- Mwpuwnhp y&wnobn 4823 352.0 352.0 -
- Uj) Swiuubn 4861 5,000.0 5,000.0 -
- Jwpswywb uwppwynpniibbn 5122 9,000.0 - 9,000.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 8,639.9 8,639.9 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 8,639.9 8,639.9 -
SwrwjnLpntblGn
wyn pynid’
1. Puwnwpwghwlwl Gugnipjwl wiwnbph 8,639.9 8,639.9 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wuwndhpwlduws
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 7,884.9 7,884.9 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 591.2 591.2 -
- UndntGwy SwrwjnipntbbBn 4213 15.0 15.0 -
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 139.7 139.7 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhG 3,000.0 - 3,000.0
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjniintGbEnh 3,000.0 - 3,000.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 3,000.0 - 3,000.0
- LwjuwgswhbGunwgnunwywb dwfuutin 5134 3,000.0 - 3,000.0

216001 | 6 | 0 | 2anhwGnip pGnyph hwapuyhl 6,000.0 6,000.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 6,000.0 6,000.0 -
nuwubphb swywunywbnn)
wyn pynid’
1. DhdnidGbp, huwygunhdnidlbp, nuinwpwiGh 4,000.0 4,000.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YAwpnidabp
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| 2 nwuwyungiwb hnnqwébbph  wadwaniiabnp =
1 12 |3 |4 5 6 7 8 9

- Mwpunwnhp y&wnobn 4823 4,000.0 4,000.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 2,000.0 2,000.0 -
qpuiligiwl, Qqhwhwwndwl b
wnbnb&yunynipiul wnpwdwnpiwl hbun
Juiyywié JAwpnidGbp
- Mwpuwnhp y&wnobn 4823 2,000.0 2,000.0 -

2200(02|0 |0 nUCSTULNHB3NFL 3,570.0 3,570.0 -
wyn pynid’

2220102 | 2 | 0 | Pwnuwpwghwluwl wuwywnwuwlnipintG 1,000.0 1,000.0 -
nphg’

2221|102 | 2 | 1 |Pwnwpwghwywl wwunwwbnigntl 1,000.0 1,000.0 -
wyn pynid’
1. Puwnwpwghwlwl wuwpwnwwan pjwala 1,000.0 1,000.0 -
wowlygnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -

2250102 | 5 | 0 | NupwnnwuwlbnipintG (wyy nuubphb swwunlyutnn) 2,570.0 2,570.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,570.0 2,570.0 -
wyn pynLd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 2,670.0 2,570.0 -
- Spwluwnpuwihb Gjnipkn 4264 1,070.0 1,070.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 1,500.0 1,500.0 -

2400|040 | O SUSGUUUUL <UPurtMPNH@3NFLLEN 134,500.0 126,500.0 8,000.0
wyn pynid’

2450|104 | 5 | 0 | Spwhuwynpwn 54,500.0 46,500.0 8,000.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwbuwnpun 54,500.0 46,500.0 8,000.0
wyn pynid’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 46,500.0 46,500.0 -
L wwhwwlng
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 46,500.0 46,500.0 -
wwhwwntd
4. LGowwuwinbiph JGpwlnpngni b 8,000.0 - 8,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 8,000.0 - 8,000.0

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 80,000.0 80,000.0 -
nwubphl swuwnluwbnn)
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnnigntGObp (wy) nwubphG 80,000.0 80,000.0 -
swwuinywlnn)
wyn pynid’
9. Nwpwwnhp YXwplbph quaddwl 80,000.0 80,000.0 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 58,400.0 58,400.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 21,600.0 21,600.0 -
Juaqiwybpwnipyntbtnhl

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 1,565,145.6 1,565,145.6 -
wyn pynid’

2510|/05| 1 | 0 |Unpwhwlnid 1,239,215.6 1,239,215.6 -
nphg’

2511{05| 1 | 1 |Unpwhw0ntd 1,239,215.6 1,239,215.6 -
wyn pynid’
1. Unpwhwlnipnt b b uwGhunwpwlywl 1,239,215.6 1,239,215.6 -
duwppnid
- UndntGwy SwrwynipntbbBn 4213 1,239,215.6 1,239,215.6 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 325,930.0 325,930.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy nwubph 325,930.0 325,930.0 -
swwuinywlnn)
wyn pynLd’
1. Ywlws wnwpwdéplbph hhulGnid L 300,000.0 300,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbBn 4213 300,000.0 300,000.0 -
2. UjuwnwhwOdwl L dhpwwnwgbipnédwla 25,000.0 25,000.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwjnipntbbBn 4213 25,000.0 25,000.0 -
3. <wuwnpwluwlwl gniquinwGlabnph 930.0 930.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwjnipntbbBn 4213 930.0 930.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnH@3NFL G4 214,000.0 106,000.0 108,000.0

unUNHLUL Sunu3NtE3NFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 2,000.0 2,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 2,000.0 2,000.0 -

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

1. hapGwlwd uenyglbph pwannid 2,000.0 2,000.0 -
- Uj) Swiuutbn 4861 2,000.0 2,000.0 -

266006 | 6 | 0 | PGwlwpwluyhl hGwpwpnipiuwa b YndniGuy 212,000.0 104,000.0 108,000.0
SwewynipyntGGEn (wy nwubpha swwunluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywnwlwihb zhGwpwpniiwb L Yndntbug 212,000.0 104,000.0 108,000.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 25,000.0 25,000.0 -
wnwbhplbiph YGpwbnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 25,000.0 25,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 28,000.0 - 28,000.0
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid 5113 28,000.0 - 28,000.0
3. Pwluyhl tnwipwdpllinh b 85,000.0 5,000.0 80,000.0
fuwnwhpwwwpuwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- GLlpbnh L 2hOnepyntGOBnph Yuwwhunwy yepwbnpngnid 5113 80,000.0 - 80,000.0
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpqdwl 74,000.0 74,000.0 -
wyy wpfuunnuwliplbn
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpuwihb) ns 4521 74,000.0 74,000.0 -
$hlwluwywb Yugiwytnpwnipntbbbph

2800(08| 0 | 0 <UuLahus, ucuuntsme by urnu 61,479.9 61,479.9 -
wyn pynid’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh GwrwynipiniGabn 4,000.0 4,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 4,000.0 4,000.0 -
wyn pynid’
1. UynpunuyhG dhongurnidabph 4,000.0 4,000.0 -
Yuqiwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 4,000.0 4,000.0 -

2820108 | 2 | 0 |Vpwlnipuyhl dwruwynipinGGLp 57,479.9 57,479.9 -
nphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 11,279.9 11,279.9 -
wyn pynid’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

1. Qpunwpwluyhl SwewyntpintGGLn 11,279.9 11,279.9
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 11,279.9 11,279.9
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieyniGbbn 33,500.0 33,500.0
wyn pynid’
1. Vwiynipuyhl dhongwenidabph 33,500.0 33,500.0
hpwlwbwgnid
- Canhwlntp pGnyph wyp SwrwjnLnLtGbEn 4239 33,500.0 33,500.0

2827|108 | 2 | 7 |<nipwupdwbbEph L dwynipwihb wndtplbph 12,700.0 12,700.0
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwipdwlGbph Jbpwlnpngnid L 12,700.0 12,700.0
wwhuwlni g
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 12,700.0 12,700.0

2900(09|0 | O urPENH33NHL 938,249.0 938,249.0
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 756,240.0 756,240.0
Yppnipnt G
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepnta 756,240.0 756,240.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 756,240.0 756,240.0
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 756,240.0 756,240.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwlwpnuwlGGph snwuwlwpgynn 182,009.0 182,009.0
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 182,009.0 182,009.0
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 182,009.0 182,009.0
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 182,009.0 182,009.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 106,974.4 106,974.4
wyn pynid’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 57,3101 57,3101
nwubphl swuwnluwbnn)
nphg’
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 57,310.1 57,310.1
nuwubphb swywunywbnn)
wyn pynid’
2. <wpuwquin sniabgnn wGdwag b 3,650.5 3,650.5
unghwjwwbu wawuwwhny plunwlhplbnh
hwdwp hninwipyuwynpnipywl uwqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,550.5 3,550.5
3. Unghuyuwwybu wiwwwhny pGunwlhplbnha 35,169.6 35,1569.6
wnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp ineptn 4269 1,445.0 1,445.0
- Uyl pbpwghy npwiw0Gnphbtn 4639 29,794.6 29,794.6
- W Gwwuinbbp pinuobihg 4729 3,920.0 3,920.0
4. Unghwywwbu wiwwwhny wGdwlg 17,400.0 17,400.0
wowlgnipint G
- W Gwwiuinbbp pyinuobihg 4729 3,000.0 3,000.0
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 14,400.0 14,400.0
Juaqiwybpwnipyntbtnhl
5. <wuwnpwluwlwl quqdwlybpwnipini GGGphG 1,200.0 1,200.0
wowlgnipint G
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 1,200.0 1,200.0
Juaqiwybpwnipyntbtnhl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 49,664.3 49,664.3
nwubphl swuwnluwbnn)
nphg’

3091/10| 9 | 1 |Unghwjwywl wwawwwbnipntl (wy nwubph 38,796.3 38,796.3
swwunyuwlnn)
wyjn pyntd’
1. UnghuwywlwG oqlnipjuwl dweuwynipintGGGph 38,796.3 38,796.3
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph wfuwwnwywndbp L 4111 36,634.0 36,634.0
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 1,162.5 1,162.5
- UndntGwy SwrwjnipntbbBn 4213 40.0 40.0
- Ywwh SwrwjnipnLbGbn 4214 350.0 350.0
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 159.8 159.8
Gnpngned L ywhwwbned
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 150.0 150.0
- Spwluwnpuwihb Gnipkn 4264 300.0 300.0

3092/ 10| 9 | 2 |Unghwjwywl wwawwwbntpjwbp tnpuwdwnpynn 10,868.0 10,868.0
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwuinywlnn)

wyn pynid’
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8
2. Upnnonipyul wuwwhnywaqpnipini G 10,868.0 10,868.0
4215 10,868.0 10,868.0

- Uywhnwgnwywb dwfuubin
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 8

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

UuLurhU-uGAUUShU 4uMuuuL crauuh yuund

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 2,872,821.0 2,689,356.2 183,464.8
2100{01|0 | O puULNEN PLNESEBH <ULNPU3hL 483,628.4 474,554 .4 9,074.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 467,508.5 463,434.5 4,074.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 467,508.5 463,434.5 4,074.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 467,508.5 463,434.5 4,074.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 363,558.0 363,558.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 32,720.2 32,720.2 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 12,826.2 12,826.2 -
- UndntGwy SwrwjnipntbbBn 4213 550.4 550.4 -
- Ywwh SwrwjnipnLbGbn 4214 12,067.4 12,067.4 -
- Uywhnjwgnwywb dwfuutin 4215 200.0 200.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 120.0 120.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 120.0 120.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 1,618.4 1,618.4 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,700.0 1,700.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 544.0 544.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 4,670.0 4,670.0 -

Gnpngntd b wwhwwGnid
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 5,895.0 5,895.0 -
- Spwluwnpuwihb Gnipkn 4264 21,647.8 21,647.8 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojnubn 4267 1,997.1 1,997.1 -
- Mwpuwnhp y&wnobn 4823 200.0 200.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 4,074.0 - 4,074.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 8,639.9 8,639.9 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 8,639.9 8,639.9 -
SwrwjnLpntblGn
wyn pynid’
1. Puwnwpwghwlwl Gugnipjwl wiwnbph 8,639.9 8,639.9 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wuwndhpwlduws
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 77771 7,7771 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 397.6 397.6 -
- UndntGwy SwrwjnipntbbBn 4213 74.8 74.8 -
- Ywwh SwrwjnipnLbGbn 4214 231.6 231.6 -
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 108.8 108.8 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 40.9 40.9 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150|101 | 5 | 0 | 2Gnhwlnip plGnyph hwipughl 5,000.0 - 5,000.0
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjniintGbEnh 5,000.0 - 5,000.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 5,000.0 - 5,000.0
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 5,000.0 - 5,000.0

216001 | 6 | 0 | 2anhwGnip pGnyph hwapuyhl 2,480.0 2,480.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 2,480.0 2,480.0 -
nuwubphb swywunywbnn)
wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w 2 3 2 pInLetnwy n g £ = Junswywl pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. MhdnidGbp, huwygunhdnidlabp, nuwnwpwih 500.0 500.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 500.0 500.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 1,980.0 1,980.0 -
qpuiGguwl, quwhwwndwl b
wnbnbyunynipiul tnpuwdwnpdwl hbun
Yuwdwo Jawpmoabn
- Mwpunwnhp y&wnobn 4823 1,980.0 1,980.0 -

2200/02|/0 | 0 MUCSMULNHB3NFL 2,000.0 2,000.0 -
wjn pyntd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuubphl swwuinlwGnn) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 2,000.0 2,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 2,000.0 2,000.0 -

2400/04|0 | O SLSGUULUUL <UNPurtMPNt@3NFLLEN 83,940.6 68,548.5 15,392.1
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 47,352.5 31,960.4 15,392.1
nphg’

245104 | 5 | 1 |BwlwwwphwhO npwbuwnpun 31,960.4 31,960.4 -
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 30,000.0 30,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
3. Gqnuwpwptinh YGpwanpngnid 1,960.4 1,960.4 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 1,960.4 1,960.4 -
wwhwwntd

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 15,392.1 - 15,392.1
wyn pynid’
1. dbpbjuwyGph hhvGwlnpngnid 15,392.1 - 15,392.1
- Wy dbpbOwobn L uwppwynpniibbp 5129 15,392.1 - 15,392.1

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 36,588.1 36,588.1 -
nwubphl swuwnluwbnn)
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
=
1 12 |3 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnnigntGObp (wy) nwubphG 36,588.1 36,588.1 -
swwuinywlnn)
wyn pynid’
9. Nwpwwnhp YXwplbph quaddwl 36,588.1 36,588.1 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 11,688.1 11,688.1 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 24,900.0 24,900.0 -
Juaqiwybpwnipyntbtnhl

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 670,259.5 670,259.5 -
wyn pynid’

2510|/05| 1 | 0 |Unpwhwlnid 467,759.5 467,759.5 -
nphg’

2511105| 1 | 1 [UnpwhwOntd 467,759.5 467,759.5 -
wyn pynid’
1. Unpwhwlmpint G L uwlhunwpwluwl 467,759.5 467,759.5 -
duwppnid
- UndntGwy SwrwynipntbbBn 4213 467,759.5 467,759.5 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 202,500.0 202,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy nwubph 202,500.0 202,500.0 -
swwuinywlnn)
wyn pynLd’
1. Ywlws tnwpwdplbph hhoGnid L 202,500.0 202,500.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbBn 4213 202,500.0 202,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuururnHe3NFL B4 217,627.8 58,629.1 158,998.7

unUNHLUL Sunu3NtE3NFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 1,914.4 1,914.4 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 1,914.4 1,914.4 -
wyn pynid’
1. hapGwlwd uenyglbph pwannid 1,914.4 1,914.4 -
- Wy Swiuutn 4861 1,914 .4 1,914 .4 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 215,713.4 56,714.7 168,998.7
SwewynipynGGEn (wy nwubpha swwunlyuwlnn)
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

] £l 3 Guwjh( Swiuubph nGunbuwghinwywl = fruattn 1 b anwihG b

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2661| 06 1 |ROwywnwlwihb zhbwpwpnipiwb L Yyndntbuwyg 215,713.4 56,714.7 158,998.7
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 20,214.7 20,214.7 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 20,214.7 20,214.7 -
wwhwwlntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 16,000.0 - 16,000.0
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 16,000.0 - 16,000.0
3. Pwluyhl tnwipwdpllinh b 151,998.7 9,000.0 142,998.7
fuwnwhpwwwpuwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 9,000.0 9,000.0 -
wwhwwlntd
- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid 5113 130,000.0 - 130,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 12,998.7 - 12,998.7
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpqdwl 27,5600.0 27,500.0 -
wyy wipfuunnuwliplbn
- Untpuhnhwbp ng wewnwywb (ng hwdwbpwihb) ng 4521 27,500.0 27,500.0 -
$hlwluwywb Yugtwytnpwnipntbbbph

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 40,359.0 40,359.0 -
wyn pynid’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh GwrwynipiniGabn 5,638.7 5,638.7 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGep 5,638.7 5,638.7 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 5,638.7 5,638.7 -
Yuqiwlbpwni d
- Uyl pbpwghy npwiw0Gnphbtn 4639 5,638.7 5,638.7 -

2820108 | 2 | 0 |Vpwlnipuyhl dwruwynipinGGLp 34,720.3 34,720.3 -
nphg’

2821108 | 2 | 1 |Qpwnwpwdbn 21,385.2 21,385.2 -
wyn pynid’
1. Qpunwpwluyhl SwewynipintGaLn 21,385.2 21,385.2 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 21,385.2 21,385.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebwnpnbGenp 8,443.0 8,443.0 -
wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

== = 3 = nwaklp

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. <wduylpuyhl drwlynyph b wquwn dwdwlbgh 8,443.0 8,443.0
Yuqiwlbpwni d
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 8,443.0 8,443.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb YuqiwybpwnieyniGbbn 4,892.1 4,892.1
wyn pynd’
1. Vwiynipuyhl dhongwenidabph 4,892.1 4,892.1
hpwlwbuwgnid
- Qnyph L uwppwynpnidbbph yupdwywintpinta 4216 2,400.0 2,400.0
- Uy pbpwghy npwiw0Gnphbtn 4639 2,492.1 2,492.1

2900(09|0 | O urPENH33NHL 1,290,123.5 1,290,123.5
wyn pynid’

2910|109 | 1 | 0 | bwfuwnuwpnguwlwl b tnwppwluwl pGnhwGnip 1,144,208.3 1,144,208.3
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppneentd 1,144,208.3 1,144,208.3
wyjn pyntd’
1. Lwfuwi nquljwii niunignid 1,144,208.3 1,144,208.3
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 1,144,208.3 1,144,208.3
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwluwpnuwlGGph snwuwluwpgynn 145,915.2 145,915.2
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunnwnwpngwywl nwuunhwpwynipntl 145,915.2 145,915.2
wyn pynid’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 145,915.2 145,915.2
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 145,915.2 145,915.2
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 84,882.2 84,882.2
wyn pynLd’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 39,965.0 39,965.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 39,965.0 39,965.0
nuwubphb swywunywbnn)
wyn pynid’
2. <wpuwquin sniabgnn wGdwag b 5,000.0 5,000.0

unghwywwbu wawwwhny pGunwlhplbnh
hwdwp hmnwpyuwynpniprwl Yugqdwlbnuwnd
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG
s c| 3 b O wuubph tnGwnbuwghnwwit = nudthn 1 b [ {
w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 5,000.0 5,000.0
3. Unghuwywuwbu wlwwwhny pGunwGhplbphG 27,140.0 27,140.0
wnnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp inptn 4269 850.0 850.0
- Uy pbpwghy npwiw0Gnphbtn 4639 25,700.0 25,700.0
- W Gwwuinbbp pinuobihg 4729 590.0 590.0
4. Unghuwywiwbu wliwwwhny wadwlg 7,825.0 7,825.0
wowlgnipint G
- <wwnnty GwwuinwywihG wyp ineptn 4269 1,825.0 1,825.0
- W Gwwuinbbp pinuobihg 4729 6,000.0 6,000.0
309010 | 9 | 0 |Unghwjwlwl wwpwnwwbnipini b (wyy 44917.2 44917.2
nwubphl swuwnluwbnn)
nphg’
3091/10| 9 | 1 |Unghwjwywl wwwnwwbntpntl (wy nwubph 35,765.2 35,765.2
swwuinywlnn)
wyn pynLd’
1. Unghuwywlw oqlnipjuwl dwrwynipintGGGph 35,765.2 35,765.2
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 33,641.1 33,641.1
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 1,000.0 1,000.0
- UndntGwy SwrwjnipntbbBn 4213 52.2 52.2
- Ywwh SwrwjnipnLbGbn 4214 89.0 89.0
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 300.0 300.0
Gnpngntd b wwhwwGnud
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 371.9 371.9
- Spwluwnpuwihb Gnipkn 4264 211.0 211.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 100.0 100.0
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 9,152.0 9,152.0
odwlnwy dwrwnipintbbtn (wy| nwuknhl
swwuinywlnn)
wyn pynid’
2. Upnnonipyul wwwhnywaqpnipint G 9,152.0 9,152.0
- Uywhnwgnwywb dwfuutin 4215 9,152.0 9,152.0
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 9

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

unr vnee JyuNruUyUL crRULh uund

(hwaquwip npwabenny)
=) al ANLobnwhG dwiuubnh gnpéwewywl nwuwlywngiwl | = wyn pynd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 2,979,828.7 2,826,928.7 152,900.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 510,160.9 499,660.9 10,500.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 496,021.0 488,521.0 7,500.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 496,021.0 488,521.0 7,500.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 496,021.0 488,521.0 7,500.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 375,606.0 375,606.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 33,801.3 33,801.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 25,220.0 25,220.0 -
- UndntGwy SwrwjnipntbbBn 4213 1,330.0 1,330.0 -
- Ywwh SwrwjnipnLbGbn 4214 13,635.0 13,635.0 -
- Uywhnjwgnwywb dwfuutin 4215 173.0 173.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 2,000.0 2,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 150.0 150.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 120.0 120.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 2,036.8 2,036.8 -
- Lbpyuwywgnigswlwb dwiuubp 4237 2,000.0 2,000.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 1,684.0 1,684.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 5,000.0 5,000.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 5,500.0 5,500.0 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

- Spwluwnpuwihb Gnipkn 4264 15,199.9 15,199.9 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 2,715.0 2,715.0 -
- Mwpunwnhp y&wnobn 4823 350.0 350.0 -
- Uj) Swiuutbn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 7,500.0 - 7,500.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Sweuwynipint GGG 8,639.9 8,639.9 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwbnip pbnyeh 8,639.9 8,639.9 -
SwrwjnLpnLbbEn
wyn pynLd’
1. Puwnwpwghwlwl Yugnipjwl wiwnbph 8,639.9 8,639.9 -
qpuiGguwl Gwpuyni pjwl gnpdnt Ghniprul
Juquwlybpynid (wundhpwlduwds
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 7,835.2 7,835.2 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 307.8 307.8 -
- UndntGwy SwrwjnipntbbBn 4213 22.0 22.0 -
- Ywwh SwrwjnipnLbGbn 4214 75.0 75.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 54.0 54.0 -
Gnpngntd b wwhwwGnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 268.0 268.0 -
- Ushgwnuwihb L hwbpwhG ubbnh OjneeGn 4267 68.8 68.8 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhl 3,000.0 - 3,000.0
SwewyntpynLGGEpH gény hbunwgnunwlwa b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGnip pGnyph hwOpwihb dwrwjnientGbEnh 3,000.0 - 3,000.0
qony hbuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynid’
1. Lwfuwqduyhl wipfuwnwlplbn 3,000.0 - 3,000.0
- LwjuwgéwhbGunwgnunwywb dwiuubin 5134 3,000.0 - 3,000.0

2160|101 | 6 | O | LGnhwlnip plGnyph hwipughl 2,500.0 2,500.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 2,500.0 2,500.0 -
nuwubphb swywunywbnn)
wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

== = 3 = nwaklp

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. DhdnidGbp, huwygunhdnidlbp, nuinwpwiGh 500.0 500.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 500.0 500.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 2,000.0 2,000.0 -
qpuiGguwl, quwhwwndwl b
wnbntyuwnynipiul tnpuwdwnpdwl hbwn
Yuwwywé JawpmidGlp
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -

2200/02|/0 | 0 MUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuubphl swwuinlwGnn) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 2,000.0 2,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 2,000.0 2,000.0 -

2400/04|0 | O SuStUuuUUL <UPurEMPNHE@3NFLLEN 94,392.9 84,392.9 10,000.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 57,000.0 47,000.0 10,000.0
nphg’

245104 | 5 | 1 |BwlwwwphwhO npwbuwnpun 47,000.0 47,000.0 -
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 45,000.0 45,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 45,000.0 45,000.0 -
wwhwwntd
3. Gqnuwpwptinh YGpwanpngnid 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 10,000.0 - 10,000.0
wyn pynid’
1. dbpbjuwyGph hhvGwlnpngnid 10,000.0 - 10,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 10,000.0 - 10,000.0

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 37,392.9 37,392.9 -
nwubphl swuwnluwbnn)
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnnigntGObp (wy) nwubphG 37,392.9 37,392.9 -
swwuinywlnn)
wyn pynid’
9. Nwpwwnhp YXwplbph quaddwl 37,392.9 37,392.9 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 37,392.9 37,392.9 -

2500(05|0 | 0 cNRUYU UhudusNrh mucsmuuNnt@3Ntu 687,524.9 687,524.9 -
wyn pynd’

2510/05| 1 | 0 |Unpwhwlnid 547,524.9 547,524.9 -
nphg’

2511{05| 1 | 1 |Unpwhw0ntd 547,524.9 547,524.9 -
wyn pynd’
1. Unpwhwlmpint G L uwlhunwpwluwl 547,624.9 547,524.9 -
duwpnpnid
- UndntGwy SwrwynLpntblOBn 4213 547,524.9 547,524.9 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 140,000.0 140,000.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 140,000.0 140,000.0 -
swwuinywlnn)
wyn pynid’
1. Ywlws tnwpwdplbph hhoGnid L 140,000.0 140,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbOGn 4213 140,000.0 140,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuururnHe3NHL B4 166,140.0 93,740.0 72,400.0

ynUNFLUL dunusnNt@3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 1,000.0 1,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 1,000.0 1,000.0 -
wyn pynid’
1. hapGwlwd uenyglbph pwannid 1,000.0 1,000.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 165,140.0 92,740.0 72,400.0
SwewynipynGGEn (wy nwubpha swwunlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywnwlwihb zhGwpwpniywb L Yndntbuwyg 165,140.0 92,740.0 72,400.0

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynid’
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E= T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl =3 = o0

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. Pwquiwpbwluwpwl p6Gpbph hwpp 31,000.0 31,000.0 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 31,000.0 31,000.0 -
wwhwwlntd
2. PuquiwpGulunwi 6Gpknh pbip 5,000.0 5,000.0 -
wnwbhplbbiph YGpwblnpngnid
- <wwnnty GwwuinwywihG wyp inptn 4269 5,000.0 5,000.0 -
3. Pwluyhl tnwipwdpllinh b 77,375.0 4,975.0 72,400.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 4,975.0 4,975.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 40,000.0 - 40,000.0
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngnid 5113 23,000.0 - 23,000.0
- Wy dbpbOwobn L uwppwynpniibtbp 5129 9,400.0 - 9,400.0
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpqdwl 51,765.0 51,765.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 40,000.0 40,000.0 -
wwhwwntd
- <wwnnty GwwuinwywihG wyp ineptn 4269 11,765.0 11,765.0 -

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 140,461.4 80,461.4 60,000.0
wyn pynLd’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh 6wrwynipiniGabn 63,000.0 3,000.0 60,000.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpunh SwrwjnipnttGbp 63,000.0 3,000.0 60,000.0
wyn pynid’
1. UynpunuyhG dhongurnidabph 3,000.0 3,000.0 -
Yuqdwlbpwni d
- Uy pbpwghy npwiw0Gnphbtn 4639 3,000.0 3,000.0 -
2. L<wlquinh gnunplbph L gpnuuwyghlGbph 60,000.0 - 60,000.0
Ywenignid m wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 46,000.0 - 46,000.0
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 14,000.0 - 14,000.0

2820108 | 2 | 0 |Vpwlnipuyhl dwruwynipinGGLp 77,461.4 77,461.4 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 37,589.6 37,589.6 -
wyn pynid’
1. Qpunwpwluyhl SwewynipintGaLn 37,689.6 37,589.6 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Untpuhnhwlbp ng $hOwbuwywl wenwywb 4511 37,589.6 37,589.6
(hwiwybpwih0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebwnpnbGep 24,871.8 24,871.8
wyn pynLd’
1. <wduylpuyhl drwlynyph b wquwn dwdwlbgh 24,871.8 24,871.8
Yuqiwlbpwni d
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 24,871.8 24,871.8
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieyniGbbn 15,000.0 15,000.0
wyn pynid’
1. Vwiynipuypl dhongwenidabph 15,000.0 15,000.0
hpwlwbwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 15,000.0 15,000.0

2900(09|0 | O urPENH33NHL 1,305,027.5 1,305,027.5
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 1,061,336.0 1,061,336.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepnta 1,061,336.0 1,061,336.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 1,061,336.0 1,061,336.0
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 1,061,336.0 1,061,336.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwluwpnuwlGGph snwuwlwpgynn 243,691.5 243,691.5
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 243,691.5 243,691.5
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 243,691.5 243,691.5
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 243,691.5 243,691.5
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 74,1211 74,1211
wyn pynid’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 31,335.0 31,335.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 31,335.0 31,335.0

nuwubphb swywunywbnn)

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = = 3 = nwaikop

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. Unghuwywwbu wawwwhny pGunwhplbnh 1,000.0 1,000.0
bp6luwlbbph hwaguwnh Yuqdwlybpnwnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 1,000.0 1,000.0
2. <wpuwquin sniabgnn wGdwag b 2,600.0 2,500.0
unghwjwwbu wawuwwhny plunwlhplbnh
hwdwp hninwipyuwynpnipywl uwqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,500.0 2,500.0
3. Unghuyuwwybu wiwwwhny pGunwlhplbnha 17,835.0 17,835.0
wnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 1,000.0 1,000.0
- <wwnnty GwwuinwywihG wyp neptn 4269 935.0 935.0
- Uy pbpwghy npwiw0Gnphbtn 4639 12,000.0 12,000.0
- W Gwwuinbbp pinuobihg 4729 3,900.0 3,900.0
4. Unghuwywiwbu wliwwwhny wadwlg 10,000.0 10,000.0
wowlgnipint G
- Uy pbpwghy npwiw0Gnphbtn 4639 8,000.0 8,000.0
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 2,000.0 2,000.0
Juaqiwybpwnipyntbtnhl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 42,786.1 42,786.1
nwubphl swuwnluwbnn)
nphg’

3091/10| 9 | 1 |Unghwjwywl wwawwwbnipntl (wy nwubph 32,698.1 32,698.1
swwuinywlnn)
wyn pynLd’
1. UnghuwywlwG oqGnipjuwl dwrwynipintGGGph 32,698.1 32,698.1
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwunnnGbph wfuwwnwywndbp L 4111 31,151.9 31,151.9
hwyblwydwnbbp
- UbpbOwlbph L uwppwydnpnidbbph pbpwghy 4252 241.0 241.0
Gnpngntd b wwhwwGnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 633.6 633.6
- Spwluwnpuwihb Gjnipkn 4264 601.6 601.6
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 70.0 70.0

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 10,088.0 10,088.0
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwuinywlnn)
wyn pynid’
2. Upnnonipjuwl wwwhnywapnipint 10,088.0 10,088.0
- Uywhnjwgnwywb dwfuutin 4215 10,088.0 10,088.0
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Gplwl punwph wywgubnt

2014 pqwywh neyunkiptph 23-h
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GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

LuAPe-UUrUG 4uN2uyuL crRULh vuund

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 532,063.6 498,872.0 33,191.6
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 190,709.6 188,564.6 2,145.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 189,659.6 188,214.6 1,445.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 189,659.6 188,214.6 1,445.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 189,659.6 188,214.6 1,445.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 152,503.0 152,503.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 13,725.3 13,725.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 4,046.4 4,046.4 -
- UndntGwy SwrwjnipntbbBn 4213 120.0 120.0 -
- Ywwh SwrwjnipnLbGbn 4214 3,177.6 3,177.6 -
- Uywhnjwgnwywb dwfuutin 4215 150.0 150.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 259.9 259.9 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 335.3 335.3 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,763.9 1,763.9 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 55.0 55.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 2,528.5 2,528.5 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 1,581.2 1,581.2 -
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

- Spwluwnpuwihb Gnipkn 4264 5,440.0 5,440.0 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 410.5 410.5 -
- Mwpunwnhp y&wnobn 4823 48.0 48.0 -
- Uj) Swiuutbn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 1,445.0 - 1,445.0

2150|101 | 5 | 0 | 2Gnhwlnip plGnyph hwipughl 700.0 - 700.0
SwewyntpynLGGEpH gény hbunwgnunwlwa b
Owfuwqduyhl wpfuwwnwGplbn
nphg’

2151|101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjnientGbEnph 700.0 - 700.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynd’
1. bwfuwqduyhl wipfuwunwlpabn 700.0 - 700.0
- LwjuwgswhbGunwgnunwywb dwiuukin 5134 700.0 - 700.0

2160|101 | 6 | 0 | 2Gnhwlnip plGnyph hwipughl 350.0 350.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pOnyph hwOpwihb swrwnipnLtGOGn (wy 350.0 350.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnidGbp, huwygunhdnidlbp, nuinwpwlGh 300.0 300.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpGyuwywglbihu
uwhdwlywd YAwpnidabp
- Mwpuwnhp y&wnobn 4823 300.0 300.0 -
2. Qnyph Gyuindwdp hpwyniGplabph 50.0 50.0 -
qpuibguwl, quwhwwndwl b
wnbntyuwnynipiul tnpuwdwnpdwl hbun
Yuwwywé JawpmidGlp
- Mwpuwnhp y&wnobn 4823 50.0 50.0 -

2200(02|0 | 0 nuUSSMULNEHB3NFL 1,000.0 1,000.0 -
wyn pynid’

2250|102 | 5 | O | Nwpwwuwlnipint G (wyy nuubphl swwuinlwGnn) 1,000.0 1,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pynid’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 1,000.0 1,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 1,000.0 1,000.0 -
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2400| 04 0 SuStuuuUL <UPurREMPNHE@3NFLLEN 35,477.0 19,430.4 16,046.6
wyn pynLd’

2420|104 | 2 | O | Yninuuwnbwnbunipnt G, whwnweuyhl 8,350.0 - 8,350.0
wnbwnbunipinia, d4aGnpunipinil L
npunpnnip/nLG
nphg’

2424|104 | 2 | 4 |Nengnid 8,350.0 - 8,350.0
wyn pynd’
1. Nenquwl gulgh Yuwenignid L 8,350.0 - 8,350.0
YGpwlnpngnid
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 8,350.0 - 8,350.0

2450104 | 5 | 0 | Spwluwnpuwn 23,696.6 16,000.0 7,696.6
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 unnpwbuwnpun 23,696.6 16,000.0 7,696.6
wyn pynd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 15,000.0 15,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwntd
4. <Ghwwunbph JbGpuwGnpngnid 2,352.6 - 2,352.6
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 2,352.6 - 2,352.6
5. <&wnhnuinG wlgm dGbph Yuemgnid L 6,344.0 1,000.0 5,344.0
YGpwlnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 1,000.0 1,000.0 -
wwhwwntd
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 5,344.0 - 5,344.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGan (wy 3,430.4 3,430.4 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwpwptnnignLbGbp (wy) nwubphG 3,430.4 3,430.4 -
swwuinywlnn)
wyn pynid’
9. Nwpuwnwnhp YXwplbph quaddwl 3,430.4 3,430.4 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,430.4 3,430.4 -

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 96,911.5 96,911.5 -
wyn pynid’

2510105 | 1 | 0 |Unpwhwlmu 75,740.5 75,740.5 -

nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

2511{05| 1 | 1 |UnpwhwOntd 75,740.5 75,740.5 -
wyn pynLd’
1. Unpwhwlmpint G L uwlhunwpwlwl 75,740.5 75,740.5 -
duwppnid
- UndntGwy SwrwynipjnLtbbGn 4213 75,740.5 75,740.5 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 21,171.0 21,171.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy nwubph 21,171.0 21,171.0 -
swwuinywlnn)
wyn pynLd’
1. Ywlws tnwpwdplbph hhoGnid L 20,000.0 20,000.0 -
wwhuwlni g
- UndntGwy SwrwynipntbbBn 4213 20,000.0 20,000.0 -
2. UjuwnwhwOdwl L dhpwwnwgbipnédwla 1,171.0 1,171.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwjnipntbbBn 4213 1,171.0 1,171.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnH@3NFL G4 16,000.0 1,000.0 15,000.0

unUNHLUL SunNu3NtE3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 1,000.0 1,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihb 2hGwpwpneeintb 1,000.0 1,000.0 -
wyn pynLd’
1. hapGwlwd uenyglbph pwannid 1,000.0 1,000.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 156,000.0 - 156,000.0
SwewynipyntGGEn (wy nwubpha swwunluwlnn)
nphg’

266106 | 6 | 1 |ROwywnwlwihb zhGwpwpnipywb L Yndntbuwyg 15,000.0 - 15,000.0
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynid’
3. Pwluyhl tnwpwdpllinh b 15,000.0 - 15,000.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 15,000.0 - 15,000.0

2800(08| 0 | 0 <UuLahus, ucuuntsme b4 urnu 19,796.1 19,796.1 -
wyn pynLd’
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

C = =| 3 o pwdhaltnh, fudptph L nwubph, hOswtu Gub 3

=5 8in 2 pINtebIWIhG Swiuubnh thnbuwGhiWyYWa Z Z| Dlnuwdblp quinswywo pigl | Sninuiht pnigt

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2810/ 08 | 1 | 0 | <waquuwnh L uynpunh GwrwynipintGaGn 4,937.4 4,937.4
nphg’

281108 | 1 | 1 |<wOquunh L uwynpunh SwrewjnipnttGbn 4,937.4 4,937.4
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 4,937.4 4,937.4
Juquwlbpwni g
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 4,937.4 4,937.4

282008 | 2 | 0 |Vpwlynmipuyhl sweuynipniGlGln 14,858.7 14,858.7
nphg’

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieyniGbbn 14,858.7 14,858.7
wyn pynid’
1. Vwiynipuypl dhongwenidabph 14,858.7 14,858.7
hpwluwlwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 14,858.7 14,858.7

2900(09|0 | O UPBNHB33NHL 148,195.9 148,195.9
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 106,686.0 106,686.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepntd 106,686.0 106,686.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 106,686.0 106,686.0
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 106,686.0 106,686.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwlwpnuwlGGph snwuwlwpgynn 41,509.9 41,509.9
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwyntpntl 41,509.9 41,509.9
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 41,509.9 41,509.9
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 41,509.9 41,509.9
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10|0 | O unshuLuyuLu nMucsMULNHB3NHL 23,973.5 23,973.5
wyn pynid’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 11,283.5 11,283.5

nwubphl swuwnluwbnn)

nphg’
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = OGnwskG
s =] b O wuubph tnGwnbuwghnwwit = " L 1 b [ {
w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 11,283.5 11,283.5
nuwubphb swywunywbnn)
wyn pynid’
1. Unghwywuwbu wiwwwhny paunwGhplbph 280.0 280.0
bGp6luwlbbiph hwaguwnh Yuqdwybpwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 280.0 280.0
2. <wpuwquin sniabgnn wGdwag b 1,500.0 1,500.0
unghwjwwbu wawuwwhny paunwlhplbnh
hwdwp hninwpyuwynpnipywl yuwqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,500.0 1,500.0
3. Unghuwyuwwybu wiwwwhny pGunwlhplbnha 4,803.5 4,803.5
wnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 4,676.0 4,676.0
- <wwnnty GwwuinwywihG wyp neptn 4269 127.5 127.5
4. Unghuwywwbu wliwwwhny wadwlg 4,700.0 4,700.0
wowlgnipint G
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 4,700.0 4,700.0
Juaqiwybpwnipyntbtphl
3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 12,690.0 12,690.0
nwubphl swuwnluwbnn)
nphg’
3091/10| 9 | 1 |Unghwjwywl wwawwwbnipntl (wy nwubph 9,674.0 9,674.0
swwuinywlnn)
wyn pynid’
1. UnghuwywlwG oqlnipjuwl dweuwynipintGGGph 9,674.0 9,674.0
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 9,375.4 9,375.4
hwyblwydwnbbp
- Ywwh SwrwjnipnLbGbn 4214 118.6 118.6
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 120.0 120.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 60.0 60.0
3092/ 10| 9 | 2 |Unghwjwywl wwwnwwbntpjwbp tnpwdwnpynn 3,016.0 3,016.0
odwlnwy dwrwnipintbbtn (wy nwukphl
swwuinywlnn)
wyn pynid’
2. Uennonipjuwl wwwhnywagpnipint 3,016.0 3,016.0
- Uywhnwgnwywb dwfuutin 4215 3,016.0 3,016.0
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LAAUNUTEL JuMuUuUL crauuh yuund

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = o0

c = = 3 = nwaikop

wm £ 3| g5 2 pintebunwihb dwiuubph tnbwnbuwghunwywb == Jwpswyw pneot | $nbnuwyhb pynwot

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9
LLNUUBLL SUUBN 332,463.5 295,363.5 37,100.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 118,867.1 116,767.1 2,100.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 117,767.1 116,267.1 1,500.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

211101 | 1 | 1 |OpGGunhp L gnpéwnhp dwpdhbGGep, wEwnwywb 117,767.1 116,267.1 1,500.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 117,767.1 116,267.1 1,500.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 93,457.0 93,457.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 8,411.1 8,411.1 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 1,400.0 1,400.0 -
- UndntGwy SwrwjnipntbbBn 4213 60.0 60.0 -
- Ywwh SwrwjnipnLbGbn 4214 2,100.0 2,100.0 -
- Uywhnjwgnwywb dwfuutin 4215 150.0 150.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 800.0 800.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 311.0 311.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 600.0 600.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 1,400.0 1,400.0 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 1,484.8 1,484.8 -
- Spwluwnpuwihb Gnipkn 4264 5,357.2 5,357.2 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 100.0 100.0 -
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c |al o ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
- Mwpunwnhp y&wnobn 4823 66.0 66.0 -
- Uj) Swiuutbn 4861 500.0 500.0 -
- Jwpswywb uwppwynpniibbn 5122 1,500.0 - 1,500.0
2150|101 | 5 | 0 | 2Gnhwlnip plGnyph hwipughl 600.0 - 600.0
SwewyntpynLGGEpH gény hbunwgnunwlwa b
Owfuwqduyhl wpfuwwnwGplbn
nphg’
2151|101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjnientGbEnph 600.0 - 600.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynd’
1. bwfuwqduyhl wipfuwunwlpabn 600.0 - 600.0
- LwjuwgswhbGunwgnunwywb dwiuubin 5134 600.0 - 600.0
2160|101 | 6 | 0 | 2Gnhwlnip plGnyph hwipughl 500.0 500.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CGnhwlntp pGnyph hwOpwihb SwrwjnipjnLtGOGn (wy) 500.0 500.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhdnidGbp, huwygunhdnidlbp, nuinwpwlGh 200.0 200.0 -
npnnidG6ph L YAhrGEph nbd YGpwpllhs b
YApwpll pnnnplbp GEpGyuwywglbihu
uwhdwlywd YAwpnidabp
- Mwpuwnhp y&wnobn 4823 200.0 200.0 -
2. Qnyph Gyundwdp hpwyniGplabph 300.0 300.0 -
qpuibguwl, quwhwwndwl b
wnbntyuwnynipiul tnpuwdwnpdwl hbw
Yuwwywé JawpmdGlp
- Mwpuwnhp y&wnobn 4823 300.0 300.0 -
2200(02|0 | 0 nuUSSMULNEHB3NFL 500.0 500.0 -
wyn pynid’
2250|102 | 5 | O | Nwpwwuwlnipint G (wyy nuubphl swwuinlwGnn) 500.0 500.0 -
nphg’
2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 500.0 500.0 -
wyn pynid’
1. 2npwlynsp uquwlbpwdwal wowlygnipini G 500.0 500.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 500.0 500.0 -
2400/04|0 | O SuStuuuUL <UPurREMPNHE@3NFLLEN 12,450.0 12,450.0 -

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

2450104 | 5 | 0 | Spwluwnpuwn 10,000.0 10,000.0 -
nphg’

2451|104 | 5 | 1 |Swlwwwphwhb npwbuwnpun 10,000.0 10,000.0 -
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 10,000.0 10,000.0 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 2,450.0 2,450.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwpwpbnnigntbGbp (wy nwubphb 2,450.0 2,450.0 -
swwinywlnn)
wyn pynLd’
9. Nwpwwnhp YXwplbph quaddwl 2,450.0 2,450.0 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,450.0 2,450.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuuNt@3Ntu 32,417.0 32,417.0 -
wyn pynid’

2510|/05| 1 | 0 |Unpwhwlnid 22,417.0 22,417.0 -
nphg’

2511{05| 1 | 1 |Unpwhw0ntd 22,417.0 22,417.0 -
wyn pynid’
1. Unpwhwlnmpint G L uwlhunwpwluwl 22417.0 22,417.0 -
duwppnid
- UndntGwy SwrwynipntbbBn 4213 22,417.0 22,417.0 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 10,000.0 10,000.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw vhowdwnh wwunwwbnipintb (wy nwubph 10,000.0 10,000.0 -
swwuinywlnn)
wyn pynid’
1. Ywlws tnwpwdplbph hhoGnid L 10,000.0 10,000.0 -
wwhuwwbni g
- UndntGwy SwrwjnipntbbBn 4213 10,000.0 10,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnH@3NFL G4 48,190.0 13,190.0 35,000.0

unUNHLUL Sunu3NtE3NFLLEN

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 (3 |4 5 6 7 8

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 600.0 600.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 600.0 600.0 -
wyn pynLd’
1. hapGwlwd uenyglbph pwannid 600.0 600.0 -
- Uj) Swiuutbn 4861 600.0 600.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipuwl b YndniGuy 47,590.0 12,590.0 35,000.0
SwewynipyntGGEn (wy nwubpha swwunluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 47,590.0 12,590.0 35,000.0
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 7,690.0 7,690.0 -
wnwbhplbiph YGpwbnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 7,590.0 7,590.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 21,000.0 - 21,000.0
wnwbhplbiph YGpwbnpngnid
- GLlpbnh L 2hOnepyntGOEnph Yuwwhuwy yepwbnpngnid 5113 21,000.0 - 21,000.0
3. Pwluyhl tnwpwdpllinh b 14,000.0 - 14,000.0
fuwnwhpwwwpuwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 14,000.0 - 14,000.0
4. Puwqiwplwluwpwl )6Gpbph pupbywnpqdwl 5,000.0 5,000.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd

2800(08| 0 | 0 <UuLahus, ucuunt3me b4 urnu 12,8171 12,8171 -
wyn pynLd’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh 6wrwynipiniGabn 2,000.0 2,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 2,000.0 2,000.0 -
wyn pynid’
1. UynpunuyhG dhongurnidabph 2,000.0 2,000.0 -
Yuqiwlbpwni d
- Uy pbpwghy npwiw0Gnphbtn 4639 2,000.0 2,000.0 -

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipinGGbp 10,817.1 10,817.1 -
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

== = 3 = nwaklp

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2821| 08 1 | QpwnwpwdGbn 5,817.1 5,817.1
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGLn 5,817.1 5,817.1
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 5,817.1 5,817.1
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieyniGbbn 5,000.0 5,000.0
wyn pynid’
1. Vwiynipuyhl dhongwenidabph 5,000.0 5,000.0
hpwlwbwgnid
- Uyl pbpwghy npwiw0Gnphbtn 4639 5,000.0 5,000.0

2900(09|0 | O urPENH33NHL 91,9071 91,9071
wyn pynd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 44,079.0 44,079.0
Yppnipnt G
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 44,079.0 44,079.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 44,079.0 44,079.0
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 44,079.0 44,079.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 47,828.1 47,828.1
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunnwnwpngwywl nwuunhwpwyntpntl 47,8281 47,8281
wyn pynLd’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 47,828.1 47,828.1
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 47,8281 47,8281
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 15,315.2 15,315.2
wyn pynid’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 4,270.0 4,270.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 4,270.0 4,270.0
nuwubphb swywunywbnn)
wyn pynid’
1. Unghwywuwbu wiwwwhny plunwGhplbph 200.0 200.0

Gpbfluwbbph hwaquwnp Yuqdwlbpnwnd
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
- Qnyph L uwppwydnpnidbbph yupdwywintpinta 4216 200.0 200.0
2. <wpuquin sniGbgnn wGdwlg b 500.0 500.0
unghwjwwbu wawuwwhny paunwlhplbnh
hwdwp hninwpyuwynpnipywl yuwqdwlbnwnid
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 500.0 500.0
3. Unghuwyuwwybu wiwwwhny pGunwlhplbnha 1,970.0 1,970.0
wnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp neptn 4269 170.0 170.0
- Uy pbpwghy npwiw0Gnphbtn 4639 1,800.0 1,800.0
4. Unghuwywiwbu wliwwwhny wadwlg 1,600.0 1,600.0
wowlgnipint G
- Uy pbpwghy npwiw0Gnphbtn 4639 1,600.0 1,600.0
309010 | 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 11,045.2 11,045.2
nwubphl swuwnluwbnn)
nphg’
3091/10| 9 | 1 |Unghwjwywl wwwwwbnipntl (wy nwubph 9,017.2 9,017.2
swwuinywlnn)
wyn pynLd’
1. Unghuwywlw oqlnipjuwl dwrwynipintGGGph 9,017.2 9,017.2
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 8,764.5 8,764.5
hwyblwydwnbbp
- Ywwh SwrwjnipnLbGbn 4214 69.8 69.8
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 182.9 182.9
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 2,028.0 2,028.0
odwlnwy dwrwnipintbbtn (wy; nwuknhl
swwuinywlnn)
wyn pynLd’
2. Upnnonipyul wwwhnywaqpnipini G 2,028.0 2,028.0
- Uywhnjwgnwywb dwfuutin 4215 2,028.0 2,028.0

124




{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Uryntuwy 12

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

t6uLQUJb@ YUNUUUL cNrRULN UUUNY

(hwaquwip npwabenny)

e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwkap

-:.% Z 3| E Eﬂ pintobinwihl swiuutinh inbwnbuwghnwywh o= Jwnswyw pniet | $nlnwhb pniob

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 2,792,340.5 2,612,840.5 179,500.0
2100{01|0 | O oun<ULNEN ALNE3RBH <ULNU3LL 484,336.9 449,336.9 35,000.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 466,197.0 434,197.0 32,000.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 466,197.0 434,197.0 32,000.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 440,697.0 434,197.0 6,500.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 334,744.0 334,744.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 30,110.0 30,110.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 13,886.0 13,886.0 -
- UndntGwy SwrwjnipntbbBn 4213 1,110.8 1,110.8 -
- Ywwh SwrwjnipnLbGbn 4214 11,656.5 11,656.5 -
- Uywhnjwgnwywb dwfuutin 4215 346.0 346.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 320.0 320.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 1,239.8 1,239.8 -
- Lbpyuwywgnigswlwb dwiuubp 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,500.0 1,500.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 144.0 144.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 6,436.4 6,436.4 -
Gnpngntd b wwhwwGnid
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 5,500.0 5,500.0 -
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gnipkn 4264 21,453.5 21,453.5 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 1,500.0 1,500.0 -
- Mwpunwnhp y&wnobn 4823 250.0 250.0 -
- Uj) Swiuutbn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 6,500.0 - 6,500.0
2. dwpswluwlb opyiyinGlinh hhdGwanpngnid 25,500.0 - 25,5600.0
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngnid 5113 25,500.0 - 25,500.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Sweuwynipint GGG 8,639.9 8,639.9 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwbnip pbnyeh 8,639.9 8,639.9 -
SwrwjnLpnLbbEn
wyn pynLd’
1. Puwnwpwghwlwl Yugnipjwl wiwnbph 8,639.9 8,639.9 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wundhpwlduwds
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 8,035.2 8,035.2 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 404.7 404.7 -
- UndntGwy SwrwjnipntbbBn 4213 10.0 10.0 -
- Ywwh SwrwjnipnLbGbn 4214 88.0 88.0 -
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 92.9 92.9 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150101 | 5 | 0 | 2anhwanip pGnyph hwapuyhG 3,000.0 - 3,000.0
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjniintGbEnh 3,000.0 - 3,000.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 3,000.0 - 3,000.0
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 3,000.0 - 3,000.0

2160|101 | 6 | O | LGnhwlnip plGnyph hwipughl 6,500.0 6,500.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 6,500.0 6,500.0 -

nuwubphb swywunywbnn)

wyn pynLd’
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 2 |3 |4 5 6 7 8

1. MhdnidGbp, huwygunhdnidlabp, nuwnwpwih 2,000.0 2,000.0 -
npnpnLdGbph L YAhraGbph nbd Yapwplahs b
YApwpll pnnnplbp GEpLyuwywglbihu
uwhdwlywd YXwpnidabp
- Mwpuwnhp y&wnobn 4823 2,000.0 2,000.0 -
2. Qnuyph GLundwdp hpwyniGplbnph 4,500.0 4,500.0 -
qpuiGguwl, quwhwwndwl b
wnbnbyunynipiul tnpuwdwnpdwl hbun
Yuwdwo Jawpmoabn
- Mwpunwnhp y&wnobn 4823 4,500.0 4,500.0 -

2200/02|/0 | 0 nuUcSMULNEB@3NFL 2,000.0 2,000.0 -
wjn pyntd’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuubphl swwuinlwGnn) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2npuwlnsh Guqdwybpudwll wowlygnipiniG 2,000.0 2,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 2,000.0 2,000.0 -

2400/04|0 | O SLSGUULUUL <UNPurtMPNt@3NFLLEN 87,636.7 77,636.7 10,000.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 45,636.7 35,636.7 10,000.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 nnpwluwnpun 35,636.7 35,636.7 -
wyn pynLd’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 28,636.7 28,636.7 -
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 28,636.7 28,636.7 -
wwhwwntd
3. Gqnuwpwptinh YGpwanpngnid 7,000.0 7,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 7,000.0 7,000.0 -
wwhwwntd

245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnnpun 10,000.0 - 10,000.0
wyn pynid’
1. dbpbjuwyGph hhvGwlnpngnid 10,000.0 - 10,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 10,000.0 - 10,000.0

2490|104 | 9 | 0 | SGwnbGuwluwl hwpwpbpnipiniGGEn (wy 42,000.0 42,000.0 -
nwubphl swuwnluwbnn)
nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnnigntGObp (wy) nwubphG 42,000.0 42,000.0 -
swwuinywlnn)
wyn pynid’
9. Nwpwwnhp YXwplbph quaddwl 42,000.0 42,000.0 -
Swpwyntpn GGG
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 16,900.0 16,900.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 25,100.0 25,100.0 -
Juaqiwybpwnipyntbtnhl

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 618,539.8 618,539.8 -
wyn pynid’

2510|/05| 1 | 0 |Unpwhwlnid 462,039.8 462,039.8 -
nphg’

2511105| 1 | 1 [UnpwhwOntd 462,039.8 462,039.8 -
wyn pynid’
1. Unpwhwlnipnt b b uwGhunwpwlywl 462,039.8 462,039.8 -
duwppnid
- UndntGwy SwrwynipntbbBn 4213 462,039.8 462,039.8 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 166,500.0 166,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy nwubph 156,500.0 156,500.0 -
swwuinywlnn)
wyn pynLd’
1. Ywlws tnwpwdplbph hhoGnid L 150,000.0 150,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbBn 4213 150,000.0 150,000.0 -
2. UfunnwhwGoiwG b dhpwwnwgbpddwl 5,000.0 5,000.0 -
Swipuynipyni GG6Gp /nbrunnhquighw
- UndntGwy SwrwjnipntbbBn 4213 5,000.0 5,000.0 -
3. <wuwnpwuwlwl gniquipwbGbph 1,500.0 1,500.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwjnipntbbBn 4213 1,500.0 1,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnH@3NFL G4 211,502.5 77,002.5 134,500.0

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 2,000.0 2,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 2,000.0 2,000.0 -

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w 2 3 2 pInLetnwy n g £ = Junswywl pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. hapGwlwd uenyglbph pwannid 2,000.0 2,000.0 -
- Uj) Swiuutbn 4861 2,000.0 2,000.0 -

264006 | 4 | 0 | @nnnghtiph (ntuwydnpnid 9,000.0 2,000.0 7,000.0
nphg’

2641|/06 | 4 | 1 |®Onnnglbph |ntuwynpnid 9,000.0 2,000.0 7,000.0
wyn pynLd’
3. Cbapbiph gnwpybuwnwlwl (niuwynpnid 9,000.0 2,000.0 7,000.0
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 7,000.0 - 7,000.0

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 200,502.5 73,002.5 127,500.0
SwewynipyntGGEn (wy nwubpha swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlbwihb zhGwpwpniywb L Yndntbuwg 200,502.5 73,002.5 127,500.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 20,002.5 20,002.5 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 20,002.5 20,002.5 -
wwhwwntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 40,500.0 28,000.0 12,500.0
wnwbhplbbiph YGpwblnpngnid
- <wwnnty GwwuinwywihG wyp ineptn 4269 28,000.0 28,000.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngnid 5113 12,500.0 - 12,500.0
3. Pwluyhl tnwipwdpllinh b 120,000.0 5,000.0 115,000.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 110,000.0 - 110,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 5,000.0 - 5,000.0
4. Puqdwpluwlupwl p6Gpbnh pwnpbliwnqdwl 20,000.0 20,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwntd

2800/08| 0 | O <UuLahus, ucuuntsme b4 urnu 101,472.5 101,472.5 -
wyn pynid’

2810/ 08 | 1 | 0 |<waquuwnh L uynpuinh 6wrwynipiniGaGn 3,000.0 3,000.0 -

nphg’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w 2 3 2 pInLetnwy n g £ = Junswywl pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

281108 | 1 | 1 |<wOquunh L uwynpunh SwrewjnipnttGbn 3,000.0 3,000.0
wyn pynLd’
1. UynpunuyhG dhongurnidGbph 3,000.0 3,000.0
Yuqiwlbpwni d
- Uy pbpwghy npwiw0Gnphbtn 4639 3,000.0 3,000.0

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipinGGbp 98,472.5 98,472.5
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 38,880.1 38,880.1
wyn pynid’
1. Qpunwpwluyhl SwewyntpintGGLn 38,880.1 38,880.1
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 38,880.1 38,880.1
(hwiwybpwih0) Yuwgiwytnpwnipyntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebwnpnbGep 28,592.4 28,592.4
wyn pynLd’
1. <wduylpuyhl drwlynyph b wquwn dwdwlgh 28,692.4 28,692.4
Yuqiwlbpwni d
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 28,592.4 28,592.4
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vwynipwihb YuqiwybpwnipyniGbbn 31,000.0 31,000.0
wyn pynLd’
1. Vpwiynipuyhl dhonguenidabph 31,000.0 31,000.0
hpwlwbuwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 31,000.0 31,000.0

2900(09|0 | O urPENH33NHL 1,216,075.2 1,216,075.2
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 949,788.0 949,788.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywl Ynppnepnta 949,788.0 949,788.0
wyn pynid’
1. Lwfuwi nquljwii niunignid 949,788.0 949,788.0
- UntpupnhwGtp ng $howlbuwyub wewnwywb 4511 949,788.0 949,788.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn bwluwpnuwlGGph snwuwluwpgynn 262,599.3 262,599.3
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunnwnwpngwywl nwuunhwpwynipntl 262,599.3 262,599.3

wyn pynLd’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

s c| 3 b O wuubph tnGwnbuwghnwwit = nudthn 1 b [ {

w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

1. Upwnw ngqwlwl nwuwnhwpwlynipini 262,599.3 262,599.3
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 262,599.3 262,599.3
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2960|109 | 6 | 0 | Yppnigywlp wpwdwnpynn odwlnwy 3,687.9 3,687.9
SwpwyntpynLGGEN
nphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy dwrwjnipntGbbn 3,687.9 3,687.9
wyn pynd’
1. Lwfuwi nquiljuwil hwuwnuwiinni pint GGG 3,687.9 3,687.9
hhdGwGnpngnid L Jpwnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 3,687.9 3,687.9
wwhwwntd

3000{10| 0 | O unshuLuyuu nucSMULNH33NHL 70,776.9 70,776.9
wyn pynLd’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipintGGEn (wyy 33,327.4 33,327.4
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 33,327.4 33,327.4
nuwubphb swywunywbnn)
wyn pynLd’
1. Unghuwywwbu wawwwhny pGunwhplbnh 1,000.0 1,000.0
bGp6luwlbbiph hwaguwnh Yuqdwybpwnid
- Qnyph L uwppwynpnidbbph yupdwywintpinta 4216 1,000.0 1,000.0
2. <wpuwquin sniabgnn wGdwag b 4,025.0 4,025.0
unghwjwwbu wawuwwhny plunwlhplbnh
hwdwp hninwipyuwynpnipywl uqdwlbnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 4,025.0 4,025.0
3. Unghuwywuwbu wlwwwhny pGunwlhplbphG 22,3024 22,302.4
wnnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- <wwnnty GwwuinwywihG wyp nepkn 4269 802.4 802.4
- Uyl pbpwghy npwiw0Gnphbtn 4639 17,500.0 17,500.0
- W Gwwuinbbp pinuobihg 4729 4,000.0 4,000.0
4. Unghuwywwbu wiwwwhny wadwlg 6,000.0 6,000.0
wowlgnipint G
- W Gwwuinbbp pinuobihg 4729 4,000.0 4,000.0
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 2,000.0 2,000.0
Juaqiwybpwnipyntbtphl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 37,449.5 37,449.5
nwubphl swuwnluwbnn)
nphg’
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e al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
=] % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9
3091/10| 9 | 1 |Unghwijwywl wwwwwbnipntl (wy nwubph 28,141.5 28,141.5
swwuinywlnn)
wyn pynid’
1. UnghuwywlwG oqlnipjuwl dwewynipintGGGph 28,141.5 28,141.5
qnpontGGnpjwl Yuqdwybpwnd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 26,457.3 26,457.3
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGep 4212 773.9 773.9
- UndntGwy SwrwynipntbbBn 4213 58.0 58.0
- Ywuwh SwrwjnipnLtGbn 4214 152.2 152.2
- Lkipphb gnpéninnLibbn 4221 48.0 48.0
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 652.1 652.1
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpwdwnpynn 9,308.0 9,308.0
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwuinywlnn)
wyn pynLd’
2. Upnnonipyul wuwwhnywaqpnipint G 9,308.0 9,308.0
- Uywhnjwgnwywb dwfuutin 4215 9,308.0 9,308.0
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{wyblyws N 7
Gplwl punwph wywgubnt
2014 pqwywh neyunkiptph 23-h
N 265-U npnpdwl
Unyntuwy 13

GNE4YULN 2015 BFYULUULP A3NFRGH YUNMUUUL B4 SNLAUSHL UUUBNhS LUsuusntuLENe” cUS A3NFRESU3hL SUluUENh
anPouNnuuuL b4y sustuuahsuuuL UUULWUNQUUL

2ULULEN-263BNIL YUN2UYUL crRULh yuund

(hwaquwip npwabenny)
al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngdiw ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = COnwika

c£ 3 g3 0 dwluubnh tGnbuwghwlwl 2 st G pnigt | nOnwihG pintg

o2 3| E 2 pintobuinwihG wiuubph i Lol == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
11213 |4 5 6 7 8 9
pLAUUGBLL SUuluUuGP 1,897,503.1 1,790,085.1 107,418.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 425,625.1 417,707.1 7,918.0
ounusnt@3NtuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunhp L gnpéwnhn dwpdhaabn, 417,239.4 410,821.4 6,418.0
wbwnwlwlo yuewdwpnid, phGwbuwlwl b
hwpyuwpmgtuinuyhl hwpwpbpnipni GG6n,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGGunhp L gnpdwnhp dwpdhGGtn, wewnwywo 417,239.4 410,821.4 6,418.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 417,239.4 410,821.4 6,418.0
- U2uwuinnnGbph wfuwwnwywndbp L 4111 316,655.0 316,655.0 -
hwyblwydwnbbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuniunidObn b 4112 28,493.0 28,493.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLbGen 4212 21,336.0 21,336.0 -
- UndntGwy SwrwjnipntbbBn 4213 1,643.0 1,643.0 -
- Ywwh SwrwjnipnLbGbn 4214 9,708.4 9,708.4 -
- Uywhnjwgnwywb dwfuutin 4215 250.0 250.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwiuubin 4222 1,500.0 1,500.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 500.0 500.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 70.0 70.0 -
- SbnGYwuinywywh swewjnipyntGlbn 4234 1,395.8 1,395.8 -
- Lbpyuwywgnigswlwb dwiuubp 4237 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -
- Uwubwghunwyw swrwjnipjntbbbn 4241 581.0 581.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 4,060.0 4,060.0 -

Gnpngntd b wwhwwGnid
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = =g = nwaklp

w2 3| 5 & pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
=
1 12 |3 |4 5 6 7 8 9

- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 3,412.7 3,412.7 -
- Spwluwnpuwihb Gnipkn 4264 15,509.3 15,509.3 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojnubn 4267 1,557.2 1,557.2 -
- Mwpuwnhp y&wnobn 4823 150.0 150.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 6,418.0 - 6,418.0

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 5,785.7 5,785.7 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 5,785.7 5,785.7 -
SwrwjnLpntblGn
wyn pynid’
1. Pwnwpwghwlwl ugnipiulb wliwnbnph 5,785.7 5,785.7 -
qpuiGguwl Gwpuyn pjwl gnpdnt Ghniprul
Juquwlybpynid (wuwndhpwlduws
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 4,194.7 4,194.7 -
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 245.1 245.1 -
- Ywwh SwrwjnipnLbGbn 4214 108.0 108.0 -
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 1,228.8 1,228.8 -
- Mwpuwnhp y&wnobn 4823 9.1 9.1 -

2150|101 | 5 | 0 | 2Gnhwlnip plGnyph hwipughl 1,500.0 - 1,500.0
SweuwyntpynLGGEpH gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwinwGplbn
nphg’

215101 | 5 | 1 [2GnhwGntp pGnyph hwOpwihb dwrwjniintGbEnh 1,500.0 - 1,500.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 1,500.0 - 1,500.0
- LwjuwgswhbGunwgnunwywb dwfuutin 5134 1,500.0 - 1,500.0

216001 | 6 | 0 | 2anhwGnip pGnyph hwapuyhl 1,100.0 1,100.0 -
SwpwynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CGnhwlntp pOnyph hwOpwihb SwrwnipnLtGOGn (wy 1,100.0 1,100.0 -
nuwubphb swywunywbnn)
wyn pynid’
1. DhdnidGbp, huwygunhdnidlbp, nuinwpwiGh 500.0 500.0 -

npnynLdGliph L JAhrGhph nbd Jepwplihs b
YApwplly pnnnplbn GEpLuywgllihu
uwhdwlywo JXwpnidabn

134




al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Mwpunwnhp y&wnobn 4823 500.0 500.0
2. Qnyph Gyuindwdp hpwyniGplabph 600.0 600.0
qpuibguwl, quwhwwndwl b
wnbntyuwnynipiul tnpuwdwnpdwl hbwn
Yuwwywé JawpmdGlp
- Mwpuwnhp y&wnobn 4823 600.0 600.0

2200(02|0 | 0 nUCSMULNHB3NFL 1,500.0 1,500.0
wyn pynid’

2250|102 | 5 | O | Nwpwnwuwlnipnt G (wyy nuubphl swwuinlwGnn) 1,500.0 1,500.0
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0
wyn pynid’
1. 2npuwlnsh quqdwlybpudwil wowlygnipiniG 1,500.0 1,500.0
- Uyl pbpwghy npwiw0Gnphbtn 4639 1,500.0 1,500.0

2400(04| 0 | O SuStuuuwUL <UPuREMPNHE@3NFLLEN 50,250.0 50,250.0
wyn pynid’

2450104 | 5 | 0 | Spwluwnpuwn 28,500.0 28,500.0
nphg’

245104 | 5 | 1 |BwlwwwphwhO npwbuwnpun 28,500.0 28,500.0
wyn pynid’
1. Uudpwyin-pbuinnlyw swdyh Jbpwlnpngnid 28,500.0 28,500.0
L wwhwwlnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 28,500.0 28,500.0
wwhwwntd

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGan (wy 21,750.0 21,750.0
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwpwptnnignLbGbp (wy) nwubphG 21,750.0 21,750.0
swwuinywlnn)
wyn pynLd’
9. Nwpuwnwnhp YXwplbph quaddwl 21,750.0 21,750.0
Swpwyntpn GGG
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 9,000.0 9,000.0
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 12,750.0 12,750.0
Juaqiwybpwnipyntbtphl

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 404,727.8 404,727.8

wyn pynid’
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

2510/05| 1 | 0 |Unpwhwlnd 312,727.8 312,727.8 -
nphg’

2511{05| 1 | 1 |UnpwhwOntd 312,727.8 312,727.8 -
wyn pynLd’
1. Unpwhwlmpint G L uwlhunwpwlwl 312,727.8 312,727.8 -
duwppnid
- UndntGwy SwrwynipjntbbGn 4213 312,727.8 312,727.8 -

256005 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 92,000.0 92,000.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy nwubph 92,000.0 92,000.0 -
swwuinywlnn)
wyn pynLd’
1. Ywlws tnwpwdplbph hhoGnid L 92,000.0 92,000.0 -
wwhuwwbni g
- UndntGwy SwrwynipntbbBn 4213 92,000.0 92,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuururnHe3NFL B4 146,000.0 46,500.0 99,500.0

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynid’

2610|106 | 1 | 0 | Phwlwpwluyhl ppGwpwpnipinil 1,000.0 1,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 1,000.0 1,000.0 -
wyn pynid’
1. hapGwlwd uenyglbph pwannid 1,000.0 1,000.0 -
- Uj) Swiuutbn 4861 1,000.0 1,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl ppGwpwpnipyuwl b YndniGuy 145,000.0 45,500.0 99,500.0
SwewynipyntGGEn (wy nwubpha swwunluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 145,000.0 45,500.0 99,500.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquiwpbwluwpwl p6Gpbph hwpp 10,000.0 10,000.0 -
wnwbhplbbiph YGpwblnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl p6Gpbph pbp 12,500.0 - 12,500.0
wnwbhplbbiph YGpwbnpngnid
- GLlpbnh L 2hOnepyntGbEnph Yuwwhunwy yepwbnpngnid 5113 12,500.0 - 12,500.0
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

=i £l 3 Guwiht swiuubph nhnbuwghunwywh Z2 udsD 1 b G { G

w = 3 &= RINLY ) n q = F Juwnswywb pyniy $nlnwyiha pniy

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

3. Pwluyhl tnwipwdpllinh b 90,000.0 3,000.0 87,000.0
fuwnwhpwwwpuwlGbph hhdGwGnpngnid ni
wwhuwwbni g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwlntd
- GLlpbnh L 2hOnepyniGbEnph Yuwwhunwy yepwbnpngnid 5113 82,000.0 - 82,000.0
- Wy dbpbOwobn L uwppwynpniibbp 5129 5,000.0 - 5,000.0
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpgdwl 32,600.0 32,5600.0 -
wyy wipfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 22,500.0 22,500.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdwOpuwihb) ns 4521 10,000.0 10,000.0 -
$hlwluwywb Yugiwytnpwnipntbbbph

2800(08| 0 | 0 <UuLahus, ucuuntsme b4 urnu 57,295.0 57,295.0 -
wyn pynLd’

2810/ 08 | 1 | 0 | <waquuwnh L uynpuinh 6wrwynipiniGabn 3,635.0 3,635.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrewnipnLbGbp 3,635.0 3,635.0 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 3,635.0 3,635.0 -
Yuqiwlbpwni d
- Uy pbpwghy npwiw0Gnphbtn 4639 3,635.0 3,635.0 -

2820108 | 2 | 0 |Vpwlnipuyhl dwruwynipinGGLp 53,660.0 53,660.0 -
nphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 26,229.8 26,229.8 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGLn 26,229.8 26,229.8 -
- Untpuhnhwbp ng $hOwbuwywl wtnwywb 4511 26,229.8 26,229.8 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebwnpnbGenp 15,623.2 15,623.2 -
wyn pynid’
1. <wduylpuyhl drwlynyph b wquwn dwdwlgh 15,623.2 15,623.2 -
Yuqiwlbpwni d
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 15,623.2 15,623.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb YuqiwybpwnipyniGbbn 11,807.0 11,807.0 -
wyn pynid’
1. Vwiynipuyhl dhongwenidabph 11,807.0 11,807.0 -
hpwlwbuwgnid
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=) al ANLobnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % =) pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
-:.% Z 3| E Eﬂ pnobinwihG dwiuubph nnbwnbuwghunwywb == Jwpswyw pniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 12 |3 |4 5 6 7 8 9

- Uy pbpwghy npwiwz0Gnphbtn 4639 11,807.0 11,807.0

2900(09|0 | O urPENH33NHL 745,671.3 745,671.3
wyn pynd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwbnip 529,566.0 529,566.0
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 529,566.0 529,566.0
wyn pynLd’
1. Lwfuwi nquljwii niunignid 529,566.0 529,566.0
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 529,566.0 529,566.0
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 213,105.3 213,105.3
Uppnipyntl
nphg’

2951|109 | 5 | 1 |Upunnwnwpngwywb nwuunhwpwyntpntl 213,105.3 213,105.3
wyn pynid’
1. Upwnw ngqwlwl nwuwnhwpwlynipini 213,105.3 213,105.3
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 213,105.3 213,105.3
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2960|109 | 6 | 0 | Yppnipywlp wpwdwnpynn odwlnwy 3,000.0 3,000.0
SwpwyntpynLGGEN
nphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy dwrwjnientGbbn 3,000.0 3,000.0
wyn pynid’
1. Lwfuwi nquiljuwil hwuwnuwiinni pint GGG 3,000.0 3,000.0
hhdGwGnpngnid L Jpwnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 3,000.0 3,000.0
wwhwwntd

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 66,433.9 66,433.9
wyn pynLd’

3070|110 | 7 | O |Unghwjwlwl hunny wpuwnnGnipint GGG (wyy 33,605.0 33,605.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 33,605.0 33,605.0
nuwubphb swywunywbnn)
wyn pynid’
1. Unghuwywwbu wawwwhny pGunwhplbnh 1,900.0 1,900.0

Gpbfluwbbph hwaquwnp Yuqdwlbpnwnd
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al o Pntobuinuhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

= = % E= 1 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3 = 0OnwdkG

s c| 3 b O wuubph tnGwnbuwghnwwit = nudthn 1 b [ {

w2 3| E 2 pinLeGunwih n sl o= Junswlw pnigt | $nlnwhb pynieb

a| =2 nwuwywpgiwo hnnuétbph  wojwonidatpp =
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,900.0 1,900.0
2. <wpuwquin sniabgnn wGdwag b 1,500.0 1,500.0
unghwjwwbu wawuwwhny paunwlhplbnh
hwdwp hninwpyuwynpnipywl yuwqdwlbnwnid
- Canhwlntp pGnyph wy| SwrwjnipnLtbbEn 4239 1,500.0 1,500.0
3. Unghuwyuwwybu wiwwwhny pGunwlhplbnha 17,905.0 17,905.0
wnlwlulb b hhpunnwlh opbiphl wowlgnipint o
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 1,500.0 1,500.0
- <wwnnty GwwuinwywihG wyp inptn 4269 3,405.0 3,405.0
- Uy pbpwghy npwiw0Gnphbtn 4639 11,010.0 11,010.0
- W Gwwuinbbp pinuobihg 4729 1,990.0 1,990.0
4. Unghuwywwbu wliwwwhny wadwlg 3,800.0 3,800.0
wowlgnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,800.0 1,800.0
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 2,000.0 2,000.0
Juaqiwybpwnipyntbtnhl
5. <wuwnpwluwlwl Yuqdwlybpwnipini GGGphG 8,500.0 8,500.0
wowlgnipint G
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 8,500.0 8,500.0
Juaqiwybpwnipyntbtphl

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwbnipinib (wyy 32,828.9 32,828.9
nwubphl swuwnluwbnn)
nphg’

309110 | 9 | 1 |Unghwjwywl wwwwwbntpntl (wy nwubph 24,768.9 24,768.9
swwuinywlnn)
wyn pynid’
1. Unghuwywlw oqlnipjuwl dwrwynipintGGGph 24,768.9 24,768.9
qnpontGGnpjwl Yuqdwybpwnmd
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 23,587.3 23,587.3
hwyblwydwnbbp
- EGGpgbuinhy swrwynipnLbGen 4212 397.6 397.6
- Ywwh SwrwjnipnLbGbn 4214 403.4 403.4
- Qpwubtwyuwh Gnipbp LW hwgniuwn 4261 380.6 380.6

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 8,060.0 8,060.0
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwuinywlnn)
wyn pynid’
2. Upnnonipjuwl wwwhnywapnipint 8,060.0 8,060.0
- Uywhnjwgnwywb dwfuutin 4215 8,060.0 8,060.0
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